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Basic

ICAI SM

——

What implication(s) does resource

ICAI SM 4 | scarcity have for the satisfaction of
- wants? _—
Economists rega ; :
1 |as important E“I:u::cislon makind a) Not all wants can be satisfied.
b) we will never be faced with the
r : . nheed to make choices. .
ol I:fi;ﬁizzrcevjaﬁiuweddw satisfy our ||| ) we must develop ways to decrease
il ae seare and needs are our individual wants.
b) It is 'crucial & o d d) The discovery @ of hew natural
el e et aciloucr;tfméﬁ? hos":m‘r"éi resources is necessary to increase
! ; ur ability to "satisfy wants.
resources to satisfy society’s N Y Y
unlimited wants and needs. o U
¢) Resources have alternative uses. e . ICAI SM
d) All the above. . | Which of the following is a
normative statement?
ICAI SM .
a) Planned economies allocate
2 Business Economics is - resources via government
departments.
: b) Most transitional economies have
a) &?iﬁ;@iﬁnz:ﬁ applies the tools of experienced problems of falling
e —y output and rising prices over the
b) Involves practical application of past decade
ifl:gl':i?'lmlc theory in business decision ¢) There is a greater degree of
c) lIncor g}ates tools from multiple consumer sovereignty in market
Aisel p“nes s ‘P economies than planned economies.
d) (b) agd (C)' bay d) Reducing inequality should be a
e Al major priority for mixed economies.
. BN
' _ICAL SM
'.';‘-h —
3 In Economics, we use the term .
scarcity to mean - g . | {n every econong
V| imposes limitations
ot
a) Absolute scarcity = and lack of
resources in less developed a) households, )
countries. governments, and f
b) Relative scarcity i.e. searcity in whole.
relation to the wants of the society. b) households and b
c) Scarcity during times of business not the governm
failure and natural calamities. ¢) local and stat
d) Scarcity  caused on nt of nhot the federal
excessive consumptiol rich. d) households a
| not business firn
. I-LA




i ‘ .. —_—— Ram: My corn | o
v :c;:g;?z:omlcs is algo called poor, Y corn harvest thjs year i

- : Krishan: = Don't  worr
b) aggregate fall in quantity suppli e 2 tha
c) experimental 11 Vinod: Climate affe ** "o
d) none of the above. Some years are Wihers o0
'L good.  Madhu: The Governmer. |
| ICAl SM ought to quﬂ{%e that nt |
= ‘ T "c income W“l ﬁ_bt iuﬁ“. . ‘
g | An example of positive’ econom conversation,  the  mormg *
analysis would be: | statement is made by - ﬂtive']

a) an analysis of the relationship a) Ram
between the price of food and the b) Krishan
quantity purchased. ¢) Vinod |

b) determining how much income each &) Madhu
person should be guaranteed. | |

c) determining the ‘fair’ price for food. P P _;

d) deciding how to distribute the i o
output of the economy. Consider the following and decide |

12 | which, if any, economy is without
| scarcity: J.

r.[.
L i

A study of how increases in the a) The pre-independent lndiah I
corporate income tax rate will economy, where most people were ||

ICAI SM

= affect the national unemployment farmers.
] rate is an example of - b) A  mythical economy  where
1 everybody is a billionaire. ‘
). Deceriptive Economics c) Any  economy where income is
B MG ero-ceonomics ' ' distributed equally among its people.
) d) None of the above.

d) Normative economics.

" ICAl SM

A g ™

Which of the following does not Which of the following
' 13 | subject matter o

10 | suggest a macro approach for :
lm?gz? ‘nJ - economies?

- | y

a) The price of mangoes.
b) The cost of producing a
for the fire department
India.

1) Determining the GNP of India.
) Finding the causes of failure of ABC
Y &

Led. 4

) lden?tingthe causes of inflation in : ]
Indid. ‘ c¢) The quantity of man
) Analysed the causes of failure of for the mangoes mark

d) The national econon

industry in providing large scale
of growth.

employment
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ICAI SM

ICAI SM

The branch of economic theo

‘ that
deals _with  the proble:ny of
allocation of resources js-

14

a) Micro-Economic theory.
b) Macro-economic theory.
c) Econometrics.

d) None of the above.

ICAI SM

thch of the following is not the
15 | subject matter of  Business
Economics?

a) Should our firm be in this business?

b) How much should be produced and
at price should be kept?

c) How will the product be placed in
the market?

d) How should we decrease

unemployment in the economy?

18 The ﬂffnrancn between positive and |
normative Economics is:
a) Positive Economics e‘xafl&‘t'ns the |

b)

c)

d)

performance of the ecghomy while
normative Economics finds out the
reasons for poor perfermance.
Positive Economics describes the
facts of the | economy while
normative Economics tnvolves
evaluating whether some of these
are good or badufor the welfare of
the people.

Normative Economics describes the
facts of the economy while positive
Economics involves evaluating
whether some of these are good or
bad for the welfare of the people.
Positive Economics prescribes while
normative Economics describes.

ICAI SM

ICAl SM

16 Which of the following is a
normative economic statement?

a) Unemployment rate decreases with
industrialization

b) Economics is a social sciencerthat
studies human behaviour.

c) The minimum wage should be raised
toRs.200/- per day

d) India spends a huge amount of
money on national defence.

| Which of the following is not

within the
Economics?

scope of Business

a)
b)

Capital Budgeting
Risk Analysis

c) Business Cycles
d) Accounting Standards

£ - ICAI SM

" e

Which of thﬁ! fohg,yvmg would be

17 | considered topic of study in

Macroeconomics?

20

Which of the following
is incorrect?

a) The effect of Increase in wages on
the profitability of cotton industry
b) The effect onsteel prices when more
steel is imported

c) The effect of an increasing inflation
rate on living standards of people in
India ™

d) The effect of an increase in the price
of coffee on the quantity of tea
consumed

a)
b)
c)
d)

Business economics s norma
nature.
Business Economics has a
conhnection with statistic
Business Economist nee
about macro variables.
Business Economics is
Managerial Economics.
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MCQ Shastra ~ Volum,

ICAlI SM

Economic goods are considered

a1 scarce resources because they.

a) cannot be increased in quan'tity'.
b) do not exist in adequate quantity to

satisfy the requirements of the
society. _
¢) are of primary importance (N

satisfying social requirements.
d) are limited to man made goods.

Which of the following statey
25 | does not apply tog a m':ef
economy?

ICAlI SM

In a free market economy the
22 | allocation of resources is
determined by

a) Firms decide whom to hire an
to produce. L
b) Firms aim at maximizing profits. I
¢) Households decide swhieh firms to ‘;‘
work for and what te'buy with their |
incomes. :
d) Government policies are the priman,
forces that guide the decisions ;yf \
firms and households. ‘

d Wha

a) voting done by consumers. '
b) a central planning authority.
¢) consumer preferences.

d) the level of profits of firms.

ICAl SM

A capitalist economy uses_

23 as the
principal means of allocating
resources. e

\, ICAI sm ’q "
26 | In a mixed economy - B
1

a) all eeconomic decisions are taken by :
the eentral authority. |

b) allreegnomic decisions are taken by‘
private entrepreneurs.

c).reconomic decisions are partly taken
by the state and partly by the
private entrepreneurs.

d) none of the above.

a) demand

2P The central problem in " nics
that of & gall

b) supply
¢) efficiency
d) prices
' ICAI SM
Which of llowing s

disadvantage of
ces using the

considered as a
allocating _ resc
market system?

24

a) Income "williytend to be unevenly
distributed.

b) People de not get goods of their
choicg. ¥

¢) Men of Initiative and enterprise are
not rewarded. - ' '

d) Profits will tend to be low.

a) comparing the success of command [
versus market economies. & 4N

b) guaranteering that 0 {l
occurs in the most ef |

c) guaranteering a
ihcome for every cit

d) allocating scarce |
manner that
needs or

e) wants are
possible manne

cA Mohnish Vora (MVSIR)
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ICAI SM | ICA) &4
Capital intensive technique would | | 32 | M9cT0 Economics is the study of |
get chosen in a , ; r
labour surplus economy where the ||| ) 4! aspects of scarcicy. |
rela_tive price of capital is lower. b) the national e,ccznc'm'/ agd, the'global |
capital surplus economy where the economy as a whole. |
A 2 . X Y big businesses }
relative price of capital is lower. LA OISt st NN |
developed economy where d) the decisions of individugal |
technology is better. businesses and peopie. .
d) developing economy where :

technology is poor. amie ;|

33 Freedom of choice is the advantoge
ICAlI SM of -

Which of the following is not one of a) Socialism !
29 | the four central gues_tions that the b) Capitalism
study of economics is supposed to c) Communism '

answer? d) None of the above
a) Who produces what? &
b) When are goods produced? ICAI SM |
¢) Who consumes what? E i . P
) xploitation and inequality are
d) How are goods produced? 34 mi‘:nima! under:

ICAl SM a) Socialism
b) Capitalism

Larger production of _ _goods ¢) Mixed economy
30 | would lead to higher production in d) None of the above
future.
a) consumer goods ICAI SM
b) capital goods 35 | Administered prices refer to:
¢) agricultural goods
d) public goods a) Prices determined by forces of

demand and supply
b) Prices determined by sellers in the
ICAlI SM market
c) Prices determined by an external
authority which is usually the
government
None of the above

The economic system in which all
the means of production are owned d)
and controlled by private
individuals for profit.

31

36

a) Output is restricted to the
availability of resources
Consumer do not have
money as they would w
There will always be ¢
unemployment
d) Resources are not al
(h an optimum way
Making pdfs, photocopies, xerox, sharing or selling MVSIR's books is not a

to strict legal action with monetary penalties

a) Socialism
b) Capitalism b)
¢) Mixed economy
d) Communism e)

" CA Mohnish Vora (MVSIR)
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N -~
" "~ IcAl SM m
| 35 || Scarcity definition of Economics is 42 | The managerial economics
| given by- a) s Applied Economics that m
gap between economic theory g
ﬁ; ?Lf:fjef;ffha“ business practice d
¢) Robinson o b) Is just a theory concept
d) Adam Smith c) Trains managers how. to behave {,
recession
I ICAlI SM d) Provides the tools: which explqjy
- various concepts
| The definition “Science which deals —l
- 38 | with wealth of Nation” was given ICAl S\M
i 4 Which of the following statements
a) Alfred Marshall 48[ e corre D
b) A C Pigou ‘ . e —
c) Adam Smith a) Micro economics is important for
d) J B Say study of a particular household and
a particular firm
ICAl SM b) Macro economics is important for
S ‘ study. of economic conditions of g
39 Which of the follou!inq is not one of éountry!
| the features of capitalist economy? c)#None of the above
a) Right of private property ! d) Bothaandb
b) Freedom of choice by the consumers
c) No profit, No Loss motive = N | ICAl SM
d) Competition Mr. Satish hired a business
consultant to guide him for growth

44 visited his factory and suggested
some changes with respect to staff
appointment, loan availability and
I so on. Which approach is that
consultant using?

ICAI SM ,‘ of his business. The consultant

R0 because -

There is need of econom«c study, I

a) The resources are limited
b) The wants are unlimited

c) The resources are unhrmted , o 3
B Eothia.andib a) Micro economics
b) Macro economics
c) None of the above
M’ ICAI SM (] d) Both a and b }/

R ' *@
" 41 | studyis - & \
41“ dy' ICAl SM

45 Profit motive is a merit of

a) It ensure« }ﬁat all problems will be

appro; (ai:ely tackled

b) It heg!n Tdentlfymg problems

c) It enable'to examine a problem in its a) Socialism
right perspective b) Capitalism

d) It gives exact solutions to every ||| ¢) mixed economy
problem i d) None of the above

Making pdfs, photocopies, xerox, sharing or seling MVSIR's books is not allowed. It will lead
to strict legal action with monetary penalties

CA Mohnish Vora (MVSIR)




ICAl SM

Unlimited ends and limited means

48 | together present the problem of

a) Scarcity of resources
b) Choice

¢) Distribution

d) None of the above

et
f ICAI SM

46 is also called as command

economy

a) Socialist

b) Capitalist

c) Mixed economy

d) None of the above

ICAl SM
Which of the following statements

47 | is/are correct regarding business

economics?

a) Business economics attempts to
indicate how business policies are
firmly rooted th ecohomic
principles.

b) Business ecohomics uses micro
economic analysis of the business
unit and macro economic analysis
of business environment.

c) Business economics takes a
pragmatic approach towards
facilitating an integration between
economic theory and business
practices.

d) All the above.

Answer Key —Chapter 1 (unit - 2)

CA Mohnish Vora (MVSIR) ,:

—

x (d) 2 (d) 3 (b) 4. (a) 5 (d) 6. (a)
7 (b) 8. (a) 9 (a) 10. (b) 1% (d) 12 (d)
13. | (d) 14 D) 1508 () [R1638l (c) [ET7SE (c) 18. | (b)
19. (d) 20. (© 21. (b) 22. (e) 233 (d) 24. (a)
25. | (d | 26. | (© | 272. | ( | 28 | (® | 29. | (b) | 30. | (B
31. (b) 32. (b) 33% (b) 34. (a) 358 (3] 36. (a)
37 © 38. (c) 39; (e 40. (d) 41. (c) 42. (a)
43, (d) 4. | (a) | 45. (b) | 46. (@) 47. | (@ 48. (b)
: ole elglelfele{e]@lls ero a eNe q R'S DOO Ot allowed sleofe
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F A.Q., MTP Apr 23 MTP Dec 22, A.Q.
“If Americans today, for example

In the beginning the name of were to coptent to live at the level

1 | economics was of the Indian middle class people,
S all their wants would be fully

satisfied with their. available
resources and  capacity to
produce.” & »
On the Dbasis . of the above
statement, which of the following
conclusion can be made?

a) Economics of wealth
b) Political economy

¢) Welfare economics
d) None of these

a) The possession of goods and services
by USA has enhormously increased to
exceed their wants.

b) The affluent.ahd developed countries
of USA and Western Europe face the
problem of scarcity even today as
their present wants remain a head
of i their increased resources and
capacity to produce.

¢) The affluent and developed countries

are not facing the problem of

scarcity.

None of these

MTP Mar 18

Economics is a Science which deals
with wealth’ was referred by

a) Alfred Marshal
b) J.B. Say

¢c) Adam Smith d)
d) A.C. Pigou.

MTP Dec 22, A.Q.

A= Economics is a branch of
5 focused oh the production,
Which of the following is/are distribution and consumption of
3 [ limitation(s) of the < wealth goods and services.
definitions of economics givenh by

classical economists?

a) Natural science
b) Physical science
c) Social science
d) None of these

a) By considering. the problem of
production distribution & exchange
of wealth, they focused attention
oh  important issues with which
economics is conhcerned.

b) By restricting the definition of

MTP Nov 22, MTP Aug 18, MTP Oct 20

— expressed the view the

wealth to material wealth & the 6 “Economics is neutral. between
heglect of immaterial services, they end”.
narrowed downh the scope of
economics.
c) Both (A) and (B) a) Robbins
d) Nohe of these b) Marshall
c) Pigou

d) Adam Smith

Making pdfs, photocopies, xerox, sharing or selling MVSIR's books is not allowed. |t will iead
to strict legal action with monetary penalties
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m

5 When we study why sam
Most of the economic problems are b RIS R O B e aoe Studyingq. ]

7 | of nature and are affected
a) Macro Economics W |

a CA Foundation - June 2024
=

MTP Jun 22

by
a) Complex, Several forces b; ?g;;%:qii:ioc‘;mcs
b) Simple, Several forces ;) S ()
c) Simple, single factor ‘ > ___ 4
d) Complex, Single factor Fro Jum

MTP Nov 22 Which of the following is nor>
Which of the following statements 12 3ubject matter of micro €Conomjes
is true? :
- - —\
a) The study of economics ensures that a) Behaviour of firms

' ropriatel b) Location of industry
:;lc'ggzblems A . c) Consumer behaviour

b) The study of economics cannot d) Foreign exchange rate
ensure that all problems will be
appropriately tackled.

MTP Nm

¢) The study of economics does not ‘ is concerned with welfare

enable a student to examine a 13 _Proposition

problem in its right perspective. —
d) None of these a) Nermative Economics

b) Positive Economics
PYQ Jun 23 ¢c) Both (A) and (B)
R 5 : ) None of these

9 Economic is classified into &) None of,
a) Normative and positive A.Q.
b) Micro and macro ; ; 7 S
¢) Internal and external 14 Business economics is th its
d) None of the above Approach

a) ldealistic

A.Q. b) Pragmatic

c) Both (A) and (B)
d) None of these

10

Which of the fo(lowihg statements

IS correct? AQ

“Generally a business manager is
concerned with problems of his

a) Employment and economic growth own business units. He does not

dre studied in micro-economics. 15 | study the economic problems of an
b) gf)\czii;zdzconomlcs deals with balance economy as a ':vhoie. »State
¢) Economic condition of a section of ;/:hether R sttt

the people is studied in micro-

economics
d) External value of money is dealt a) True

with in micro-economics b) False

c) Partly True
d) Partly False

Making pdfs, photocopies, xerox, sharing or selling MVSIR's books is not allowed. It will lead
to strict legal action'with monetary penalties
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MCQ Shastra ~ Volume |

MTP Aug 18, MTP May 20

A.G.

Which of the following statements

16 | would you consider to be a
normative one?
a) Faster economic growth should

result if an economy has a higher
level of investment.

b) Changing the level of interest rates
s a better way of managing the
economy than using taxation and
government expenditure.

¢) Higher levels of unemployment will
lead to higher levels of inflation.

d) The average level of growth in the
economy was faster in the 1990s
than the 1980s

"A wise individual er a society likes
to provide for its groweh of
productive capacity.” This requives
that a part of its resources should
be devoted to the production of __

20

a) Consumer goods ]
b) cCapital goods !
c) Defense goods
d) None of these

MTP Deg 22

The problem of “what to produce

21 relate to

MTP Mar 22, Dec 22

Taxation involves which aspects of

a7 normative economics:

a) Incidence

b) Fairness

c¢) lIncentive to work
d) All of the above

a) The choice of goods and service
b) Distribution of income

c) The choice of techniqgue

d) None of these

MTP Nov 22, MTP Apr 19, Oct 20,

Which of the following is not one of

= the features of capitalist economy?

a) Right of private property

b) Freedom of choice by the consumers
c) No profit, No Loss motive

d) Competition

MTP Nov 22.
18 | Business ecohomics is
a) science
b) An art
c) Both science and art
d) None of these
PYQ Jun 23

Which of the following refers to the
sum total of arrangements for the
product and distribution of goods
and services in society?

19

MTP Jun 22, MTP Now 22

The regulatory mechanism of the

2 market system is-

a) Economic system

b) Business system

c) Capitalist economic system
d) Socialist economic system

a) Self interest

b) Private property
c) Competition

d) Specialization

Making pdfs, photocopies, xerox, sharing or selling MVSIR’s books is not gllowed! If will lead
to strict legal action with monetary penalties
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%

A.Q. ’

l Pra,,

If there is no central planning
authority to make the fundamental
economic decisions and thus to

, 2!.’ l In a socialist ecm

allocation of resources s done l:
a) Market Price

d) None of these

MTP Dec 22 ,

26

The Characteristic of  capitalist
€conomics does not include?

a) Right to Private property

b) Freedom of economic choice
c) Absence of Consumer choice
d) Competition

Which of the following economic
system is self regulating and run by
invisible hands ? .

a) Mixed economic system
b) Socialistic economic system
¢) Capitalist economic system
d) Planned economic system

24 | allocate productive resources, how b) Consumer preferences
can then free enterprise =l &) A central planning authority,
capitalist ecohomy solve its d) The level of corporate profits
central problems? s\

a) Through the power of God l MTP Dec 22,5

1 isi h b = T :
b) Sﬂgugifia?‘;gu;; el el 4 A s:ccal_«st econ:my IS a systey,
' uction _ where oo
c) The free market economy uses the 29 z:n?vices i goods a
impersonal forces of the market to —_
solve its centrql problems a) to generate profit
d) None of these ' b) directly. for use
c) Both (A) and (B)
A.Q. d) None of these
The industrialization and economic T i
development of the USA, gGreat L Aq

25 | Britain and other Western |
European  countries haye taken o | Which of the following s hot 4
place under the condition of _2 3‘_ merit of socialist economy?

a) Socialism and planned structure e

b) capitalism and laissez fajre

c) Mixed economic structure a) It provides equal access to heglth

care and education

b) Workers are ho longer
because they own the
production

c) Profits are hot spread equitably
among all workers according to
their individual contributions.

d) Natural resources agre preserved for
the good of the whole

exploiteq |
meahns ofJ

MTP Mar 19

Which €cohomy is now a myth
only, as no country in the world is
having that type of economy?

I

a) Capitalist Economy
b) Socialist Economy
c) Mixed Economy

d) Nonhe of the above

Making pdfs, photocopies,

CA Mohnish Vora (MVSIR)

xerox, sharing or seling MVSIR's Pooks is not allowed. It will lead
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{‘ AQ, ( 35 Capitalist system offers incentives |

Which of the following statements for

| 82 Is/are  correct  about mixed a) Efficient business decisions
economic system? b) Efficient government decisions

a) Mixed economic system depends on c) Egﬁg;%nnt non-governimental | |
both markets and governments for Sl ; € ]
alloeation of rcsourcgas el B EMCIEnE Econariic P Sea

b) Mixed economy s not always a "‘Q " |
golden path between capitalism and _ WMTP May 23 ||
soclalism, The “Communist Mani was

proper balance between private and

public sectors, a) 1848
d) All of the above b) 1905
c) 1952
Extra McCaQs d) None of these.
33 | Which of the following statements PYQ Jun 23
Is correct? .
Encourage enterprise and risk
a) In a two-good economy, the 37 | taking is considered as a merit of
production possibilities frontier | which of the following economy?
reflects the maximum amount of
ohe good that can be produced a)Soclal economy
when a given amount of the other b), Political Economy
good (s produced. c) Mixed Economy
b) Microeconomics is the study of the d) Managerial economy
behavior of the economy as a whole.
c) Positive economics focuses on PYQ Jun 22

welfare of the people of a society

NG 6 0F the above involves the predominance of

38 | bureaucracy and resulting
inefficiencies and delays

Extra MCQs

= a) Socialistic economy
Which of the following statement b) Capitalist economy
is correct? o O c) Mixed economy

i d) Free market economy

34

a) Mixed economy s hot always a
‘golden path’ between capitalistic
and socialistic economy

b) Socialistic economy is not always a
‘golden path’ between mixed
economy and capitalism

c) Capitalistic economy is not always a
‘golden | path’ between  mixed
econamy and socialism

d) Local economy is not always a
‘golden path’ between internal and
international economy

e) It s very difficult to waintain a 28 published in: !‘,‘k . 5

Making pdfs, photocopies, xerox, sharing or seling MVSIR's books is not allowed. It will k
to strict legal action with monetary penalties
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ICAI SM

: : ly
4 Wthh' of the fo(lom
goods is an example of sy}, {

1 Demand for a commodity refers to:

a) desire backed by ability to pay for
the commodity.

b) need for the commodity and
willinghess to pay for it

c) the quantity demanded of that

i Stitutesj
a) Tea and sugar. '
b) Tea and coffee.
¢c) Pen and ink.

d) Shirt and trousers.
§

In the case of a straight lin
demand curve meeting the

5 | axes, the ' price-elasticity
demand at the mid-point of 4
line would be:

commodity at a certain price. T et
d) the quantity of the commodity a) o
demanded at a certain price during =3 Al
any particular period of time. ) Sl
d 2
ICAI SM ' ICAI s)
2 gg?tract(on of demand is the result The Law of Demand, assuming
é other things to remain constant
a) decrease in the number  of establishes the relationshit
consumers. between:
b) increase in the price of the good
concerned. :
¢) lincrease in the prices of other goods. ) income of the consumer and the
d) decrease in the thcome of duantity of a good demanded by
purchasers. h‘f”- :
b) price of a good and the quantity
demanded.
ICAI SM c) price of a good and the demand for

All but one of the following are
assumed to remain the sdme while
3 drawing an individual’s

demand curve for a commodity.
Which one is it’?;

its substitute.

d) quantity demanded of a good and

the relative prices of its
complementary goods.

ICAl SM

a) The preference of the individual.
b) His monetary income.

c) Price of the commodity

d) Price of related goods.

: ldentify the factor which generally
7 | keeps the price-elasticity of
demand for a good low:

a) Variety of uses for that good.

b) Very low price of a commodity

c) Close substitutes for that good.

d) High proportion of the consumer’s

ihcome spent on it.
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ICAl SM

ldentify the coefficient of price-
elasticity of demand when the
percentage  increase in  the
quantity of a good demanded is

smaller than the percentage fall in
its price:

Suppose the price of Pepsi
12 | increases, we will expect the
demand curve of Coca Cola to:

a) Equal to one.
b) Greater than one.
c) Less than one.

a) Shift towards left since these are
substitutes

b) Shift towards right since these are
substitutes

c) Remain at the same level

d) None of the above

ICAlI SM

d) Zero.
ICAI SM
9 |n the case of an inferior good, the
income elasticity of demand is:

13 All of  the following are
determinants of demand except:

a) positive.
b) Zero.

c) Negative.
d) infinite.

a) Tastes and"preferences.
b) Quantity supplied.

¢) Incomeof the consumer
d) Price of related goods.

ICAl SM

ICAl SM

If the demand for a good is
10 inelastic, an increase in its price

will cause the total expenditure of
the consumers of the good to:

A movement along the demand
14 | curve for soft drinks is best
described as:

a) Remain the same.
b) Increase.

¢) Decrease.

d) Any of these.

a) An increase in demand.

b) A decrease in demand.

¢) A change in quantity demanded.
d) A change in demand.

ICAI SM

ICAl SM

If regardless o?changes in its price,
11 | the quantity demanded of a good

remains unchanged, then the
demand curve for the good will be:

If the price of Pepsi decreases
15 | relative to the price of Coke and 7-
UP, the demand for:

a) Coke will decrease.
b) 7-Up will decrease.
c) Coke and 7-UP will increase.
d) Coke and 7-Up will decrease.

a) horizontal.

b) Vertical.

c) positively sloped.
d) negatively sloped.

b

ICAl SM

16 If a good is a luxury, its income
elasticity of demand is:

a) Positive and less than 1.

b) Negative but greater than -1.
¢) Positive and greater than 1.
d) Zero.
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ICAl SM

The price of hot dogs increases by
22% and the quantity of hot dogs
17 | demanded falls by 25%. This

indicates that demand for hot dogs
is:

2
Which of the fm

21 P

incorrect statement?

a) Elastic.

b) Inelastic.

¢) Unitarily elastic.
d) Perfectly elastic.

ICAl SM

If the quantity demanded of
Mutton increases by 5% when the
18 | Price of chicken increases by 20%,

the  cross-price elasticity  of

demand between mutton and
chicken is

a) -0.25

b) 0.25

c) -4

d) 4

a) When goods are substmq\
the price of one (ceteric pqﬁ
leads to a fall in (the qu;'
demanded of its substituteg =

b) When commaodities
complements, a fall in the bric,
one (other things being CCIuaU'
cause the demand of the Othe
rise

c) As the income of the Consy
increases, the demand for
commodity increases always
vice versa.

d) When 'a commodity  becg
fashionable people prefer to buy
and therefore its demand increas

—

' ICAI

ICAlI SM

Given the following four
19 | Possibilities, which one results in

an increase in total conhsumer
expenditure?

a) Demand is Uhitary elastic and price
falls.

b) Demand is elastic and price rises.

¢) Demand is inelastic and price falls.

d) Demand is inelastic and prices rises.

Suppose the price of movies seen
a theatre rises fromRs.120 |
person toRs.200 per person. 1
theatre manager observes that {
22 | rise in price causes attendance a
diven movie to fall from :
persons to 200 persons. What is t
price elasticity of demand {
movies? (lflse Arc Elasticity Methc

a) .5
b)) &
@) Gl()
k1o

Which of the following statements
20 | about price elasticity of supply is
correct? N

ICAI s,

a) Price elasticity of supply is a
measure of how, much the quantity
supplied of a good responds to a
change in theprice of that good

b) Price elasticity of supply s
computed ds the percentage change
ih quantity supplied divided by the
percentage change in price

|| €) Price elasticity of supply ini the long

run would be different from that of
the short run
{] d) All the above

Suppose a department store has
sale on its silverware. If the pric
of a plate-setting is reduce
fromRs.300 toRs.200 and th
23 quantity demanded increases fror
3,000 plate-settings to 5,000 plate
settings, what is the pric
elasticity of demand for silverware
(Use Arc Elasticity Method)

a) .8

b) 1.0
c) 1.25
d) 1.50
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ICAI SM

ICAI SM

When the numerical value of cross
elasticity between two goods is
very high, it means

24

rr/_f

a) The goods are perfect complements
and therefore have to be used
together

b) The goods are perfect substitutes
and can be used with ease in place
of one another

c) There is a high degree of
substitutability between the two
goods

d) The goods are neutral and therefore
cannot be considered as substitutes

Suppose thc_z demand for meals at a
medium-priced restaurant is

27 | elastic. If the management of the
restaurant is considering ising
prices, it can expect a rela ly:

a) Large fall in quantitys demanded.
b) Large fall in demand. W,

c) Small fall in quantitysdemanded.
d) Small fall in demand. £

%mrﬁ‘* ICAI SM

b Y
Point e!as;f“c;gty is useful for which

28 | of the following situations?

ICAlI SM

If the local pizzeria raises the price
of a medium pizza fromRs.60
toRs.100 and quantity demanded
25 | falls from 700 pizzas a night to 100
pizzas a night, the price elasticity
of demand for pizzas is :(Use Arc
Elasticity Method)

a) .67
b) 1.5
c) 2.0
d) 3.0

a) The bookstore is considering
doubling the price of notebooks.

b) A restaurant is considering lowering
the price of its most expensive
dishes by 50 percent.

c) Ah auto producer is interested in
determining the response of
consumers to the price of cars
being lowered byRs.100.

d) None of the above.

ICAI SM

", ICAI SM

& »

A decrease in price will result in an

4 increase in total revenue if:

If electricity demand 'is inelastic,
26 | and electricity @:bqrges increase,
which of the following is likely to
occur?

a) Quantity. demanded will fall by a
relatively large amount.

b) Quantity ‘demanded will fall by a
relatively’small amount.

¢) Quantity demanded will rise in the
short run, but fall in the long run.

d) Quantity demanded will fall in the

short run, but rise in the long run.

a) The percentage change in quantity
demanded in less than the
percentage change in price.

b) The percentage change in quantity
demanded is greater than the
percentage change in price.

¢) Demand is inelastic.

d) The consumer is operating along a
linear demand curve at a point at
which the price is very low and the
quantity demanded is very high.
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F/ ‘ ICAl SM

¢) Demand is elastic.
d) The consumer is Operating along a
linear demand Curve at a point at

‘ which the price is very high and the
f‘ quantity demanded is very low.

C~

An increase in price will result in 'su':-';:lsszs e :

0 o increase in total revenue if: ::2;5.36,000. e "es:Tt'
a) The percentage change in quantity 8 consumer increases her Pu !
demanded is less than the 3 of compact discs (CDs) o gh%
percentage change in price. to 30 CDs. What is the cOhsqu
b) The percentage change in quantity income elasticity of deynqhg‘#
demanded is greater than the CDs? (Use Arc Elasticity Metho“
Percentage change in price. 9

a)‘ 0.5 \ I

! ICAI SM

Demand for q good will tend to be
31 | more elastic if it exhibits which of
the following characteristics?

b) 1.0
@) kL
d) 2.0
ICAg,
34 | Total utility is maximum when:

a) It represents a small part of the
consumer’s income.

b) The good has  many substitutes
available.

c) It is q hecessity (as Opposed to q
luxury).

; d) There is little time for the consumer
to adjust to the price change.

a) Marginal utility is zero. |

b) Marginal utility is at jts higheg
point.

c) Marginal utility is negative

d) «None of the above

—

—

ICAI sy

i

—

Which one is hot an assumption of
the theory of demand based o
analysis of indifference curves?

' 1cALsm

Demand for a good will eend to be

of the following characteristics?

/ 32 | more inelastic if it exhibits which .

a) The good has many substitutes.

J b) The good is a luxury (as opposed to a
hecessity).

¢) The good is'a small part of the
coOnsumer’s income.

| d) There is g great deal of time for the
consumer to adjust to the change in
prices.

a) Given ,scale of preferences g

between different combinations of
two goods.

b) Diminishing marginal  rate  of
substitution.

¢) Diminishing marginal  utility of
Mmoney ° '

d) Consumers would always prefer

more of a particular good to less of

t, other things remaining the same.

ICAlI SM

36

Ah indifference curve slopes down
towards right since more of one
€ommodity and less of another
result in:
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ICAl SM

Suppose that workers in a steel
plant manaded to force a
significant increase in their wage
37 | package. How would the new wage
contract be likely to affect the
market supply of steel, other
things remaining the same?

What will happen in the rice
market if buyers are expectin

0% I . TR Are 9
higher rice prices in the near

future? oy .

a) supply curve will shift to the left.

b) Supply curve will shift to the right.

c) Supply will not shift, but the
quantity of cars produced per month
will decrease.

d) Supply will not shift, but the
quantity of cars produced per month
will increase.

ICAl SM

a) The demand for rices will increase
and the demand curve will shift to
the right

b) The demand for rice’ will decrease
and the demand curve will shift to
the left

c) The demand  for rice will be
uhaffected as it is a necessity

d) The demand for wheat will increase
and the demand curve will shift to
the right

Which of the following statements

38 is incorrect?

ICAI SM

a) An indifference curve must be
downward-sloping to the right.

b) Convexity of a curve implies that
the slope of the curve diminishes as
onhe moves from left to right.

c) The income elasticity for inferior
goods to a consumer is positive

d) The total effect of a change in the
price of a good on its _quantity
demanded is called the priceseffect.

In the case of a Giffen good, the

4% demand curve will usually be:

a) horizontal.

b) downward-sloping to the right.
c) vertical.

d) upward-sloping to the right

ICAl SM

ICAl SM

By consumer surplus, economists

&2 mean

The successive units of stamps
collected by a little boy give him
dgreater and greater satisfaction.
This is a clear case of

39

a) Operation of the law of demand.
b) Consumer surplus enjoyed in hobbies
and rare collections
¢) Exception to the law of diminishing
utility.
None of the above

a) The area inside the budget line
above the price of the commodity

b) The area between the average
revenue and marginal revenue
curves.

c) The difference between the

maximum amount that a person is
willing to pay for a good and its
market price.

d) The difference between the market
price and the supply curve
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ICAI SM
| Which of the following is a For a normal ooq
s Property of an indifference curve? o downward sloping demqnd:

a) It is convex to the origin due to
diminishing marginal  rate of
substitution

b) The marginal rate of substitution (s
constant as yoy

indifference Curve,
¢) Marginal utility is Constant as you
indifference Curve,

a) The price elasticity of em
hegative; the income elast;,
demand is hegative,

b) The price elasticity of

. dem
move along an positive; the

income elastic
demand is hegative.

¢) The oprice elasticity of dem,

positive; the income
greatest where the demand is positive.
budget line cuts the indifference d) The price eiasticity of dem,
Curve,

income elastig

A hegative; the
| L demand is pOsitive.
| _j

elastie
d) Total utility s

ICAI SM .
! . Ic

When €Conomists speak of the - i
44 | utility of a cereqin good, they are ||| 4% a"c;':;:zaze o7 the supply of a
referring to y: LES
\J\\\ a) Improvements in its produ

technology
a) The demand for the good.

b) Fall in the
b) The Usefulness

CoOnsumeption. _ same inputs.
c) The €xpected sqtis i ¢) Fall in the prices of factors
from CONsuming the good.

Production used in jts pProduction
d) all of the above.

‘ ICAl
\J Elastici

prices of other g
of the good in

be pProduced using

— ty of supply refers to
" W 48 | degree of responsiveness of sup
._'k’l‘ ~Icalsm .| °ofagood to changes in its:
N/ a) Demand.

A vertical supply curve paraller toy b) Price. '
45 | axis implies that the elasticity of ||| ©) Cost of production.

supply is: d) State of technology.
\

\
f ) ICAl s
. A horizontal supply curve parall
’ a) Zero » 4% | to the quantity axis implies th
b) Infinity & __| the elasticity of supply is:
€) Equal to one : Zero,
Greater than 2€ro but less than gg in?i::ite.
infinity.

¢) Equal to one.
d) Greater than zero byt less than one.
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ICAI SM

Contraction of supply is the result
50 | of:

When income increases the money

- 54 | Spenton hecessaries of life may not
a) Decrease in the number of Increase in the same proportion.
producers. This means :

b) Decrease in the price of the good a) income elasticity of demandiis zero
concerneq. _ b) income elasticity of demand i< one
¢) Increase in the prices of other goodes. ¢) income elasticity .. of's.demand is

d) Decrease in the outlay of sellers. greater than one
oo d) income elasticity of demand is less
ICAI SM than one
Conspicuous goods ar
3 » P -] are also known ICAI SM
- The luxury goods like jewellery and
a) Prestige goods 55 - S
b) Snob goods fancy articles will have
c) Veblen goods a) low incomeselasticity of demand
d) All of the above b) high_income elasticity of demand
c) zero income elasticity of demand
ICAI SM d) none of the above

The quantity purchased remains
52 | constant irrespective of the change
in income. This is known as

ICAI SM

a) negative income  elasticity of
demand

b) income elasticity of demand less
than one

c) zero income elasticity of demand
d) income elasticity of demand is
greater than one

56

A good which cannot be consumed
more than once is khown as

ICAI SM

As income increases, the consumer
will go in for superior goods and
53 | consequently the demand for
inferior goods will fall. This means
inferior goods have

a)
b)
c)
d)

Durable good
Non-durable good
Producer good
None of the above

ICAl SM

57

A relative price is

a) income elasticity of demand less
than one

b) negative income elasticity of
demand

¢) zero income elasticity of demand
d) unitary income elasticity of demand

a)
b)

c)
d)

price expressed in terms of money
what you get paid for babysitting
your cousin

the ratio of one money price to
another

equal to a money price

Mohnish Vora (MVSIR)
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58

4

A point below the budget line of a
consumer

a)

b)

c)

d)

Represents g Combination of goods

which costs the whole of consumer’s
income

Represents a combination of goods
which COsts less than the
COnsumer’s income

Represents a combination of goods
which g Unattainable to the

COnsumer given his/her money
(ncome
Represents 4 Combination of goods

which COsts more than the
COnsumers’ tncome

62

Chicken and fish gre substit
the price of chicken incregse, M
demand for fish will ’ the

a)
b)
c)

Increase or decrease but tm
curve for chicken will not en

Increase and the demand ¢
fish will shift rightwards.
Not change but there will

movement along the demany Cuirye
for fish. ]

/

ange

Urve ¢,

i
Do
Ve g

d) Decrease and the demand curye for
fish will shift leftwards,

—

ICA) M

. ICAl SM

59

Demand is the

a)

b)

c)
d)

the desire for a co
price and
COmmodities

the entire relationship between the
quantity demanded and the price of
a good other things remaining the
same

willingness to pay for a good if
income is larger enough L
ability to pay for a good

Mmodity given jts
those of related

63

: 3 "
Potato chips and popcorn g,
substitutes. A rise in the price o
potato chips will ————_

the demand for popcorn and th,
quantity of popcorn sold will ——o

a)
b)
c)

increase; increase
increase; decrease
decrease; decrease

ICAI SM

60

Suppose potatoes have (-).0.4 as
income elasticity. We can say from
the data given that: |

W\
S

a)
b)
c)
d)

Potatoes are superigf‘ oods.
Potatoes are hecessit

Potatoes are inﬁ% goods.
There is a heed

| to increase the
Mmers so that they

d) decrease; increase
ICAl SM
If the price of orange Juice
64 | increases, the demand for apple
Juice will . ‘
a) increase because they are

substitutes

b) decrease because they are

c)
d)

substitutes

remain the same because real;
income is increased

decrease as real income decreases

i ICAlI sSM ;

people buy tomato puree. You
~that tomato puree  and

65

An ihcrease in the demand for

- computers, other things remaining
same, will:

@
b)

c)
d)

B

Increase the number of computers
bought. . 2
Decrease the price but increase the|
humber of computers bought.

Increase the price of computers. |
Increase the price and number 9

~ computers bought. - |
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ICAI SM ICAl SM
When total demand for aq The i i
) 4 quantity supplied of a
66 commodtt)f v.vhose price has fallen e service is the ar:t';unt that e
increases, it is due to:
a) is actually bought during a given
a) Income effect. time period at a given price
b) Substitution effect b) producers wish they could sell at 4
c) Complementary effect higher price
d) Price effect ¢) producers plan to sell during a given
time period at a given price
r—f ICAl SM d) people are willing to buy during a
With a fall in the price of & glven time period at a given price
67 commodity:

ICAlI SM

a) Consumer’s real income increases 72 | supsly @Fh

b) Consumer’s real income decreases upply is the

c) There is no change in the real
income of the consumer

d) None of the above b)

a) limited resources that are available

with the seller

cost.of producing a good

c) entire relationship between the

ICAl SM quantity supplied and the price of
! ; : ) good.

With an increase in the price of P :

diamond,  the quantity demanded d) willingness to produce a good if the

it b
es 2550 increases. This is because it is zi(;?aobﬁgy €0 Prochce i i
a) Substitute good ICAl SM
b) Complementary good
c)) anst;icuous goyo?j In the book market, the supply of
d) None of the above 73 | books will decrease if any of the
following occurs except
iAEM a) a decrease in the number of book
go | An example of goods that exhibit publishers ‘
direct price-demand relationship is b) a decrease in the price of the book
) Giff y ¢). an increase in the future expected
a) qliren goods price of the book
b)) gol;np!:mentar)é goods d) an increase in the price of paper
¢) Substitute goods used.
d) None of the above
S o ICAI SM
L If price of computers increases by
RiE | its lcet is known as: G elasticity ofisupplzis:
A
a) Contraction of demand Cblg (Z)i
b) Expansion of demand A ()25
¢) No change in demand )0
d) None of the above Y
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ICAl SM

An increase in the nhumber of sellers

75 | of bikes will increase the

a) The price of a bike
b) Demand for bikes

c) The supply of bikes
d) Demand for helmets

ICAl SM
If the supply ‘of bottled water

L

: |
79 | Comforts lie betm

a) inferior goods and ”eCeSSarieS

b) luxuries and inferior goode
c) necessaries and luxuries
d) none of the above

§
Iy

80 | In a very short periom

Pl

A decrease in the demand for
77 | cameras, other things remaining
the same will

I o4 a) can be changed e
decreases, other 1Eh.mg_s rema.mmg b) cah not be changed
76 | the same, the equilibrium price — ¢) can be increased
Rl o . and the d) none of the above
equilibrium quantity ——————— —
S— |
a) increases; decreases 81 Whev? supply curve moves ¢,
b) decreases; increases left, it means
- e |
:g ?,ff:ee;;ee:.' iiii;iiiess a) lesser quantity is supplied at g gi
: price
1[| B) larger quantity is supplied at a gi
ICAI SM price

¢) prices have fallen and quantity

supplied at a lower price

d) none of the above

a) Increase the humber of cameras
bought

ICAI

b) Decrease the price but increase the
humber of cameras bought

g> | When supply curve moves to rig

it means

c) Decrease in quantity of camera

a)‘

demanded supply increases and more quant
d) Decrease the price and decrease in b) = sulpplted at d given price .
the number of cameras bought. z:‘gg“yejzcgia;evsef‘h;ilcegs quantity
® CAlSM c) :l:izzly remains constant at a giv
Which of the following statements |(| d) none of the above
about inferior goods is/are false?
i. Inferior goods are those that g3 | The elasticity of supply is define
we will never buy, no matter : as the
how cheap they are. ! h St
78 | ii. Inferior goods are those that ||| ;ii%?g?voefnjss . o;f:o : ceh ancggain !i |
we buy more of, if we become ehice
Pagriehs i b) responsiveness of the quantit
th. JnfQglor goods aLs those that supplied of a good without change i
we buy more of, if we become its price
_richer. c) responsiveness of the quantit
a) | and Il only. ) demanded of a good to a change i
b) | only (ts prlcg .
c) Il only. d) responsiveness of the quantity
d) 1, 1l, and Iil. demanded of a good without changé

in its price
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ICAI SM

Elasticity of supply is meadsured by
dividing the percentage change in
quantity supplied of q good by ——

84

a) Percentage change in income

b) Percentage change in quantity
demanded of goods

c) Percentage change in price

d) Percentage change in taste and
preference

The price of a commodity decreases
fromRs.6 toRs.4 and the quantity
88 | demanded of the good increases
from 10 units to 15 units. Find the
coefficient of price elasticity.

a) 1.5
b) 2.5
c) -1.5
d) 0.5

ICAl SM

ICAl SM

85 | Elasticity of supply is zero means

a) perfectly inelastic supply
b) perfectly elastic supply

c) imperfectly elastic supply
d) nhone of the above

The supply function is diven as Q= -
89 | 100 + 10P. Find the elasticity using
point method, when price isRs.15.

ICAI SM

%6 Elasticity of supply is greater than
one when

a) Proportionate change in quantity

supplied s more  than _ the

proportionate change in price.

b) Proportionate change in price e
greater than the proportionate
change in quantity supplied.

c) change in price and quantity
supplied are equal
d) None of the above
ICAI SMm

e, -y

V_tyf_;'.;sapplied is exactly
g7 | équal to the relative change in
price then the elasticity of supply

is v

If the quantit

a) Less thah one
) Greater than one

rjvﬂ{;'

a) 4
b) -3
c) -5
d) 3
ICAI SM
The figure below shows the budget
constraint of a consumer with an
income ofRs.900/- to spend on two
commodities, nhamely ice cream
and chocolates.
e
20
=
90 _S
=
g
L Ay 3 as <
CTups of Tce creaxn
The prices of these two
commodities respectively are:

a) Rs. 10 and Rs.20

c) One b) Rs. 20 andRs.10
d) None of the above ¢) Rs. 10 andRs.5
d) Any of the above
S e
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¢) Speculative effect
d) None of the above

ICAI SM | N
‘No matter what the price of coffee IFEceprice m
! ; total . of increases  from g . Ndig
is, Arjun always spend a ] '3°'°00
91 | exactly 100 per week : od RS.30,010. and rt.as_ultant th, |
on coffee.’ The statement implies demand is negligible, ,,, a}‘&i
T hat : measure  of 55‘
measure elasticity. <
a) Arjun is very fond of coffee and e = : ,
therefore he has an inelastic demand a) Point elasticity of dem
for coffee a small change St
b) Arjun has elastic demand for coffee b) Arc elasticity of demand Sihce ;.
c) Arjun’s demand for coffee s small chiange s
relatively less elastic ¢) Price elasticity'ubdased on avey
d) Arjun’s demand for coffee is unit prices method |
elastic : d) Any of the above
—
ICAI SM I
§
H |
A firrn. learns that the own pric.e Given the following
elasticity of a  product it & | possibilities, which one will rg
92 | Manufactures is 3.5. What would 9 in an increase in total expendit,
be the correct action for this firm of the consumer?
to take if it wishes to raise its
total revenue? - ' .
a),Demand is unit elastic and pri
: rises
a) Igl‘?;vsgotdh?sPe"l(:seti?:ecause demand forafl ] 1y Demand is elastic and price rises
b) Raise the price bécause demand for &) Demand‘ A2 'melast_«c abd e f-a“S
the product is inalastis. , d) demand: is inelastic and price rises
¢) Raise the price because demand is
elastic. ICAl !
d) We need information ih “order: to
answer this question. 96 The supply curve shifts to the rig
j because of ————_ _ _
a) improved technology
ICAI SM b) increased price of factors
production
¢) increased excise duty
. - ‘ d) all of the above
At higher prices people demand ||’
93 | More of certain goods not for their 7 : ICAl S
worth but for their prestige value =
— This is called o7 | Which of the following statemen
.| is correct?
a) When the price falls the quantii
demanded falls
a) Vebldh effect b) Seasonal changes do not affect tt
b) dGiffens paradox

supply of a commaodity

c) Taxes and subsidies do nhot influenc
the supply of the commodity

d) With lower COst, it is profitable t

supply more of the commodity.
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ICAI SM ICAlI SM
If the demand is more than supply, The cr
0ss elasticit betwe
98 | then the pressure on price will be 2028 aread and DVDs is: : -
a) Upward a) Positive
b) Dowhward b) Negative
c) Constant c) Zero
d) None of the above d) One
ICAl SM

ICAI SM

The supply curve for highly
99 | perishable commodities during very 104
short period is generally ——

Which of the following
statements is correct?

a) Elastic

b) Inelastic a) With the.help of statistical tools,
c) Perfectly elastic the demand can be forecasted with
d) Perfectly inelastic perfect accuracy

b) The more the number of substitutes
of a commodity, the more elastic is

ICAl SM the. demand.
c) Demand for butter is perfectly
100 | Supply is a concept. elastic.
il 7 d) Gold jewellery will have negative

ihcome elasticity.

a) Stock
b) Flow and stock
c) Flow
d) None of the above ICAl SM
ICAl SM
The cross elasticity between Rye ::52::;:h?n'n;:$:t: u:.s:;s:{ :’:
101 | bread and Whole Wheat bread is 105 India is 3.6. What does this

expected to be: el

a) Positive

b) Negative
c) Zero
d) Can’t say
ICAl SM a) Private schpol education is highly
wanted by rich

The cross elasticity between b) Private school education is a
102 | personal computers and soft hecessity.

wares is: ¢) Private school education is a luxury.
e d) Wﬁ ishould have more private
b) Zero schools.
¢) Negative
d) One
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ICAl SM

If the organizers of an upcoming
cricket match decide to increase
106 | the ticket price in order to rai;e
its revenues, what they I:lave
learned from past experience is;

4

a) The percentage increase in ticket
rates will be always equal the
percentage decrease in tickets s_old
b) The percentage increase in ticket
rates will be always greater than
the percentage decrease in tickets

sold
¢) The percentage increase in ticket
rates  will be ' less than the

percentage decrease in tickets sold
d) (a) and (¢) above are true

e e s

. |
The .followim
relationship betweey, ~ O,

Good X and quantity dm“
of Good Y. What we fn:h'“'

_ g N
the diagram is; b
: |
108 |
]
5
13 |
- % 0
E D
0|  Quantity dem

ICAI SM

]

DPata on production of vegetables
for the past two years showed
that, despite stable prices, there
107 | {5 a substantial decline in output

of cabbage leading to lower
supply into the market. Which of

the following can possibly be the
reason?

a) An thcrease in  the price  of
cauliflower which is equally
Preferred by consumers

b) Ahhouncement of a Subsidy by

government on vegetable

€) More farmers producing ¢
the ihcreasing compe
them

d) A substantial decre
of capsicum

production
abbage and
tition amohng

ase in the price

a) Good X and Good vy
complements

b) Good X and Good v are  pes,
substitutes

c) Good X and Good Y are
substitutes

d) Good X and Good Y are

remg;

cloy
substitutes
;
] T T —
ICAl g
|
The diagram given below shows
V‘“ 2]
[ o2
Gr—
109 ot
tP
e
\ D1
! D2
Gl Q1 <— g -
J

a) A change in demand which may be
caused by q rise in income and the
good is q hormal good

b) A shift of demand Curve caused by
fall in the Price of a complementary
good

c) A change in demand which is cqyset

by d rise in income and the good i
an inferior good

d) A shift of deman
Fise in the price
the good is q hormal good.
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&
oyl ) ICAl SM
= | which  of the following
alternatives would be true if the -
event presented in the following If roller-  coaster ride is q
diagram occurs? 112 fb.m'ctwn of _amusgmena} park
¥ s1 visit, then, if the priu%e of
1 - L= amusement park entry falls
-"_’ <_/ {?\E—\\A kl'f}‘.\'{;
110 P — -
a A
-= S0 .
e S 3 a) The demand for roller- coaster rides
s €— 1 will rise and thendemand curve will
1 Laseall] shift to right
Quantity ||| b) The demand for roller coaster ride
cannotgbe predicted as it depends on
a) A fall in wage costs of the firm

the tastes of consumers for the ride
along with a fall

in  consumer

¢) There will.be an expansion in the
incomes demand for roller coaster drive as it
b) A shortage of raw materials and complementary
consequent increase in raw material d) None of the above
price

c) An increase in subsidy by the
government and a reduction in taxes

d) Decrease in the market price of the
commodity in question

ICAl SM
113
Rl If a short run supply curve is
& plotted for the following table
The demand curve of a normal which  presents price  and
111 | 990d has shifted to the right. quantity of fighter aircrafts,
Which of the four events = would : what will be its shape?
have caused the shift? q Price in millions of $ | Number of Aircrafts
124 28
140 28
a) A fall in the price ofl a substitute 150 o8
with  the oprice of the good
unchanged 160 28
b) A fall in the“hominal income of the
consumer and @ fall in the price of 175 28
the normal good I
¢) A fall win.  the price of a

complementary good with the price a)

Horizontal straight line parallel to
; of the hormal good uhchanged
d

the quantity axis
A fall in the price of the normal ||| b) Steeply rising with elasticity less
90od, “other things remaining the than one
same c)

Vertical straight line parallel to Y

axis
T

d) A perfectly elastic supply curve
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114 | The average income of residents
of two cities A and B and the
corresponding change in deman
is given in the

for two goods
table. Which of the

following i
ollowin statements is true?
”—TL‘L"TQ :
city | %lncre % change % .
In in change in
Inco dem demand
me and for Good Y
for
Good
._———__/—__,29_____
12 6.5 - 2.3
e
B 9 5.6 1.6

a) Both goods are normal goods in both

cities A and B

b) Good X is a normal
cities; good Y is an in
city A

c) Good X is a normal good in both
cities; good Y s an inferior good in

good in both
ferior good in

\ ™

-

( 'O
il

e TN

hich | of the Tl
116 | statements is true ab?"
ut

§

consumer?

4) The consumer is not MaximoaN
utility at point K 2l

b) The consumer is spending hey
income on both goods

c) The consumer gets equal plegg,
points B and K fe

d) All the above

eht

The effect on consumer surp|y
a fall in price from EtoFis
b g

A >
; Rb
Price
Bt ot c
r ] \
D

a a1 =

117

auantity

a) A decredse in consumer surplus §

city B . , EFGR
d) Need more information to make an b) A decrease in consumer surplus!
accurate comment AER -
c) A decrease in consumer surplus
ICAI SM ) EFCR P
If this consumer is spending her d) None of the above
entire income and consuming at
point B, what advise will you
give her? 1CAI S
Y 4
115 | N\g
3 when price rises from F to E, th
g 118 | increase in revenue earned by th
“ iICa seller is
K IC2
1IC+q
= Good X L 3
a) No advise needed, as she is
maximizing her utility at B a4) Equivalent to area EFGR
b) Consume more of Good X and less of bg Eguivalent %o atea EFCR
Good Y ¢) Equivalent to area AER
¢) Consume more of X and less of Y and &) None of the hove
reach point K
d) Consume same quantity of Ggood Y
‘4___——’/

and more of Good X
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How would that budget line be During a recession, economies
119 | affected if the price of both goods experience increased
fell? 120 | Ynemployment and a reduced
. e H . b
) The budses e would ot i rcessin ety tn et
b) The new budget lmg must be parallel market demand for new car<?
to the old budget line.
c) The budget line must be shifting to a) Demand curve will shift to the right.
the left b) Demand curve will shift to the left.
d) The new budget line will have the c) Demand will not shift, but the
same slope as the original so long as quantity of cars seld per month will
the prices of both goods change in decrease.

the same proportion

) d) Demand will. not shift, but the

quantity of cars sold per month will

increase.
1 (d) 2 (b) 3. (e) 4. (b) 5 (b) 6. (b)
7. (b) 8. (c) 9. (c) 10. (b) 11. (b) 1 (b)
13. (b) 14. (c) 15. (d) 16. (e) 17, (a) 18. (b)
19. (d) 20. (d) il (c) R2. (b) 23. (c) 24, (e)
25. (d) 26. (b) 27. (a) 28. (c) 29. (b) 30. (a)

31. (b) 32, (c) 33. (b)

34. (a) 35, (c) 36. (a)

37. (a) 38. (c) 39. (c) 40. (a) 41. (d) 42. (e)

43. (a) 44. (e) 45. (a) 46. (d) 47. (d) 48. (b)

49. (b) 50. (b) 51. (d) 521 (c) 53. (b) 54. (d)

55. (b) 56. (b) 57. () 58. (b) 59. (b) 60. | (o)

61. (c) 62. (b) 63. (a) 64. (a) 65. (d) 66. | (d)

67. (a) 68. ol (o 69. (a) 70. (b) 21 (©) 72. ()

(75 &) Bt Bt o [0 @ Pl © e (@)
79. (c) 80. (b) 81. (a) 82. (a) 83. (a) 84. | (o)

85. | (a) (a) | 87. () 88. (a) 89. (d) 90. (b)

91 | (4 @ | 93 | (@ | %4 | (@ [ 95 | @ | 9 | @
o7 | W/ @ | 9. | @ |100.| © | 100 | @ | 202] 0

103. | (c) (b) | 205 | () | 206. | (b) | 207 | (@ | 108. | (&)

1 (c) 110 (b) 111 | (o) 112 (a) 113 (e) 114 | (b)
; B | 116 | @ | 117 | (@ 118 | (@) | 119 | (d)

e
1

120 (b)
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A.Q.

MCQ Shastra = Veolume |

The economist’s concept of
1 demand is as desire or need
or choice or preference or order.

Extra MG

a) the same thing ‘
b) not the same thing
c) (A) or (B)

d) None of these

MTP Dec 22, A.Q.

Which of the following staternerts
are true or false-

1. Snob  Effect represents the
desire of people to be exeiusive,

" The most crucial determinant of

to be different; to dissociate
themselves from the "eammeon
herd.
2. Snob Effect is a function of
price
a) (1) & (2) are false

b) (1) & (2) are true
demand for an item is c) (1) Is true & (2) is false
d) (1) ls false & (2) is true
a) Income of consumer —
b) Prices of other related goods Extra MGG
¢) Taste and preference of consumer
d) It's own price Highly priced goods are consumed
by status seeking rich people to
MTP Mar 18 7 | satisfy their need for conspicuous
ion. This happens
If distribution of income is more cbzzzzng':n ' 44
3 | equal, then the propensity to
consumer of the country is a) Veblen Effect
; . b) Snob Effect
a) Relat!vely High c) Bandwagon Effect
b) Relatively Low d) Price Effect
c) Unaffected
h b
d) None of the above MTP Nov 22
MTP Mar 18, MTP Dec 22
When price of a substitute of X ;
g commodity falls, the demand for X __ Match the following 1
a) Rises LIST=-1 “
b) Falls a) Tea and Coffee
¢) Remains unchanged b) Car and Petrol
d) Any of the above. ¢) Gold & Diamond
8 | d) Ragi and Bajara
PYQ Jun 23 LIST 1l
1. Veblen goods
Increase in price of pulses leads to g Z?ft;::t“::;s
5 | increase in demand of green 4' Com (egm Sy
vegetables ‘ plementary
a) Substitutes Codes: a b ¢ d
b) Complimentary goods (a) 12 3 4
C) Normal goods (b) 2 4 1 3
d) None of the above (c) 1 3 4 2
(d) 1 3 2 4
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MCQ shastra = Volup,,

ACQO

MTP Dec 22, l\m\

9 | An important generalization about
demand is described by_____

when violation of law om
|

13 occurs: .

substitution effect is ncgative\l

a) Law o a) , it ) :
b) Factofsd:f?qeccl::idng demand by mear (_ffcct N nffgf‘;tlzviefl
&) Quantity d p c) Negative income € e sless © thg,
y demande substitution effect |
d) None of these d) negative income effect (s greaty
than substitution effect
AOQU pvﬂs\‘
10 | ‘Ceteris Paribus’ clause in Law of QJun
demand does not mean- o The substitution effect will be whq,
a) Price of commodity does not change when the price of the P"°dUCtia||\s7\l
b) Price of substitutes does not change a) Zero
c) Income of consumer does nhot b) Negative
change ¢c) Positive
d) Price of complementary goods does d) Lower cost |
not change —
ad
AQ.
MTP Apr 21 - —
The price of a piece of jewellery |
11 | In case of inferior goods: rises, the demand for it may also‘;
15 rise as consumers attach a to |
a) Income effect and substitution owning & displaying expensive
effect work in opposite direction items. \
b) Income effect and substitution —
effect work in same direction a) money value |
¢) It leads consumer to purchase less b) use value .
of a good and more of the c) snob value i
cubstitute d) None of these ‘
d) None of these
MTP Mar 22, Apr 23
Extra MCQ 16 | For Giffen good the Engel curve is:
a) Positive sloped
X : b) Vertical
: In the case of inferior goods, the ¢) horizontal
12 | expansion in demand due to a d) Negative sloped

price fall will take place only if the

a) Income eff outweighs the
substituti ect

b) Substi effect outweighs the

- income ef

c) subs effect equals the

~ income effect
| None of the above

MTP Dec 22

Inspite of the fact that the price of
the television sets refrigerators, air
conditions etc. have been
continuously rising their demand
does hot stand any tendency to
fact because they are

3

——

a) Conspicuous goods

b) Giffen goods

¢) Speculative goods

d) Conspicuous necessities.

Mohnish Vora (MVSIR)
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PYQ Jun 22

PYQ Jun 22
In case of Veblen gdoods, the
18 | demand curve is
a) Horizontal
b) vertical

¢) Upward sloping to the right
4) pownward slopping to the right

The demand for petrol decreases
22 | due to increases in its price, it is
termed as

T,

S PYQ Jun 22

a) A decreases in demand
b) A change in demand

c) A contraction in demand
d) An increases in demand

which of the following statements
19 | is not correct?

A.Q.

a) Giffen goods  exhibit

hegative
relationship  between price and
demand
b) Conspicuous goods exhibit positive
relationship  between price and
demand

¢) lncomplete information and
irrational behaviour of consumer is
one of the reasons of exception to
the law of demand
d) Law of demand

Let QX = 1500/Px the elasticity of
23 demand of the good X when its
price falls from $ 8 to $ 2 per unit,
will be _ (Use Arc Method)

a) greater than one
b) less than one

c) equal to one

d) can’tsay

Extra MCQ

The price of a good decreases from
Rs 80 to Rs 60 per unit. If price
24 | elasticity of demand = 2 Original
\ Qty demanded = 50 units. Calculate
the new qty demanded.

states inverse

relationship between price of a

commodity  and its quantity
demanded

MTP Dec 22

When real income rather than
money income is kept constant in
20 | drawing a consumer’s - demand
curve for a commodity, the
demand curve is hegatively sloped,

a) 25 units
b) 75 units
c) 100 units
d) 0 units

MTP Oct 18

a) Always
b) Never
| €) Sometimes

@ Often.

If R point bisects the demand curve

25 | in two equal part, then elasticity
at R equals__

MTP Dec 22

a) Zero
b) Five
c) Two
d) One

21 | Empirical demand curves refer to
demand curves estimated from

h—

MTP Apr 21

a) utility theory

b) the = new approach to consumer
theory

) Information provided by individual

5 Cohsumers

Actualmarket price-quantities

Observations.

From the following demand curve
determine the elasticity at the
26 | given price

Q=1200 - 10P

When P = 5, d@/dp = 10

CA Mohnish Vora (MVSIR)

a) Elastic

b) Inelastic
¢) Unitary elastic
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Q128 in McQ compiler (Pg 2.17)

MT?_,J;?

A.Q.

PRICE (IN )

10

\

D1 ’
- elasticity (s unity.
munlnsnnmwnmmm d) None Of these
MTP JUH 2)

: |

Which of the following statemgp ™
29 ty
is correct?

a) When the slope of the daMam
is zero, demand is Inflnitely glaq,
and when the slopg s inﬂmt:
elasticity (s zero. ;
when the slope of the demand Curyg
is zero, the elasticity 15 also g,
and when the. slope (s infipjg,
elasticity is also Infinite, /
¢) When the slope of the C‘Qmand CUrye

is zero, the elasticity [s unity qu,

also when theslope [ 5 infiniy,

b)

In the above figure, DD1 is the
demand curve of a commodity.
There are two points on demand
curve i.e., A and B with (P, Q) as
(10, 2) & (8, 3) respectively. If
initial point is A OR initial point is
B, price elasticity of demand will be

The share of the tax borne by
30 | caller will be larger

same in both cases by point method
of price elasticity of demand
b) different in both cases by Arc

method of price elasticity of demand
¢) same in both cases by Arc method &
different by point method of price

a)

3 —
a) If demand for product Is less elastie,
b) If demand for product is inelastic,
c) If demand for product has greater

elasticity.
d) If elasticity of supply of product [z

larger. J

MTP Ma;gl—.

A movement along a curve rather
31 | than a shift in the curve can be
measured by:-

elasticity of demand
SO -

d) None of these

| The Coefficient of Pri
28 | of demand ‘between two points

I .
5% {4

a) Cross elasticity of demand ,
b) Income elasticity of demand “
c) Price elasticity of demand & Price
elasticity of supply J

|

J

|

d) None of these

Extra MCQ

a) Arc ﬁfﬁlty
b) Point eldsticity

c) Price elasticity , ,
d) Nohe of these _ ' bt

If demand for a good is inelastic,
32 | then as per total outlay method
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MTP Aug 18, May 20, Nov 22, SEQ

MTP Dec 22, A.Q.

If increasing air fares
revenues and decreasing them
decreases revenues, then the
demand for air travel has g price
elasticity of:

increases

33

[IRERRES 1y
a) Zero
p) Greater than zero but less than one

grone

d) Greater than one

During lockdown due to covID-
19, a consumer finds the vegetable
vendors selling vegetables in the
ag | street have raised the prices of

vegetables than usual prices. She
will buy vedetables than/as
her usual demand showing the
demand of vegetables is

=

e

A.Q.

S

If the price of a commodity raised
by 12% and Ed is (-) 0.63, the
expenditure  made on  the

commodity by a consumer will sl

34

a) more, inelastic demand
b) less, elastic demand

¢) same, inelastic demand
d) same, elastic demand

MTP Mar 18, SEQ

a) Decrease
b) Increase
¢) Remain same
d) Can’t Say

The income of a household rises by
20 per cent, the demand for
39 | computer rises by 25 per cent, this
means computer (in Economics) is
a/an

MTP Mar 22

When the demand curve is a
rectangular hyperbola an increase
35 | in the price of the commodity
causesthe total expenditure of
consumers of the commodity to :

a) inferior good
b) luxury good
c) Necessity
d) can’tsay

MTP Oct 19

a) Remain unchanged
b) Increase

c) Decrease

d) Any of the above

40 | Suppose income elasticity of bread
is 0.25, its means that bread is-

a) Inferior goods
b) Luxury goods
¢) Normal goods
d) can’tsay

MTP Aug 18

a1 Which of the

following s
incorrect?

A.Q.
Commodities such as prescribed
36 | medicines and salt have and
hence, have an demand
a) Several substitutes, elastic
b) Several substitutes, inelastic
¢) No close substitutes, inelastic
d) No close substitutes, elastic
: A.Q.
37 | Demand for water is —
a) Elastic
b) Inelastic

¢) Perfectly elastic
d) Relatively elastic

Making pdfs, photocopies,

a) The cross elasticity of demand for
two substitutes is positive.

b) The income elasticity of demand is
the percentage change in quantity
demanded of a good due to a
change in the price of a substitute.

¢) The cross elasticity of demand for
two complements is hegative.

d) The price elasticity of demand is

always negative, except for Giffen
goods.
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mm mn
WEMO HAuk to Be used together
Wi ttemele aie poarlect substitites and
FHN e ur with ense h place of
A A
ELothere  ls om0 High o degree  of
sUbablbiibabillity  betweesn  the two
AEEEE
i vimds  aie Heutidl  dnd  therefore

‘,,,

i
g
B .
o

nrerk wmmmmt«s Apiel

rHHHEE Be capneldered A subgtltutes

Extra Mca

I8 EFBND  Bldstielty between
ihoial eomputers and " soft

skt
Fl Nedative
_d_) Hi el

4 —

MIP Mar 22 |

perfect substitute
elty of Substitution le,

n; AT

mlﬂﬂnd elasticity of dema,

jeally

a) Negatlve
b) Positive
¢) Always zero
d) None of the above

nd fg

47 The objecti advertisement m

to . b i

——

a) Shift demand Curve to left & Redyc,

elasticity of demand
b) Shift demand Curve to right %
inerease elasticity of demand
¢) shift demand Curve to left g
increase elasticity of demand
d) shift demand Curve to right g
Reduce elasticity of demand

3

—

MTP May 23

There will be in tha‘
48 | demand Curve of cars with an|
increase in the Price of Petrol

eloss-price

wods (s only

a) Leftward shift

b) Rightward shift

€) Upward Movement
d) Dowhward Movement

then It s a

PYQ Jun 23

Movement along the same demand

a) Change in demand
& Change in Quantity demand

curve represents

rease € in demand
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A.Q. A.Q.
;o Luxuries are dgoods that are 55 Avcrencurve will be below X-axis
a) Enjoyable and essential
b) Enjoyable but not essentiql a) MU is zero ]
¢) Essential but not enjoyable b) TU is falling
d) Neither enjoyable nhor essentiq| c) MU is negative

d) Both (B) and (c)

A.Q. _
People know utility of goods by Haom MTP Mar 21
51 | means of MU from last unit consumed of
. commodity Y = 50 Units and Mum =
G price : 56 | 10. Consumer is in equilibrium and
g 't ospection consuming commodity y only. Find
€} demand the Price of Commodity v____
d) desire
a) 5
A.Q. b) 10
5 - c) 40
52 | BY way of an optimal choice, a d) None of these
consumer tends to
a) save money MTP Oct 18, Oct 20
b) purcha;e largg quantity Marginal utility approach to
¢) maximize satts_fact(on 57 demand was given by.
d) Maximize satisfaction Subject to
constraints like tastes and a) J R Hicks
preferences b) Alfred Marshall
c) Robbins
SEQ d) A C Pigou
Consumer stops purchasing  the sl
53 | additional units of the commodity Which of the following is incorrect
when 58 | relating to Law of Diminishing
Marginal Utility ?
a) marginal utility starts declining a) Law may not apply (h case of
b) marginal utility become zero prestigious goods
) marginal utility is equal to marginal b) Law may not hold in case of hobbies
utility of money c)

Law applies in case of habit forming
commodities

d) Law may not be operating in cases
such as creative art

d) total utility is ihcreasing

MTP Dec 22, A.Q.

MTP Nov 22, MTP Apr 19

At saturation point of TU curve : o Tk
54 ; : d / Cardinal Measurability of utility
N thg slo?e of TU curve is____ 59 P
A a) Utility can be measured
b) Infinity b) Utility cannot be measured
B 7o ¢)- Utility can be ranked
d) Positive d) Utility can be measured in some

case
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MTP Mam\ '(
Fa

ase of necessaries the mq, ul
f the earlier un‘t‘glhq

In ¢
utilities ©

Law of diminishing M P
may not aPPly to: large. In SUCh cases the cOhs qr!
surplus will be: Upng,

a) Money
p) Butter

p) Zero : L

Marginally positive

c) Pepsi, coke etc.
TP Juh 22 d) Marginally Negative

/ \\

EE;M\CQ

ilibrium when
—

consumer, surplus is representeq ,
y:

ve the demand cum

is in equ

A consumer

s/he is
satisfaction

61

a) maximum a) Area abo
b) possible ' pelow the price
c) maximum possible ) Area pelow the demand curve 4
d) None of these | above the price nd
¢) Ared on the right of demand curve

MTP Mar 22 d) Noneé of the above
=
e

After reaching the saturaﬁon
dditional SEQ, MTP AP"&J

62 | point, consumption of a
units of the commodity cause:
e T é7 | under income effect, consumer |
and marginal : -3

a) Total utility to fall
utility to increase T} o ‘
b) Total utility and marginal utility a) Move alongd original indifference|
both to increase . curve _
¢) Total utility to fall and marginal.||| 2 moves  toO higher  or  lower
utility to become negative indifference curve ‘
d) Total utility to become negative and c) always purchases higher quantities |
' of both the commodities |

marginal utility to fall
d) none of the above

pvajun22 || L———
' MTP Nov 22, A.Q

|

63 when total utility is diminishing,
the marginal utility is

A cohsumer’s preferences are

a) Diminishes
nic if and only if between

b) Zero
¢) Negative : 68 monoto
d) Increases two bundles, the consumer prefers
the bundle which has ______
______—/

| MTP Nov 22, Mﬁ Aug 18, Mar 19, SEQ

i

oy >‘.I‘ - - ‘.‘ e
Hk‘ | The consumer surplus is
' ‘ a) more of one of the goods

u:.':ﬂ':;

5%y b) less of at least one of the goods

a) indi a1t curve analysis ' c¢) more of at least one of the good|

b) revealed preference theory and less of the other good. |
: d) more of at least one of the goods

¢) law of substitution
and no less of the other good.

d) the law of diminishing‘ marg'ina["

utility
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Aa

o " MTP Apr 19
According to ordingl approach of |

69 | consumer’s behavior- (| 73 'ﬂdiffwn ence curve is convex to the

nsumer is able tg . <
a) g:act amounts of utilities that he b) g?s“irgh':;zs)
derives from commodity oy any c) ConszantMRS
: combinations of them. d) None of the above
b) utility beulng psycholog
not quantifiable.

¢) The consumer is capable of simply ; MTP Mar 19

comparing the different levels of
satisfaction.

consumer :
4) Both (B) and (C) tastes and preferences.

Indicate the a)

ical feeling is

;
E.

|| | ) Budget line ‘
/’—f ¥
e 0) Averdage costcurve
A-Q., MTP Jun 22 | <) Indiffecence oy
which of the following nts | | %) Margingl revenue curve 1
70 | is correct regarding indifference
curve? T

] Extra MCQ

g) Two ICs may not intersece

- -~
eac

75 «| Which of the following is not a

I wrmo (et ore o P
‘1 -.—, 2 =z a Y sec Eocn o= - - )
‘[b: Two ¥ H/’ > acn ot property of the indifference curve ? “
205 s ) ~
€} Two LS are always pargllel to each

\
"
3]
[0
()
)
A%
)]
)
Q
]
)
e
%)
1
0w

o
-—
\
h)
A
3
\
0
)
m
)
8
b
(3]
W
%)
)
\S)
[
3
)
=

! 2 -
aownward
- - . D e
the indifference curve is - e
-~ NAIFFerence curves oy or s
- - CITNE CLaryes -y U - ”C-
3 , T e— = e o
&) S a straighnt une nterse each other
J z LErSect eacn othe
= o ey - e Owicse -~ P E - . ~ s ——
2} 5 Cconwex To The onig a; giiterence Ccunrye "ot YTouch
Pl eracicr o b v ol ¥ ke =
L SANDIDL OF TWO0 sTraicnt e s SonNer axes [
- ‘
- -~ - -
FGINT. angie Sent .
= -
- =
e nf thoco
& hOnNe O These

| %) The comsumer = rotiong]  oez | Substitute for each other:
Possesses full Wformooion shout o '
| the asoerss of economic
| | Emwronmeng kL g) Indifferemce curve for these two
| =% & Pprrsimer = not copoble of g00Zs are stroight parsliel line with
vEmiclng offf comiiranions 2 constant siope glong the curve
¥ coMsgrer prefers comminsmor A ndifference curve has a constant
W B and B to C, then ke wust MRS
efer comtrnation £ 1o C c) Concave to the Onigin
od o - (2) and (5)
—
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; MTP Dec 22 R
% The substitution effect for a fall in sat [l Wecaniwriterthe budgem
! 77 | the price of a commodity (ceteris for two doods X and Y as - ht |
| paribus) is given by 4) Px.Qx + Py.Qy = B N |
| 4) a movement up a given indifference b) Px.Qx + Py.Qy < B
curve c) Px.Qx +Py.Qy > B
b) a movement from a higher to a d) Px.Qx +Py.Qy = B
lower indifference curve —
c) A movement down da given B Mm
indifference curve
d) any of the above. g1 ;rshf sopelgficPRe e E e b”m
MTP Nov 22 a) Positive and constant -
: b) Negative and decreasing
Match the following LIST-I ¢) Negative and constant
a) Two perfect substitute goods d) Positive and increasing
b) Two perfect complementary : —=
goods = |
c) Indifference curve is always s ch_zf
d) Higher IC gives higher level of Shift in the budget line when prices
78 satisfaction 2 are constant are due to
LIST — 11 a) change in income
: 1. Linear indifference curve bj,_Change in demand
| 2. Monotonic preference c) Change in utility
j 3. L-Shape Indifference curve d) None of these
; 4. Convex to the origin
g MTP Mar 19
|| Codes: a b C i d
(a) 1 2 3 4 When the consumer is in
(b) 3 14 4 2 83 | equilibrium his price line is
(c) 1 3 4 2 to indifference curve
(d) 1 3 2 4
' a) Parallel
A.Q. b) At right angle
c) Diagonally opposite
While drawing budget line of a d) Tangent
consumer consuming Nachos chips
and Pepsi, if the quantity of
Nachos  taken on Y-axis and MTP May 23
79 | quantity of Pepsi on X-axis. The
;:3}:2:: I:;;;dg_etp:::ee ‘:f‘”PZ:si, PN - 84 | The budget line is also known as:
Price of Nachos & M - Money
income of consumer]
Y A
Pe
a) Pra , e
a) Production Possibility Curve
b) o= b) Consumption Possibility Curve
c) lso Utility Curve
c) DA d) None of these
Pr4
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i e i 3 i

— e

AYD Aa o

M TP Mar 32

g | mehavior of Bupply depandy ypgy,; |
i) I"lmhmrwrwn Conaliderag ey
b) Dagree af - pusaible ddjustmeant |

aupply
[me Parlod under ¢apgl,

lerarion

d) All t'lwi_ﬂl)mm‘
. JMTT’?WM 22
P— PR -

Suppose we are drawing ¢
ourve of a farmer which
171 following  will ot g
constant, |

supply
of the
hald

a) Price of Inputs
) Weather Conditions
¢) Technalogy

d) The l)rlf.v of the Commodity under
conalderation

= e
i T S—

T

d) zevy,

b) infinite,

) una,

d) unaple 1o be
Infarimation

defferrmﬁéd from this

1

R

g T — LR

P - Iy,

. [i";

I Ath

Yesterday, seller A suppliad 400
units of a good X at re, 10 per
gy | Ynlt. Today, seller A supplies the
same  quantity of units at rs,
per unit. Based on this evidence,
seller A has experienced a (an)

a) Decrease in supply,
b) Increase in supply.
€) Inerease (n the quantity supplied.
d) Decrease (n the duantity supplied

i e S ESENN

d) None of these

e —-
Relutionship between slope  of
91 | supply curve and elasticity of
sUpply éan be defined as -

[ ea—

a)

Product of slope of supply curve and

FALIO Of cuantity supply to price

b) Flagticity of supply s equal to the
slope of supply curve,

) Product of reciprocal of slope of
SUpply curve and ratio of price to
dquantity supplied

d) Elasticity of supply ls  equal to
reciprocal of slope of supply curve.

MTP Apr 21

When price of a good rises from
Rs. 20 to Rs. 30 the producer
supplier 20  percent more the
Price elasticity of supply is

92

da) 0.5
b)) 0.4
-9 il

Extra MCQ

Extra MCQ

v! The ﬁpvly function is given as:

gp | =88 % 15p. Find elasticity of
; pply - using point method, If
o Rs 20

93 To improve price elasticity of
supply an organsation can

a) Improve the technology used

b) Increase production capacity

c) Expand storage space for stock
while  making sure that products
can last long while stored

d) All of the above
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MTP Jun 22

Slope of supply curve is 0.6,

calculate elasticity of supply when

24

!
94 | .
initial price is $ 30 per unit & | there
initial qty is 100 units. x €
a) 0.5 | a) Less elastic .
b) 5.55 || b) More elastic
c) ()05 l ¢) Perfectly inglastic
d) (-)0.18 d) Any of the above
MTP Dec 22 || —_
Elasticity of supply at any point Products. that involwe .
on a supply curve passing 9 complex Production proces,,
95 | through origin  point making 9 require velatively ionge: iy,
angle of 35 degree with X-axis is produce exhibit
) % ([astic oF S
catey elasticity OF SUpDly
a) Greater than one ) ITECRE a0 {,: AP
b) Lower glasticity oF supoly
b) Less than one B o of coae
¢) Equal to one ¢c) Zero eldsticity of supply
d) Any Of the above d) Nore Of the a20ve
...
WMTP Junzg

( PYQ Jun 22

¥
B
—

If price of sugar increases from
Rs. 8,000/- to 10,000/~ per tone &

The market demand curve fr ¢
perfectly competitive industry i

96 due to that quantity supplied of 100 | @d = 12 - 2P and the marke
sugar increases from 2000 to supply curve is: Gs = 3 = P. Tee
2500 tones. Elasticity of supply market will be in equilibrium i
will be | ’
a ()1 a) P=6and Q=9
b) 1 b) P=5adand Q=2
c) ()04 c) P=4and Q=4
. PYQJun 22 et
3
97 | SLIPPIY willbe, _____ if firms are —_  represents the r
" | not working to full capacity dos IO oy ociety . PO
AT “:i i .'_ e exchanges that are made 8
v EST i particular market
/
a) Inela i?/
3 EPle;'::iclA Inelastic a) Market Equilibrium
: b) Consumer welfare

4) Any of the above

c) Social Efficiency
None of the above
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T

Extra Mcq

§ Tepresented by the

area above the supply curve and
102 | | low the price line

consumer surplus
producer surplus
consumer Welfare

2) (a) or ()

—

A.Q.

Elasticity of demand and supply

103 are
concepts

| mm—

a) Relative

b) Absolute

¢) Both (A) and (B)

d) Neither (A) and (B)

l

1

MTP Mar 22 1

|

104 | A theoryis: |

a) An assumption

b) A hypothesis

¢) A validated hypothesis
d) None of these
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ICAI SM

Which of the following 'is

1 | considered production in
Economics?

mefoﬂomngarevarmg
5 | that are used by the fﬁ“‘-”’s

a) Tilling of soil.

b) Singing a song before friends.

€) Preventing a child from falling into a
manhole on the rodd.

d) Painting a picture for pleasure.

ICAI SM

2 Identify the correct statement:

a) The average product is at its
maximum when marginal product is
equal to average product.

b) The law of increasing returns 1O
scale relates to the effect of
changes in factor  proportions.

¢) Economies of scale arise only
because of indivisibilities of factor
proportions.

d) Internal economies
accrue when industry
beyond optimum.

of scale can
expands

| except:
i
a) the seed and fertilizex, uses .
the crop is planted. -
b) the field that hasgbeen clegro;
trees and in which the cro.
planted .
c) the tractor used by the forme.
planting and euitivating nor o
wheat but Aalse corn and barizy,
d) the number of hours that the for,.,.
spends g in, cultivating the ..
fields. 1
e
e
ﬁaﬁm
T r—

The marginal product of g varigy,
input is best described as:

ICAI SM

wWhich of the following is not a

: characteristic of land?
a) lts supply for the seconomy s
limited.

b) It is immobile.

c) lts usefulness depends on human
efforts.

d) It is produced by our forefathers.

a) “#otal product divided ‘:y the numbe
of units of variable input

b) the additional outpu
d one unit increas
input.

c) the additional output
a one unit Increase

(\)V

Which of the foltowmg statements

g IS true" ;

a) Accumulat;on of capital depends
solel ome of individuals.

b) Saw'% gtcan be influenced by
gove t policies.

¢c) External economies go with size and
internal economies with location.

d) The supply curve of labour is an
upward slopping curve.

variable and fixed inputs.

d) the ratio of the amount of e
variable input that is being uses =
the amount - of the fixed input &
is being used.

$CAl SH

/

7 Diminishing marginal retuns
implies: }

___—-—-’"/

a) decreasing average variable 0% |

b) decreasing marginal costs.
c) increasing marginal costs.
d) decreasing average fixed cost>
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Icalism ICAl SM
The short run, as economists use Which of the followin
8 | the phrase, is characterized by: 11 | definition of g”i:r:xc:ie::
a) at least one fixed factor of function”?
production and firms neither leaving a) The relationship between market
nor entering the_ industry. price and quantity supplied.
b) generally a period which is shorter b) The relationship between the firm’s
than one year. total revenue and the cost of
¢) all factors of production are fixed production.
and no variable inputs. ¢) The relationship  between the
d) all inputs are  variable and quantities of (nputs needed to
production is done in less than one produce a given level of output.
year. d) The relationship between the
quantity of inputs and the firm’s
Tl ICAl SM marginal cost of production.
The marginal, average, and total
product curves encountered by the ICAl SM
9 firm producing in the short run
exhibit all of the following
relationships except: 12 The “law of diminishing returns”
a) when total product is rising, average qpplies to;
and marginal product may be either
rising or falling.
b) when marginal product is negative,
total product and average product a) the short run, but not the long run.
are falling. b) the long run, but not the short run.
c) when average product is at! a ¢) both the short run and the long run.
maximum, marginal product equals || d) heither the short run nor the long
average product, and total product run.
is rising.
d) when marginal product is 'at a
maximum, average product: equals
marginal product, and total product ICAl SM
(s rising.
: 13 | Diminishing returns occur:
To economists, the main difference
10 | between the short run and the long
run is that:
a) when units of a variable input are
a) In the short run all inputs are fixed, added to a fixed input and total
while in the lohg run all inputs are product falls.
variable. b) when units of a variable input are
b) In the short run the firm varies all added to a fixed input and marginal
of its inputs to find the least-cost product falls.
combination of inputs. c) when the size of the plant is
c) In th“é‘short run, at least one of the increased in the [ong run.
firm’s‘input levels is fixed. d) when the quantity of the fixed input
1) In the long run, the firm is making a is increased and returns to the
Constrained decision about how to variable input falls.
use existing plant and equipment
__ efficiently.
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Ise the following data to answer [ Ww
$

uestions 14-16. i3 Which of the fileving co?‘\M
: —. - : is never ‘W shaped? Cury
ours of Total | = Marginal ( &
tbour |  Output |  Product a) Average cost curve, "\
_ i b) Marginal cost curve,
c) Average variable cost curye;
100 100 d) Average fixed cost curye.
o~ 80 i £ \4
240 ~

Total cost in the short run
|

classified into fixed cost
ICAl fM 19 variable costs. Which one osf tﬂd

following is a variable cost? he
—

What is the total output when 2
hours of labour are employed?

o

a) Cost of kaw materials.

20 b) Cost.of equipment.
100 c) Interest payment on Past
180 borrowings.
B d) Payment of rent on building.
Ll o

J R
, ICAl SM ICAI sy
2(“" i - - .
| What is the marginal product of L
| the third hour of labour? ‘ In the short run, when the outpyt
T 20 | of a firm increases, its average
20 fixed cost:
50
LoO : —
240 ,

a) increases.
ICAl SM b) decregses.
=% c) remains constant.
ra%rqd,uct of the d) first declines and then rises.
of ur?
ICAl SM

, 21 Which one of the following is also
ICAI SM ||| known as planning curve?

es continuously

a) Long run average cost curve.
b) Short run average cost curve.
larginal cost. : - |]| ¢ Average variable cost curve.
xed cost. : d) Average total cost curve.

ariable cost. : 4_,J
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r"‘” ICAI SM

ICAI SM

If a firm moves from one point on a
production isoquant to another,
22 | \which of the following will not
happen.

Which of the i
26 following is g
example of an “implicit cost”? i

a) A change in the ratio in which the
inputs are combined to produce
output.

p) A change in the ratio of marginal
products of the inputs.

¢) A change in the marginal rate of
technical substitution.

d) A change in the level of output.

a) Interest that could have been edrned
on retained edrnings used by the
firm to finance expansion.

b) The payment of rent by the firm for
the building in which it is housed.

c) The interest payment made by the
firm for funds borrowed from a
bank.

d) The payment of wages by the firm.

ICAI SM

Use the following data to answer
questions 27-29.

with which of the following is the
23 | concept of marginal cost closely
related?

a) Variable cost.

b) Fixed cost.

c¢) Opportunity cost.
d) Economic cost.

Output | 0 | 1| 2 | 3 | 4 | 5| 6
(o)

Total Rs24 |rs.33|rs4 10| rs48 | rs.54 |rs.61|Rs.69
Cost 0 [4) 0 0

(1)

ICAl SM

ICAI SM

Which of the following statements

24 is correct?

The average fixed cost of 2 units of

&7 output is:

a) When the average cost is rising, the
marginal cost must also be rising.

b) When the average cost is rising, the
marginal cost must be falling.

¢) When the average cost is rising, the
marginal cost is above the average
cost.

d) When the average cost is falling, the
marginal cost must be rising.

a) Rs.80
b) Rs.85
c) Rs.120
d) Rs.205

ICAI SM

The marginal cost of the sixth unit

£ of output is:

ICAl SM

which of the following is an

¥ example of “explicit cost”?

a) Rs.133
b) Rs.75
c) Rs.80
d) Rs.450

a) The wages aproprietor could have
made.by working as an employee of
a large firm.

b) The ihcome that could have been
earned in alternative uses by the
resources owhned by the firm.

¢) The payment of wages by the firm.

d) The normal profit earned by a firm.

ICAI SM

Diminishing marginal returns start

a8 to occur between units:

a) 2 and 3.
b) 3 and 4.
c) 4 and 5.
d) 5 and 6.
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ICAI SM 1 s
30 | Marginal cost is defined as: Il . [ Which of the following staye, = :
4 |08 correct concerning
a) the change in total cost due to 4 3 relationships among the the
one uhit change in output. firm’s cost functions?
b) total cost divided by output. ‘
¢) the change in output due to a one ||| @) TC =—T'T'€C— T\T/cc: S Y
unit change in an input. ) TVC: (63 —Tvc.
d) total product divided by the ¢) TFC =TC — o
quantity of input. ‘ d) TC=TVC - : — |
ICAl SM m
Which of the following is true of 5 suppose ot;ltput increasm
31 | the relationship between the 35 | short run. Total cost will: he
marginal cost function and the
average cost function? ' _ B
' increase due’to an increase in f
a) If MC is greater than ATC, then ATC a) (crclacsts A (N fixeq
is falling. ol .
i increase. due to an increase ;
' l
b) Z:lf ATE: curve mli\:/claésects the MC variable costs only. h
5 TheveMaC mm(mu{’”t o O c) increase due to an increase in bot
Evelat nirr::\i}iux :;Zec 4 L0 fixed and variable costs.
; ' . d) decrease if the firm is in the regjoy
d) lf}:C/\r/\ecastisng(ess than ATC, then ATC is 6f diminishing returns.
—\‘
ICAl SM ! ICAI SM

Which of the following statements
concerning the long-run average

cost curve is false?

!

Which of the following statements
is true of the relationship among 3"5

32 .
the average cost functions?

a) ATC = AFC — AVC.
b) AVC = AFC + ATC.

c) AFC = ATC + AVC. ,
DWAECATC AVC. | a) It represents the least-cost (nput
combination for producing each
level of output.
o , ICAl SM b) It is derived from a series of short-
—ry run average cost curves.
T, W ¢) The short-run cost curve at the
‘ WhiCh Of the fo“owing is not a minimum Point of the long_run
53 ninant of the firm’s cost average, cost curve represents the
fu ! : least-cost plant size for all levels of
—- output.
° g . : d) As output increases, the amount of
a) The production function. capital employed by the firm
b) The price of labour. = » increasés along the curve.
c) Taxes. i : :
d) The price of the firm’s output. : !/J
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ICAI sM
¢ negatively-sloped (i.ec. falling)

h
Tart of the long-run average total

cost curve is due to which of the
following?

,.seconomies of scale.

37

) D iehing returns.
b) e difficulties €ncountered in
0 Coordi“atmg the many dctivities of
a large firm. v
The increase in productivity that
d) esults from specialization.
r

A firm has a wvarigble cost of |
Rs.mooatSunitsofoutpumli}‘:
ﬁxedcostsareﬁsgm.m.uiuhe;gl
theaveragebatalcostmtSlqitscfE‘
output? . ‘;

41

a) Rs.280 :
b) Rs.60 |
¢) Rs.120
d) Rs.1400

q

ICNSM

ICAl SM

The positively sloped (i.e. rising)
part of the long run average total
cost curve is due to which of the
following?

38

A firm’s average fixed cost is Rs.20 |
atGunitsafoutput.Whatm’llitE;‘
be at 4 units of output? {

42

2 piseconomies of scale.

b) mcreasling retuv.'ns.

¢) The firm being able +to tqlae
advantage of large-scale production
techniques as it expands its' output.
4) The increase in prodgctivxty that
results from specialization.

a) Rs.60 ‘;
b) Rs.30 ;
c) Rs.4p ]
d) Rs.20

lcms.M&

Which of the following statements 1

e is true?

‘
i
J

—

ICAL SM

A firm’s average total cost is Rs.300
at 5 units of output and Rs.320 at 6
units of output. The marginal cost
of producing the 6th unit is:

39

a)
b)

<
O
S
O
9
3
O
Kl
L ¢
|

- - [ ol - n
ine service 07 4a hnhousawn
conslgdereg progu

When a man

Q.
p—

!
|
|
{
.
{
{

T1on. i
|
|

1
]

créates matter.

a) Rs.20
b) Rs.120
c) Rs.320
d) Rs.420

ICAI sm

44 Which of the following is a

function of an entrepreneur?

ICAI SM

A firm producing 7 units of output
has an average total cost of Rs.150
and has to pay Rs.350 to its fixed
factors of production whether it
Prgéguce's'or hot. How much of the
; average total cost is made up of
—_| variable costs?

40

a) Initiatin
b) Risk bea
¢) Innovating.
d) All of the above.

(48]

ICAI sSM

a) Rs.200
) Rs.50
) Rs.300
9 Rs.100

In describing a given production

1O "AE 1 - . ~ p? g
'9 pdfs, phOzocopxes, Xerox, sharing or seling MVSIR's bool
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{
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45 | technology, the short run is best
described as lasting:
a) up to six months from now

up to five years from now.
as long as all inputs are fixed.
as long as at least one input is fixed.

b)
c)
d)

penaltie




g 2024

A Foundation — JUne <

ICAI SM \ .
: iable p %
le are | The law of varia TOpo
creasing returns to sca u Mlone
16 | rime shon i inpues ars || g | e under al of he i )
eased by 10% then: por: Xoep
incr assumption that: 4,
: ‘ %. !
: ill also decrease by 10 el i gy 5 cha \
;'} outpuz xill increase by 10%. a) the ._echn?:?gby = k» rg;‘;‘g_
Rl ill increase by less than by there must’ be someyiriPag.
c) output wi ¢ guantity is kRept fixed. G
10%. der only physical ipn
27 3 e than c) we conside Y PUYSIEGl inp,.
d) output will increase by mor not economically pror’éta:ﬁ:;;"
10%, monetary terms. ) ’
ICAl SM d) the technology isigiven angd Stabl,

The production function is a
47 | relationship between a given
combination of inputs and:

a) another combination that yields the
same output.
b) the highest resulting output.

_. & Ay
51 | Whatis a production function;

a) Technical relatiorwshrm

: L Wee,

physical inputs and physical Ooutn
b) Relationship between fixed ,-’;:'-J_
c) the increase in output generated by of ZVOdggZ'On and variable factoy, i
one-unit increase in one output. pro ‘l_J_Ct-l 2 P )
d) all levels of output that can be c) Relationship between a facty,

v

generated by those inputs. production and the utility Creaty
by it
ICAI SM d) Relationship between quantity

output produced and time takep ..
If the marginal product of labour is produce the output. "
48 | below the average product of ——
labour, it must be true that: ‘IC:;
a) the marginal product of labour is Laws of production does m“‘
fl=gacive 32 | include ......
b) the marginal product of labour is : —
zero. a) returns to scale.
c) the average product of labour is b) law of diminishing returns t0
falling. factor.
d) the average product of labour is c) law of variable proportions.
hegative. d) least cost combination of factors.
- : i ICAl SM 53 | An iso quant shows
e . a) All the alternative combinations o |}
| The average product of labour ie two inputs that can be produced by| |1
49 | maximize wheh marginal product usthg a given set of output fully
. -i!fijf;[qb | E Ry > znd (}:\ th? best possible vgay. . : 4
el o R * ' the alternative combinations ¢
sl };t!_ kit vl 1} two  products among which ¢
a) equa!s‘_ﬁ‘r..;/the average product of producer is indifferent because they
labour. ' : yleld the same profit. ,
b) equals zero. ‘ c) All the alternative combinations o
¢) is maximized. : tWO inputs that yield the same totdl
d) none of the above. product. !

d) Both (b) and (c).
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(\‘l\ f()ll’](iulf IC’H

: scale exist b Sl

geconomies of scal st becayse Whi

7 firm Increases its aray £ el :s 57 huc.h of the follow;
i g €ost in the short run

d) rent of the factor
pour ,?md i mahggement can { ¢
a) ls'éjﬂcialize in their activitjec Mmore. b) wages paid to the factory labouyr.

i ! c) intere
) AS @ larger input buyer, the firm can ﬁhancsizl ng?;r:lents oh = borrowed

= June 2024

Vo

hg is a variable
?

‘ ' t lower
‘ et finance a Cost and
purchase (nputs at a lowey Per unit . Zgz:’;sﬂnetnton e genger et
cost. B
the firm can afford to employ more B =
cophisticated technology in ICAI SM
4 All of these. 5 b
& e The efficient scale of production is
N N S8 | the quantity of output that

Minimizes
’5'5-' The production function:

a) is th'e relat«.onshtp between the Cbl; 23::23: Eg‘tﬁ Egiz
quantity of NPUts used and the c) .average variable cost
resulting quantity of a product. d) marginal cost '

b) Tells us the maximum attainaple '
output from a given Combination of
inputs.

c) Expresses the technological
relationship between ihputs _ ang
output of a product. In the short run, the firm's product

d) All the above. L show that

ICAl SM

ICAl SM
56 ;2:30 prodl:lc?:zon process described deTotal product begins to e
w exhibits. i
when average product begins to
Number of Workers o’utput decrease but continues to ihcrease
at a decreasing rate.
0 0 b) When marginal product is equal to
daverage product, average product (s
! 5 decreasing but at its highest.
2 40 c) When the marginal product curve
cuts the average product curve from
3 50 below, the average product is equal
s e—— to marginal product.

a) constant marginal product of labour. d) In stage two, total product increases
diminishing marginhal product of at a diminishing rate and reaches
labour. Mmaximum at the end of this stage.

9 increasing return to scale.
thcreasing marginal product of
laboyr.,
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\
ICAl spm T
rishing MerInal returns for When | T C_MSM'
e first four units of a yoriap |l 69 aver: s tarinal costs are below
& is exhibited by ¢the total ge total costs, |
v sequence: a) average fixed COsts are rising
/ ising.
T average total costs are falling.
180, 260 ;% average total costs grd rising.
3 100, Jeo200 | &/ average total costs are minimized.
' 90, 120, 140 i

—i=2] fl E  IcAlsm
ICAI SM |

“rm | 70 | A firm’s long-run" average total
~ the following diagram +to cost curve i
::wgrm question given below it a) ldentical to its

long-run marginal-

| cost curvey
‘ 1-'/7 b) Clso ts “long-run supply curve
e Total output €causenit explains the relationship
sF— between “price and quantity
5. supplied.

5 : ) In fact the average total cost curve
%ﬁ ofithe Optimal plant in the short run
Z as.t tries to produce at least cost.

i diTangent to qll the curves of short-
. 'Un average total cost.
. R iy Y © )
al npu o i
(wotkess per day) o ICAI SM
: : In the long run, if a very small
| The m'a:‘gma_lt gl;y;;garp{oduci‘:tﬁf‘ 71 | factory were to expand itsanle of
: ghe thg_. . 2dads berriis ;;;ftv: operations, it is likely that it
| MP of 9 9 would initially experience
4) Six; fourth a) an increase in pollution level.
p) Six; third b) diseconomies of scale.
 ¢) Six; fifth ¢) economies of scale.
d) Six; sixth

d) constant returns to scale.

ICAI SM 72 | A firm’s long-run average total
cost curve is.

ftn:the third O'Fﬁthe*tftree stages of a) ldentical to its long-run marginal-

production: b cost curve as all factors are
A ?iF variable.
b) Also its long-run total cost curve
- because it explains the relationship
a) the marginal product curve has a cost and quantity supplied in the
positive slope. long run.
%) the Wmarginal product curve lies c) In fact the average total cost curve
| completely below the average of the optimal plant in the short run
product curve. ds it tries to produce at least cost.
19 total produce increases. d) Tangent to all short-run average
d) Mmarginal product is positive. total cost the curves and represents
the lowest average total cost for
‘\ producing each level of output.
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wr
N
r/
ICAI SM ( ‘Q" |
Which of the following statements || 7g | The MOst ‘""Pm“"tm
73 | describes increasing returns to " | entrepreneur isto __ -y
gedist a) Innovate
a) Doubling of all inputs used leads to ||| b) Bear the sense of responsibily,
doubling of the output. ¢) Finance
b) Increasing the inputs by 50% leads ||| d) _Earn profit |
to a 25% increase in output. ‘\\\
c) Increasing inputs by 1/4 leads to ah ‘m
thcrease in o |

d) None of the :;:g\t;c:. i Baonamle castsgf Moduction di

77 | from  aceounting  cogy M
production because of
ICAl SM
; ‘ : a) Economic eosts include m
The marginal cost for a firm of for firde s, (g
producing the 9th unit of output is accounting cests do nm““ Whij,
74 | Rs. 20. Average cost at the same b) Accounting e _
level of output is Rs. 15. which of oppartunity  costs Which”wluae
the following must be true? deducted later to find paid Li:f

a) marginal cost and average' cost are costs, t
both falling ¢) Agcounting cOsts ineluge

b) marginal cost and average cost are expenditures for hired resoyr
both rising while economic costs do not.

¢) marginal cost is rising and averadge d) Economic costs adc_! the Opportunity
cost is falling cost of a firm which uses its oy

d) it is impossible to tell if either of the resources.
curves are rising or falling .

ICAI SM
: !
- 78 | In figure below, possible n?%

75 | Implicit cost can be defined as why the average variable cot

curve approaches the  averag

a) Money payments made to theinon- total cost curve as output rises is: |
owners of the firm for the self- J
owned factors employed in the il |
business and therefore not entered | yd o ave |
into books of accounts. Cost \ e

b) Money nhot paid out to the owners of | ;‘,‘/'
the firm for the self-owned factors "
employed in a. _ business and
therefore not entered into books of
accounts.

c) Money payments which the self- O B
owned and employed resources could L ——easy
have earhed in their next best a) Fixed costs are falling while totd!|
alternative employment and costs are rising at rising output
therefore entered into books of b) Total costs are rising and avera i :,
accounts. L costs are also rising. i

d) Money payments which the self- ¢) Marginal costs are above AV
owned and employed resources earn variable costs as output rises.
in their best use and therefore ||| d) Average fixed costs are falling  E8
entered into book of accounts. output rises. |
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ICAI sM

gy Toeal cost
b)) Awerage cost
) Varicble cost
d) Quartity of output

The falling part of long run average
g3 | COSt curve is tangent to the X

— of correspondin rt run
average cost curve(s). S

a) falling part

b) rising part

c) minimum paint
d) None of the above:

-

r
W% ICAI SM

g) Fixed costs wvary with change in
Ot

b) ¥ we add total variable cost and
totol fixed cost we get the average
cost.

€) Marginal cost is the result of total
cost amwnided by mumber of units

d) Total cost is obtagined by adding up

84 | external economies of scale in long

—_——e
Which one of the following is an

run? I
P

bt

a) Risk bearing economies

b) Financial eeenhomies

¢) Development of skill labour
d) None of the above

the fixed cost and total variable
cost.

7 ICAI SM
. | Which of the following statements

is incorrect? i

also called, the

71

P) Total revenuec = price pergunit x
mamber of units sold.

€) Opportumity cost is alsg hcalled
glternative cost.

d) If total revenus isqdivided by the
mamber of units sold we get
marginal revenue.

oy ICAI SM
= . -
M%’mmnm
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MCQ Shastra - vom,,,‘el

MTP Aug 18, SEQ

\A

.

_ - _ | Which one of the follom

. | Production may be defined as an 6 national objective of an enterpr?tq
act of 57

: L Lk a) To provide fair deal to the EMP oy 0"

[ C»’?.H--T,{Jj' utl’,.!ty at different levels. €

@) earning profit inequalit

N nr b) To remove y

i ,.e>-t_?_ymg i opportunities &.  Provide ff"

&) providing services . all +o% w ajy

opportusmty to ork and %
22 progress. _
| PYQ Jun c) To produce accerding to Natigp,,
2 | tand is heterogeneous’ implies priorities.
which of the following? d) To help the. country become Sel
: . reliant & avoid dependence op Othe,

Z) Two lands are alike P he E

) Two lands are not alike ————

<) Two lands are fixed ‘\A\

2) Two lands are mobile ’ : . ‘_\Q‘

An enterprise has social objectiye,
MTP Mar 19 7 ah
2 . Which of the following is not the _ T
characteristic of Labour? a) It has to make profit from the
} S My 3 society.

g) Laobour is mgn(yl Perishable’ in the b) It lives in society & it cannot gro,,
sense that a day’s labour lost cannot unless it meets the needs Of the
oe completely recovered society.

e ;L',:,SC,U:_ lks; ms{iparab[e FiE Eh ¢) It has a separate legal identity.

g ewsier inmeel) o d) None of these

€) Lagoour hgas aq strong bargaining
PoweSTr \\

4) The supply of labour and wage rate A.Q,
gre cirectly related in the initial = N
S honc R 2 g Human objectives of an enterprise
= are-

i MTP Apr 19 a) To provide fair deal to the employees
! C t different levels.

4 | Capitalisa : a :
! b) To develop new skills and abilities
| @) Stock concept and  provide a work climate in

8) Flow Concept which they will grow mature.

| © Both (a) and (b) c) Only (A)

| ) None of the above d) Both (A) and (B)

® MTP Mar 19 AG
. b ] - 4"

f s of the following statements y ] . 1

; is inc% | g | Which of the following is not ar

. P problem of an enterprise?

i @) The serviees of doctors, lawyers,

i tzachers . etc. gre terime as . ‘ :

oroduction : a) Problem relating to location & size.
B) Man cannot create Matter b) Problem' of mgkmg hgge profit. |
o) Accumulation of capital does not c) Problem relating to finance. ,

4)

depend solely on income
None of the above

d)

Problem relating to organizationd
Structure.

{
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CA

is fixed?

ﬂ. f""l :

O

T ———
mﬂn'wanhlch fmref

Ih the third ph
| variable propor:io:i,e
a) Zero

(MVSIR)

; |
. 11 .
‘ﬂ capical | B Negative
o oogilding | €) Positive
2 of these ) c
g None of g | None of these
d T | —
/ MTP Oct 19 |
— I} , MTP Oct 19
production function |/ N -
[l 15 When Marginal product is zerg,
— el gl then Totqg| product is -
Returns t0 a factor a) Zero
i) geturns o0 scale b) Falling
% sotha and b ¢) Rising
i) None of these d) Maximum
d L7
——
A.Q. Extra McQ
L — T ech List | with List Il and ch -
paatch List | wi Il and choose Which of the following stage(s) of
the correct answer using the codes 16 | Law of Variable Proportion are
given below known as “economic non-sense” or
Saree T | “economic absurdity”
A MP is larger than AP a) Stage 1
; . b) Stage 2
- 2 MP is equal to AP ¢) Stage 3
C MP _is smaller than AP d) Both (a) & (c)
LIST 2
: . : MTP Aug 18
l. AP (s at its maximum
0 AP is falling Read table & answer questions 17-18
HI. AP is rising Labour Output Average Marginal
Input Product Product
Codes: a b c 0 0 - =
(A) | Il [ 2 25
® i 1 1 4 20
© 1 1l 1 2 120
| L > ; g 140
‘ D Hl Il
. 10 14
= 10
\ W . MTP Mar 21 L
""_dhcer's demand for a factor MTP Aug 18
groguction is governed by the 17 | At a labour of 2, output is:
of that factor
a) 25
_dr_ginal productivity L
ailability O L
ofitability d 75
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MTP Aug 18 m
homogeneous Pry
|

At a labour | '
12 nput of 4, output per Linear
worker is: 22 | means: fuhcu%
a) Input and output mcre\
{

a) 20 3 pr
es by

b) 22.5 I proportions. > By sqp,
c) 45 b) Input increases by some prop

d) 90 and output I(ncrease moreo"‘t‘mng

proportionately the,

MTP Aug 18 ¢) Input increase by some propg.. |

e 3 and output lecs than Ortig,

19 | The law of diminishing returns: oroportionately the

a) States that beyond some level of a d) None of these

variable input, the average product x
of that variable input begins to , m
increase steadily. ; =
. , ‘ A factor of production |_c,x
Ass 2z that ti s 3 ical X A said
b) umes that there is technologic 23 superior if its expenditure elastt?qw

improvement over time.
¢) States that beyond some level of a a) is negative o
variable input, the marginal product b) lies ihunit interval
of that variable begins to decrease c) exceeds unity
steadily. d) is zero
d) Lnféorm: a firm whether or not to | —
se a factor input. .
P MTPJunu
MTP Mar 22 : : e
: 24 Production function:
A rational producer will always Q = 4. LA K@)
-

20 | produce in which stage of law of
variable proportion: ‘ : :

a) increasing returns to scale
b) decreasing returns to scale

a) Stage |
b) Stage ll ¢) constant returns to scale
c) Stage Il d) increasing returns to a factor

d) None of these

-l A-Q. ' MTP Nov 22, May 33
. ﬂ
If all inputs are inc eased in the
same pr on, then it is the case In the Cobb-Douglas production
of \ function given as:
o ‘ 25 | @=A. L2 . KO-
21 | 3 short run production function share of labour in total production
2. Lon roduction function is ,
3. Law of Variable Proportion |
4. ’a ) of Returns to Scale ——
A ' a) a

a) 1&2only b) 1-a

b) 2 & 32 only ‘ c) A -
c) 1&4only d) alL ‘
d) 2 & 4 only L
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 MEa Shastra = Volume |

i (A AR [xo=eost tine is
R
- Redzen o market rate of
“exehange between the twe inputs
(& eonutant,

Nev 22, A6, |

a) (A) {8 true and (R) (s false

1) Both (A) and (R) are true & (1) (s the
carrect explanation of (A)

B Both (A) and (R) are true & (1) (& not
the correct explanation of (A)

B @) i.s false and (R) (s true

MTP Mar 22

Whie dmrlbéa préduaslan funetion
Ha the reldtlonship batwesn tha

AR L Aneuie of am%s{an ba

produced and the hput re
methes thit OuEpUE P fed to

L oy i s

) Samuelaon
) Malthes

@) Fieks

f) None of these

S o SSICRSEIECIE -

 MTP Dec 22, A,

: ! Cost Indurred which  has
1 A a1 | 'no relevance’ to future planning

b1 I The slepe of lsoeost line (s are

| " O e e . e T ———————

D wir i) Marginedl Gust

P rw 1) Sunk Cost

B orxw ¢) Boouk Gust

1) None of these d) Average cCosl

3 MTP Jun 22 MTP Apr 21

B o ' R B

Whieh of the following (g correct
i regarding the slope of igo=cost line?
Slope of (so-cost line can change
28 | due to
' 1. Change in factor(s) price(s)
2. €hange in total outlay or total
QOst.

B 1only

p) 2 only

8 1 &2 both

) None of these

45| Whieh of the following Is a variable
cost in the short Fun?

- B

i) Rent

b) Wages

¢) Internal  payments on
finanectal capital

d) None of these

borrowed

MTP Mar 18, Apr 19, Oct 20

R

L MTP Jun 22
49

il %‘ﬁ

| 1soquant L ade up of twe
| words [.e., 180 & Quant. Where Iso
| means equal then Quant means-

S

Suppose that an owner is earning
total revenue of Rs. 1, 00,000 and is
ineurring explicit cost of Rs.
60,000, If the owner could work for
another company for Rs. 30,000 a
year, we would conclude that:

33

b ¢
0 Quantity sold
p) Outp

8 Quantity demanded
D Quantity supplicd

a) The firm is earning economic profit
or Ra 10,000

b) The firm ls earning accounting profit
or Rs, 40,000

¢) The firm ls earning economic profit

of Rs, 40,000

d) Both (a) and (b)

Aaking pdfs, photocoples, xerox, sharing of seling MVSIR's books Is not allowed. It will lead
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MCQ Shastra - v,,“m
~ |

MTP Aug 18, May 20

M

a) Economic profitwill be equal to

accounting profit.
b) Economic profitwill be
accounting profit.
¢) econoric profits will be zero.
d) economic profit will be more than

accounting profit

less than

\
sura) is a high schog i

g4 | 1f thare are implicit costs of thinking  about bcc;m;,,\""‘s
production: economic research ,:4,“5 %

39 | with an economic degre, ‘:’kﬁ
looking for a job aﬁm;%""d
research assistant, For .y,

the college tuition an OPporty, F:

Shyam just graduated frop, ..o
ig

e e g T

MTP Oct 19

In the production of wheat, all of
the following are variable factors
that are used by the farmer

except-

35

cost?
—3

a) Sura)

b) Shyam

c) Both Suraj and Shyam
d) Neither Suraj nor Shyam

—

a) The seed and fertilizer used when
the crop is planted

b) The field that has been cleared of
trees and in which the crop |15
planted

¢) The tractor used by the farmer in
planting and cultivating not only
wheat but also corn and barley

d) The number of hours that the
farmer spends in cultivating the
wheat fields

MTP Oct 19

read the following paragraph “m
question no. 14

Nicole owns a small pottery factory, She
can make 1,000 pieces of pottery per
year and sell them for Rs. 100 each, 4
costs Nicole Rs, 20,000 for the raw
materials to produce the 1,000 pieces o
péttery. She has invested Rs. 1,00,000 {,
hér factory and equipment: Rs. 50,000
from her savings and Rs. 50,000 borroye,
at 10 percent. (Assume that she could
have loaned her money out at 10 per
cént too.) Nicole can work at a
completing pottery factory for Rs. 40,009
per year.

|
|
|
|
|

36 | Example of Fixed cost is-

—

a) Electricity bill

b) Interest on loans

¢) Expenses on raw material
d) Wages of daily workers

MTP Oct 13

The economic profit at Nicole’s

40 factory is:

MTP Apr 19

37 | Variable cost includes the cost of

a) Rs. 75,000
b) Rs. 35,000
c) Rs. 80000
d) Rs. 30000 J

a) Buying land and building
b) Hire charges of machinery
c) Insurance premium

d) Material bought

MTP Mar 22

Which of the following is not part
41 | of the opportunity cost of going on
holiday?

S

- MTP Mar 19

ic cost means

38

a) Accounting cost + Implicit cost
b) Accounting cost + Marginal cost
¢) Cash cost + Opportunity cost

d) Implicit cost

Making pdfs, photocoples, xerox, shari
|

CA Mohnish Vora (MVSIR)

a) The money you spent on a theatr®
show ‘
b) The money you could have made if
you had stayed at home and worked
€) The money you spent on airling|
tickets

d) The money you spent on foci__J:
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PYQ Jun 22

MTP Oct 19

Total economic costs =

o explicit
42 costs + Implicit cost +

a) Super normal profit
b) Super normal loss
c) Normal profit

d) Economic profit

The total cost of producing 30 units
of output is Rs. 300. If average

MTP Nov 22

Given TC = 2000 + 15Q - 6Q2 + Q3,

#3 | How much is TFC at Q = 20007

[

a) 2000

b) 975

c) 30,000

d) Can’t be determined

A.Q.

The area of a rectangle formed by
drawing perpendiculars on both
axis from a point on AFC curve is
equal to

44

47 | fixed cost at this level of output is
Rs. 7, then the total variable cost
will be — &

a) Rs. 160

b) Rs. 140

c) Rs. 90

d) Rs. 120

A.Q.
The areas of all rectangles formed

48 by drawing perpendiculars on both
axis from different points on AFC
curve are

a) same

b) different

c) (A) or (B)
d) can’t be determined

a) Total cost

b) Marginal cost
c) Average cost
d) Total fixed cost

MTP Mar 18

49

Suppose the short run cost function
can be written as TC = 250 + 10Q.
Average Fixed cost equals:

MTP Apr 21

The Shape of TC Curve of ‘the

a) 250/Q

b) 250

c) 10

d) 250/Q + 10

¢) Inverse S Shape
d) None of these

i 4> monopolist is PYQ Jun 22
Which cost decreases continuously
a) U Shape >0 | with increase in production ?
b) S Shape

a) Average fixed cost

b) Average variable cost
¢) Marginal cost

d) Average total cost

= e MTP Apr 21

A mf%c_ompény has TFC = 120

lakhs, TVC = 100Q + 7Q2 + 0.25@3

Extra MCQ

| Caleulate the Mc?
i Fu .@

a) 100 + 14Q + 0.75Q2
b) 120 + 7Q2 + 0.25Q>
€) 100 + 7Q2 + 0.25Q3
d) 107.25

51

A firm’s average variable cost is Rs.
200 at 4 units of output and Rs. 230
at 5 units of output. Total Fixed
Cost = Rs 100. The marginal cost of
producing the 5th unit is ?

a) Rs. 30
b) Rs. 350
c) Rs. 230
d) Rs. 130

Making pdfs, photocopies, xerox, sharing or selling MVSIR's books is not allowed. It will lead
fo strict legal action with monetary penalties
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McQ Shastra - v°“m
- — R

T ————

. . MTP Jun
[ Whieh of the following is corr

| regarding long run cost?
| ast cost of producing  each
utput ”

: is lnvutop{\?' SAC

‘ Extra ME@ L 1
nal cost (s tha slopa of Diminishing returns arg ;3
- S : - - §7 “and increasing rep, "¢ t
Eo s | T Pl
@) Tatal cost e i :
B) Total Fixed Cost a) Intarnal diseconomiegs, (5~
¢) Total Variable Cost gconomies haj
d) Borh (a) & (e) b) Internal economies, Intern
e — diseconomies al
MTP Dee 22, A.Q. ¢) External diseconomies, Intern
i e —————— - - . eeonomies al
B2 [ Whieh of fellowing (s incorrect ? d) Internal diseconomies,  exter,
a) TCmAC x Q economies al
L) ¥ ME wTE —
€) ¥ MCw Tve MTP Mar 3
[ g ME +TFEmTE Certain benefit an Industry
58 | when it expands its scalem
MTP Apr 19 production is known as: %
g4 | When average cost eurve (s rising ||| 4) mternal economies _iT e
then, marginal cost ! b) diseconomies
a) Must be decreasing ¢) external economies
b) Must be above the average cost ||| 4 Profit
curve ' ' ———,
cg Must be constant i MTP Jun 2
) Must be equal to average cost deonomies .and diseconomm

scale explain why the

a)
b)

c)
)

- = A
short run average fixed cost curye
declines so long as output increases
marginal cost curve must intersect
the minimum point the firms
average variable cost curve.
long run average cost curve is
typically U-shaped.
short run average total cost curve is
U~ shaped.

MTP Mar 21, Apr 23

60

The distinction between selling
cost and production cost was
made by:

i jui’bmﬁtl on l

a) Chamberlin

b) Sweezy

¢) Mrs Joan Robinson
~d) None of these

| None of these

B

| MHH |

!

l] [ )!i ) )} ofr )0, XBI(

1o strict |
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o | —
| . | MTP May 23 MTP May 23
- | X,Yand z are confused with the :
; formula for defining TC , '
, a) XSays:TC= w?; +TFC g2 | Which ct.;m is not fmﬂ"‘ by
61 | b) YSays: TC=AC x output fixed cost - »
_ c) ZSays: TC = IMC + TFC - 2
: Identify who amongst them
is correct a) MC Curve
b) TC Curve
a) X ¢) AC Curve ‘
10 d) AFC Curve 1
E)Z ‘
d) All of them

Answer Key — Economics Chapter 3 |

1 A 11 B 21 D 31 B 41 D 51 B 61 D

37 D 47 | B s7 | A
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ICAI SM

Cai san |

Suppose g firm is producing a lewel |
of output such thot MR > MC, wbcs

I L
(1 should be firm do to maxrize =
1 | In the table below what will be | | ;mﬁt? ok ¥ i
equilibrium market price? i -
1l a) The firm showuld do gl o
Price | Demand (tonnes Supply (tonnes per||| o) The firm should hirz less lagour
(rs.) per annum) annum) || © The firm should increcseprice
11 2) The firm should ingregse ouwssurs
1 1000 400 |
2 900 500 ; BCAR Sha
3 800 | 600 Il 5 Marginal Reverue is egual to-
4 700 | 700 I - I A By 2R
|| a) The change.if price divided by the
5 600 | 800 changelin outout
6 500 | 900 b) The change “in guantity divides by
7 400 1000 Il © ‘:':s /',:,f; i P Q due D c one
8 300 1100 || UAiE :"a:rdga N ULt
b) RS 3 ; ST LIS
c) Rs. 4 i Y
‘ ICAl w
d) Rs.5 | il
' Suppose that a sole proprietorship |
ICAI SM ‘ is earning total revenues of Rs. |
' i f i i s d bl 1 it ‘
Assume that when price is Rs. 20, || 1’00’000, e L,S maxrpnrg e l
" s = ‘ 6 costs of Rs. 75,000. i the cwmner |
the quantity demanded is 9 units, || corild s e o L ;
and when price is Rs. 19, the || for ‘Rs. 30.000 o e.ar“ws ufouE l.db g
5 | quantity demanded is 10 units. | Coclide T T :
Based on this information, what is | . :
the marginal revenue resulting a) The firm is incurring an economic
from an increase in output from 9 los<
units to 10 units. b) Implicit costs are Rs. 25,000
a) Rs. 20 c) _lr;i fr:fc economic cosis are Rs.
b) Rs. 19 N The B b et o S
C) Rs. 10 3 ;;":,Of’_:"—"::‘::‘ o 7-: ';—"" 5 E
d) Rs. 1 bl b fr I e
Assume that when price is Rs. 20, ICAL SM
the quantity demanded is 15 units, 3
and when price is Rs. 18, the - 2 - !
, X s Which the following is not an |
3 quanti@;:;*demanded is 16 units. > essenﬁ;f cmf:mon g of pure |
% Based on this information, what is competition? !
th ?grgina! revenue resulting : F
& from an increase in output from 15 :
e 16 units? - r
= a) Large number of buyers and sellers
a) Rs. 18 b) Homogeneous product
b) Rs. 16 Lt c) Freedom of entry
‘ :g I-RRS‘ 12 d) Absence of transport cost
& iy 2
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ICAI SM . Icar g
What is the shape of the demand oM e _given supply m‘
g | curve faced by a firm under perfect | decreaseli demand causes |
competition? a) an overall decrease in prm\;
a) Horizontal increase in equilibrium gquantity, an |
b) Vertical b) an overall incredse in price by |
c) Positively sloped , decrease in equilibrium dquantity, g
d) Negatively sloped c) an overall decrease n price apg
decrease in equilibrium quantity,
ICAl SM d) no change in overall price but
reduction in equilibrium quantity !
Which is the first order condition —
. . \\
9 for the profit of a firm to be Ical sy
maximum? i -
5|1t is assumed in economic thegn]
Cbl; AC = MR 1 that i ry
MC = MR : ) =
c) MR = AR x a) decision making within the firm g
d) AC = AR usually = undertaken by managers |
1 but hever by the owners. |
ICAI SM b) the _ulﬁmate goal of. the firm is tg
maximise profits, regardless of firm
10 Which of the following is not a sizer oOr type of business |
characteristic of a “price-taker”? organisation.
T e e c) ‘as the firm’s size increases, so do its|
b) AR = Price 90‘”5{9 Y, & ,
¢) Negatively — sloped demand curve a Ly Ddslc .teC‘S‘O” makind ;UREEg;
d) Marginal Revenue = Price Ay oA OWNEens:
ICAI SM |

ICAL SM

which of the following statements

11 | is false?

Assume that consumers’ incomes |
and the number of sellers in the
14 market for good A both decreasé

Based upon this information, we

a) Economic costs include the can conclude, with certainty, that
opportunity costs of the resources the equilibrium: I
owned by the firm. {
b) Accounting costs include only

explicit costs. -

¢) Economic ,r»,@ﬂt_\{uill always be less
than accounting profit if resources
owned and used by the firm have
any opportunity costs. a) price will increase.

d) Accounting profit is equal to total b) price will decrease.
revenue less implicit costs. S ¢) quantity will increase.

d) quantity will decrease.
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ICAl SM , 1AL /4
| If supply increases in a greater Suppose  the  technulugy  fuov
15 proportion than demand | producing ersonal  Aovripubars
L Vs Impraves and, at the sawne ¢ive, |
individuals diseever new ides for |
a) The new equilibrium price and 17 | personal tamputers o tHat thara is |
quantity will be greater than the greater = utifisation M pareondl |
original equilibrium  price and computers. Which of the folicuwing |
quantity. will happen t6 @quilorivm price |
b) The new equilibrium price will be ||| 4nd equilibriurn quaritity?
greater than the original equilibrium a) Price will increasty duantity coanor
price but equilibrium quantity will be determined
be higher. b) Price will déerease; quantity tonnot |
c) The new equilibrium price and be determined. i
quantity will be lower than the €) Quantity Wil tnereases; price cavnviest |
original equilibrium  price and be determiridd !
quantity. d) Quantity will decrease; price connot |
d) The new equilibrium price will be be deterrmined
lower than the original equilibrium : — e
and the new equilibrium quantity ICAS SM l
will be higher. — : e
15 | Which of the following is nos 4'
condition of perfact covmpetition? }
a) Alarge nurnber of firrms I
ICAl SM b) Perfect mobility of factors, '
€) Informative advertising €6 ernsure |
that CONSUMmers hawve aetrds |
information. {
Assume that in the market for d) Freedom of entry and exit inte and |
: good Z there is a simultaneous out of the market,
16 | increase in demand and  the ~— e et
g::antnty supplied. The result will 1CAl ShA
Which of the following is net 4
19 | characteristic of a perfactly
competitive market?
a) an incredse in_equilibrium price and T
dquantity.
b) a decrease in equilibrium price and
quantity. a) Large number of firms in the
€) an increase in equilibrium quantity industry. I
ah_d uncertain effect on equilibrium b) Outputs of the firms are perfect [
prices ‘ ‘ substitutes for one another, I
d) a decreage in equilibrium price and ¢) Firms face downward-sloving
thcrease (n equilibrium quantity. demand curves, i
d) Resources are very mobile, {

xerox, sharing or selling MVSIR's books is nof allowsd. If
legal action with monetary
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ICAI SM E' ICay o
: For a price-taking fih

Which of the following is not 4 24

20 | characteristic of monopolistic - .
competition? a)Rmarginalieveniiesis ‘65%;
: b) marginal revenue is equal to Pricce'

a) Ease of entry into the industry. c) margindl revenue is greatey th-
ap

b) Product differentiation. price.

¢) A relatively large humber of sellers. d) the relgtionship between b

d) A homogeneous product. revenue and price s indetermghagt'”qff
e |

L

Monopolistic competition di
from perfect competition pr;mqr“';‘

Monopoly may arise in a product
\
because |

2Ll market because 25

a) A significantly important resource | . R
for the production of the commodity a) in monopolistic competition, ﬁr"YIs;

is owned by a single firm. can differentiate their products

b) The government has given the firm b) in perfect competition, firms v,
patent right to produce the differentiate their products. n‘
commodity. c) in. monopolistic competition, epty|

c) The costs of production and, into the industry is blocked. "
economies of scale makes d) -in ‘monopolistic competition, there’
production by a, sihgle producer are relatively few barriers to entry
more efficient. - : \J

d) All the above. \ . ICAl s

] A el

22 Oligopolistic industries are The long-rur} e.qu(hbrlum_oytcomes;
characterized by: : 2k | in monopohstlc. competition and|

; : perfect competition are similar|

a) a few dominant firms _and because in both market structures
substantial barriers to entry. S| S ;

b) a few large firms and 'ho entry a) the efficient output level will be
barriers. ‘ produced in the long run. |

c) a large number of small firms and no b) firms will be producing at minimum|
entry barriers. _ average cost.

d) one dominant firm and low entry c) firms will only earn a.normal profit. |
barriers. , d) firms realise all economies of scale. |

Price-taking firms, i.e., firms that , |
operate in a perfectly competitive | : ' ICAI S
S mlarket, arehsaid t': be “small” - ; g
relative to the market. Which of : 2 ;
| the following best describes this 27 :‘(’;‘;Ch of the following s tl:;
smallness? » 1 " | distinguishing characteristic
' oligopolies?
a) The individual firm must have fewer ||| ) Tl B

than 10 employees.
e A inc{(jvi?ual dﬁrm faces q a) A standardized duct
downward-sloping demand curve. lzed produc : !
¢) The individual firm has assets of less lcj)) _-H;': ?hotifrgfgrojit maximizat}ﬁ%s
: C ependence among

than Rs. 20 lakhs.
d) The individual firm is unable to ) Downward-s(oping demand U’

affect wmarket price through its  faced by firms.

output decisions, j)
Making pdfs, photocopies, xerox. sharing or selling MVS|R?
fo strict legal actior :
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a) Monapoly
b) Imperfect Competition
¢c) Oligopoly

d) Perfect competttnon

ICAI SM

is also

a) Proﬁt Curve

b) Demand Curve

¢) Average Cost Curve
d) Indifference Curve

ICAI SM

o ik Under which of the following forms

have no control
:es product?

over the price of

v

| of market structure does a firm |

a) Monapo(y

b) Monopolistic competition
c) Oligopoly

d) Perfect competition

" icAlsm |

minatmg monopoty implies
~ the
t prices for his commodaty‘

monopolist  charges |

B e, mmemasemme - e—

a) from different groups. of consumers
| b) for different uses
at different places

i d) any of the above._ |

Bonly if the elasticity of
n different sub- markets

PR ———————
i

/}//"“ "

(4G /,/ //{//// i Ié<

e A R TR e L 9-

y A

| U) ther€ axe O rhony ouyers

a) the
covnphets,

price;

Wios
e tr i

srE,

27 A
Arer 7

€5 PECHA

st seilers
it the morket trict ovvy ncosidud
fikrn connce cffect the wor st

ealh firm producss ¢ Norcgeresis
&

n.// e o //_/’, S

¥ FFF

wm%

|
‘|
Suppmmwmmwl
35 | the XYZ Co.
to the right. We mmm\
a) the firm opergtes in g perfecthy |

competitive market.
the firm can sell gll thet i
at the established market pricz.
c) the XYZ Co. is i g pri

the market becguse it w
price to sell
output.

the XYZ Co. will not be gble
maximise profits becouse price an
revenue are subject to chignge
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ICAlI SM

36

If firms in the toothpaste industry
have the following market shares,
which market  structure would
best describe the industry?

| N
Suppose that, at ¢, cﬂ"«
maximizing level of outpy, Progy:
finds that market price ; %fin,
than average total o l
greater than average variqy, b
which of the following st, " Cogy
is correct? tem%

3b

The firm should shutm

a)
to minimise its losses. N Orgy,
b) The firm should raise
enough to cover its losses,
¢) The firm should move its reg,
to another industry.
The firm should continue to gpe,
in the short run in order to mimma_te
its losses. 2

Its b riCe

urCe:

d)

—

ICAI sy

Market share (% of market)
Toothpaste 187 @
Dentipaste R R, . ¢, -
Shinibright - | 116 |
| can’t believe its not 9.4
toothpaste e
Brighter than white | 88
Pastystuff oL kB s, e
Others 29.8
a) Perfect competition.
b) Monopolistic competition.
c) Oligopoly.
d) Monopoly.
ICAl SM
37 The kinked demand curve model of
oligopoly assumes that

When price is less than averg,
variable cost at the profi.
maximising level of output, a fim
should:

40

a)

b)

c)

the response (of consumers) to a
price increase is less than the
response to a price decrease.

the response (of consumers) to a
price increase is more than the
response to a price decrease.

the elasticity of demand is constant
regardless of whether price
increases or decreases.

a) produce where marginal revenu
equals marginal cost if it i
operating in the short run.

b) produce where marginal
equals marginal cost if
operating is the long run.

¢) shut down, since it will lose nothing
in that case.

d) shut down, since it cannot ev’
cover its variable costs if it staysit

revenu
it is

d) the elasticity of demand is perfectly business.
elastic if price increases and
perfectly inelastic = if price ICAI SM
decreases.
B, /
38 A firm encounters its “shutdown i
point” when: | A purely competitive firm's S“Wz
: run
a) average total cost equals price at 4 :i::du‘.eed"; the short
the proﬁt~maximising (‘eve( of : R, Yy
b) average variable cost equals price at |
the profit-maximising level of.
outpute’ ‘ a) its average revenue.
¢c) average fixed cost equals price at b) its marginal revenue. .
the profit-maximising level of ¢) its marginal utility for money cun®

d)

output.
marginal cost equals price at the

profit-maximising level of output.

I tacopias, xerox, sharina or calli
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ICAI SM

ICAI SM

2 One characteristic not typical of
oligopolistic Industry is

4) horizontal demand curve,

b) tog much importance to hon-price
competition,

t) price leadership

d) o small
mdu,'r/

———————— e e

nurmber of firms (n the

Under perfect competition, in the
46 | long run, there will be no

a) normal profits

b) supernormal profits.
c) production

d) costs.

ICAlI SM

ICAI smw

The structure of the toothpaste
43 | industry in India is best described
as

When

47 | _, we know that the flrms are
earning just normal profits

a) perfectly competitive.

b) monopolistic,

¢) monopolistically competitive.
d) oligopolistic.

ICAlI SM

The structure of the cold drink
44 | industry in India is best described
as

a) perfectly competitive.

b) monopolistic.

¢) monopolistically competitive.
d) oligopolistic.

a) AC = AR
b) MC = MR
c) MC = AC
d) AR = MR

ICAI SM |

when ____ _ ___ _ _ . o

we know that the firms under

48 perfect competition must be

producing at the minimum point of
the average cost curve and so
there will be productive efficiency.

ICAlI SM

45 Which of the following stdtements
is incorrect? e
.

a) Even a monopolistic firm can have

losses. - %

b) Firms in a perfectly competitive
market are price takers

€) It is always beneficial for a firm in a

| perfee competitive discriminate
pric

. demand curve is related to
an oligopolistic market.

a) AC = AR
b) MC = AC
c) MC = MR
d) AR = MR
ICAl SM
wWhen ___ _ __ ik

there will be allocative efﬁc:ency
meaning thereby that the cost of
49 the last unit is exactly equal to the
price consumers are willing to pay
for it and so that the right goods
are being sold to the right people
at the right price.

a) MC = MR
b) MC = AC
c) MC = AR

pIES, XErox, shcumm or selling
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ICAlI SM |
Agricultural goods markets depict

g
The market for hand tools ¢

i
|
1
t
so EOE c and - I
[ characteristics close to hammers e SCrewdrvery S
‘ = . | 54 | dominated by Draper, i
|| @) perfect competition Craftsman. This markes
|1 b) oligopoly ' described as
|| © monopoly. -
) g h o~ ~olissT1e s BT & 2 e
|| d) monopolistic competition a) MongpousTica Petithve
) o ONOHoY
3 < b
IcALSM ||| ) anoligopoly [
Y N moerrectlvy cCOMDETE s
S) Fe [ S ~

Which of the following is not a
S1 | characteristic of a competitive | Iy

market? :

= — A market structurs in which o,
sin ||| 85 | firms sell products that gre St
but not identical is known o<

i . ...
b) €s are

|
r) e e
4 out posmve

> F e |

! - -t - 1

! -

11 @) s +the
i U cXlt TNC

s : V ' o Sw
| ICAL SM When an oligopolist indnidy _.!'
? Which of the following markets | | g | chooses its level of production o
would most closely satisfy the maximize its profits, it charmesy
requirements for a perfectly price that is

5
[l 52

competitive market? | 3 mmaie than the Tercel charaus
| @ Ore ona CNE price onargss oy
S | sishor monosol e e
e P 1 EIEthe ¥ GOy ¢« £ PETInE
1] &) TlecriCixy ] o -
i : ] Al
! 3 o e L P i ™ s
L‘_, Capie teEevision ! GrRET
) o =l s s e rhoeesd by >
c) Cola | ) ([EsS tThan ThRE priceE cnangsg oy 0w
&) LUK . s .
E mAROGEGIV OF 2 CORhE U Rrey bt
d) Milk monopoly or a competitive marks
~) more +han The orics chorsssd w3
C ore tna ThE Price Chargsa 3y &
1 T ~ - e - o= P -—_ P
MOoNopolYy ang EsS TN the PTus
ICAT SM || O rOPRbEETRIVE Pearket
charged by a Competitive marnes
A s 3 S
v 1

Which of the following statements
53 | is accurate regarding a perfectly
competitive firm?

=
o
~F a >y 2 ~rS e o > T
charged by a competitive market

In the long-run equilibrium & °

a) Demand curve is downward sloping S7 | competitive market, firms &
b) The demand curve always lies above o L
the marginal revenue curve
c) Average revenue need not be equal a) the intersection of the ™M™y B
to price €Ost and marginal revenug
} - | ) ¥ @arginal revenud
d) Price is given and t;}s determined by b) their efficient scale
uilibrium in the entire mark . e
phe eq €t 11| ©) zero economic profit -3

d) all of these ansiwers are commee?

CA Mohnish Vora (MVSIR)




ICAlI SM — E

| Which of the following is not a ‘:
| characteristic of a monopolisticatly | | 64 | AR is aise known as: i

| competitive market? a) price I
a) Free entry and exit b) income |
p) Abnormal profits in the long run ¢) revenue ‘1
¢) Many sellers ] d) none of the above I
d) Differentiated products : ;

ICAlI SM

In a very short period market:

a) the supply is fixed

b) the demand is fixed

¢) demand and supply are fixed
d) none of the above

Marginal revenue can be defined as

ICAl SM

Time element was conceived by

a) Adam Smith

b) Alfred Marshall
¢) Pigou

d) Lionel Robinson

ICAI SM
61 | Total revenue =
a) price x quantity
b) price x income
¢) income x quantity
d) none of the above
- ICAI SM

a) per unit of input

b) per unit of output

€) different units of input
d) different units of output

ICAl SM

65 | the change in total revenue
resulting from the:
a) purchase of an additicnal unmit of a
commaodity 1
b) sales @f am, additicnal umt of « |
commodity
¢c) sale of Subsequent units af a
product I
d) none of the above |
ICAL SM
66 | When e > 1 then MR is
a) zero
b) negative
c) positive
d) one
ICAI SM
67 | When e =1 then MR is
a) positive
b) zero
c) one
d) negative
ICAI SM |
|
|
68 | When e <1 then MR is
a) negative
b) zero

positive

shnish Vora (MVSIR)




ICAI SM

69 In Economics, the term ‘market’ 75 | At price P1, the firm in the fig,,
refers to a: . would produce
a) place where buyer and seller bargain Price ATC
a product or service for a price / &
b) place where buyer does not bargain Py f— \0\ — Pa=MRi= AR, .
c) place where seller.does not bargain S| IR e Pa=MR, = AR,
d) none of the above P, o] Ba = MR, AF;
‘/ 2 = SO 2=
[ 3 R D M
ICAI SM & RN
70 | Under perfect competition a ﬁrm is
the _ _ ___
a) price-maker and not price-taker 0 0. 0D,0/0:B0; Ca s
b) price-taker and not price-maker
¢) heither price-maker nor price-taker r
d) none of the above a) Zero oUtpUE
b) Q3.
icarsm ||| € @5
d) Q6.
71 | A Monopolist is a
a) price-maker "
b) price-taker [l} 78 | secular period is also known as
c) price-adjuster :
d) none of the above a) very short period
b) short period
ICAl SM | c) very long period

d) long period

22 Price discrimination is one of the
features of _ ___ _ ICAL S

a) monopolistic competition 77 Stock exchange market s
b) monopoly . example of
;% g[ei;fsg‘;l;ompetltton a) unregulated market

b) regulated market

ICAI SM C) Spot market

d) none of the above

73 Under monopoly, the degree of
control over price is:

a) hone
b) some
c) very considerable 78 The market for the
d) none of the above consumers is known as

aenerauy, perishable goods like
74 | butter, eggs, milk, vegetables etc.,

will have : a) whole sale market
a) regional market b) regulated market
b) local market c) unregulated market
11| d) retail market

¢) hational market
d) none of the above

Making pdfs, photocopies, xerox, sharing or seling MVSIR's books is not allowed. It will leaC
’ro sTncT Iegol action with monetary penalties
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The condition for pure competition
is

ICAI SM

—large number of buyer and seller,
free entry and exist

y) homogeneous product

o) both (a) and (b)
large number of buyer and seller,

Under _ __ _ __  _ the
g4 | Monopolist will fix a price which
will take away the entire

=

consumers’ surplus.

a) second degree of
discrimination
b) first degree of price.diserimination

price

homogeneous  product,  perfect || c) third degree of price discrimination
unowledge about the product d) none of the above.

,

/——-7

} ICAl SM ICAlI SM

| pure oligopoly is based on the
80 | __ _ products

85 | Price discrimination is related to

4) differentiated

p) homogeneous

¢) unrelated

d) none of the above

a) time

b) size of the purchase
¢) income

d) any of the above

ICAI SM

ICAl SM

o7

. In oligopoly, when the industry is

| . | dominated by one large firm which

-r“} is considered as leader of the
group, Then it is called:

The firm and the industry are one

26 and the same in

a) full oligopoly

b) collusive oligopoly
¢) partial oligopoly

d) syndicated oligopoly

a) Perfect competition

b) Monopolistic competition
c) Duopoly

d) Monopoly

ICAl SM

ICAl SM

The demand curve of a monopoly

14 firm will be

sold
body,

- | When the products are
82 | through a centralized
- | oligopoly is known as

a) organized oligopoly
) partial oligopoly

€) competitive oligopoly
| d) syndicated oligopoly

a) Upward sloping

b) Downward sloping
¢) Horizontal

d) Vertical

ICAl SM

When the monopolist divides the
| consumers  into sepdrate sub
markets and charges different
prices in different sub-markets it is
B _"as

If the average cost is higher than
88 | the average revenue then the firm
incurs ____

a) first degree of price discrimination
second degree of price

| discrimination

f‘) third degree of price discrimination

w2 None of the above.

a) Normal profit

b) Abnormal profit
¢) Loss

d) No profit, no loss

""""""
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ron of the following statements 1| Mabd il m
89 | (g gorrect? || @) The change N
unit chdange in outp Q dyg

ut, to

spmcee TR B e turc
a) Price rigldity (s an (mportant fed B e e
of monopoly. _ Price of
v a1 o on  poesible under output. Ofe
b) Selling costs Are pos &} The chdnge i d
perfect competition. hge n quangis
factors of change in price. Y iy

¢) Under perfect competition ( :
production do not move freely as d) Gmp(h(cal!y it denote ,
there are legal n_:'f-:u—iction:«'. s n L supply curve. he |
d) An (ndustry consists of many firms. — - = |
o e AT S : x
ICAl SM ; \,

93‘ Example of a comI’nod- G

have an Internationq| Mlqu S

et,

90 Which of the following statements |
L is lncor_rect? a) Perishable Goods.
a) Under monopoly there is ho b) High Value and spy

commodities.
¢) Product, whose trading is reg
r

b) A monopolist  may restrict the by government.
output and raise the price. d) Bulky Articles.

¢) commodities offered for sale under a ‘
I —

difference between d firm and an

(neustry.

perfect competition will be i a

heterogenecous. ; —_——

d) Product differentiation is peculiar to ok Weekly market is example of
Market:

mono[,wlisﬁc: competition. ,
—_——— gt a) Regulated Market
ICAl M), b) Spot Market
¢) Forward Market
d) Unregulated Market

For market the essential condition
s = iy

a) A particular geographical place

91

ICA

J

b) control of the government
¢) Close contact between buyers and 9k Conditions for equilibrium of al
sellers are:
d) None of these ! ; . e
a) MR = MC

ICAIl SM b) Mc should cut MR from belomz
¢) MR = AR and MC should cut

Assume that v(;bcn Price is Rs. 10, below.
the quantity démanded is 5 units |[| ) MR = MC and MC should "
and when Price is Rs. 12 the . positive slope.

tity demanded i
oz | quan s 4 units. |
Based on this informdtion, what | ; : hen
:hcﬂ “M‘qv;glnal Revenue lresu(c::‘;n‘; 7“9,}}"’%;“;_Natul;a( Monopoly arises W .
rom inerease in output T il et
e Y i, put from 4;'{" a) ;Ce;i‘:nenormous goodw!
{5 : [
b) There are stringent leg?

a) Rs. 5
b) R&. 4 , 5 re : £, |
i gulatory requiremen e
e L |f].e) There are very large Econ’
CD Rs. 3 \ i Scale. ] tionsd
d) There are Business combin?

: ~ Cartels. l
g orselling MVSIR's books is QQM'

‘Hul; Wi
Jih monetary penalties
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ICAI SM ICAI SM
b Price Discrimination cannot persist Combination of Monopoly Market
. under the following market form: 100 | and Monopsony Market is called
a) Perfect Competition as: :
b) Monopoly a) Duopoly Market
¢) Monopolistic b) Oligopoly Market
d) Oligopoly ¢) Bilateral Monopoly Market
E d) Monopolistic Market
1 ICAI SM
ICAl SM
Sweezy’s  Model explains the
99 | concept of price rigidity relating to Price varies by attributes such as
following market form: 101 location or by Customer Segment
is degree of Price

a) Oligopoly Market
b) Perfect Competition Market

Discrimination.

'¢) Monopoly Market a) First
id) Monopolistic Market b) Second
| ¢) Third
L d) Fourth

' Answer Key —Chapter 4 (unit — 3)

ik, (c) 23 (e) 3. (e 4. (d) L (e) 6. (a)
7 (d) 8. (a) 9. (b) 10. (c) a1 (d) 12. (c)
13. (b) 14. (d) 157 (d) 16. (c) 17 (c) 18. ()
19. (e | 20. (d) [21 (d) | 22. (a) 23. | (d) | 24 (b)
25. (@) | 2e. () 27. O) 28. (a) 29. | (b) | 30. (d)
W31, (d) 32} (b) 33. (b) 34. (b) 35, (c) 36. (c)
37. (b) 38. (b) 39. (d) | 4o. (d) 41. (d) | 42. (a)
43. (c) 44. (d) 45. (c) 46. (b) 47. (a) 48. (b)
49 (c) 50. (a) 545 (e). 52. (d) 53. (d) 54. (o)
| 55. (a) 56. (d) 57¢ (d) 58. (b) 59. (a) 60. (b)
61. (a) 62. (b) 63. (c) 64. (a) 65. (b) 66. (e)
B ® e @ e @ 0 W | 71 | @ | 720 | ®
() @74 ® | 75. | @ | 76. | (@ [ 772. | ®®) | 78. | @
© 1"8. [ ® [ 8. [ © | 82 | @ | & | © | s (b)
(’a)»? 86. (d) 87. (b) 88. (c) 89. (d) 90. (c)
(c) 92 (c) 93 (b) 94 (b) 95 (d) 96 (d)
(c) 98 (a) 99 (a) 100 (c) 101 (c)
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MTP Mar 21, SEQ

MTP Nov 22

1 | The opportunity cost of a good is

a) the time lost in finding it

b) the quantity of other goods
sacrificed to get another unit of
that good

¢) the expenditure on the good

d) the loss of interest in using saving

The study of demand and suppl
model is useful in explaining i

a) How government works
b) How markets work

¢) How consumers behave
d) None of these

MTP Dec 22, PYQ Jun 23

MTP Mar 19

2 | Economic goods are goods which:

nature of
market s

On the basis of
7 transaction . the
classified into

a) Cannot be increased in quantity

b) Obey the law of Micro Economics
¢) Are limited in supply and are scarce
d) Are limited to man-made goods.

a) Regulated and Unregulated market
b) Wholesale and Retail market

¢) Spot and future Market

d) None of these

MTP Jun 22

PYQ Jun 22

3 In economics, we are concerned
' with

a) Value in use only
b) Exchange value only
¢) Both value in use and exchange

value
d) None of the above

When commodities are sold in
g8 | small quantities are called as
which of the following ?

a) Wholesale market
b) Regulated market
c) Spot market
d) Retail market

y MTP Nov 22

MTP Oct 18, SEQ

‘4 | Value in exchange is also known as

a) Value in use
b) Economic value

If a seller realizes Rs. 10,000 after
9 selling 100 units and Rs. 14,000

after selling 120 units. What is the
marginal revenue here?

¢) Both (a) and (b)
a) Rs. 4000
Ld) None of these b) Rs. 450
c) Rs. 200
g MTP Nov 22 d) Rs. 100
_ | wWhich one of the following features A
2 | of the term market is incorrect?
If the price of a product is

a) Market is the collection of buyers
and sellers with the potential to

rket heed not be a formal.
rket need nhot to be held in a

~_ particular place.
d) A market must be formal or to be

~ held in a particular place.

10 Rs.20/unit and its price elasticity
of demand is (-) 0.25. Its MR will

be

a) 60

b) 100

c) - 60

d) None of these
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'MCQ Shastr,
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MTP Jun 22, MTP Nov 22
11 | When total revenue is increasing (Fam making a loss, =iy
: rent | have to pay, | canr Vith :
a) Marginal revenue may be either shut down at this point 5 qffOrdh‘
positive or negative. : 14 | this entrepreneur is att:f timg,,
b) The dgmand curve is relatively maximize profits o mP}'ihg If
ihelastic. losses, his behavior ; "'tih,-tq
X L i : h the &
¢) Marginal revenue is positive. run is: € shy
d) Marginal revenue is nhegative. : - t
a) Rational, if the m
its variable cost COVEring
PYQJun 22 ||| p) Rational, if the firm is co,...
% OVerm y
fixed cost 9 it
12 | Which of the following statement ||| ¢) Irrational, sinceplant oy,
is hot correct ? necessary to eliminate losses Is
d) Irrational, since fixed  cogtc
eliminated if a firm shuts do,,
: —— '
| MTP Mar 18, Aug 13, oo
a) Marginal revenue is the revenu of an ‘:\ctn
additional unit sold of a commodity 15 | In thelong run any firm wiy
b) Total revenue is obtained by eventually leave the industry i
multiplying the total number of : -
: . ; : a) . Price does not at least cover qyer
;mctosmi;)écé“\gith the price per unit of il cost. age
i b) Price does not equal marginal cost
2 gverage revgnui ls they revenue c) Economies of scale are being reapeq,
& Ta;”f pergtinito a: QULPUL i d) Price is greater than long ry
otal revenue is the sum total o average cost
average revenue
PYQ Jun 23
16 Which one of the following is not
element of market
MTP Oct 19, Oct 21, SEQ, ICAl SM, MTP
Mar 18, Apr 19 ||| @) Buyer
b) Service
. { c) Firm
A firm encounters its “shutdown ool ;
13 point” when: , d) Bargaining for price
MTP Mar 21
e - |
a) zx:ragepfgéi‘_ y;z;z:m(?ji‘;agls [z\"/‘ecle g’}f 17 | A rise in supply and demand in
e i ill result in
ot | equal proportion will re
b) average variable cost equals price at ‘ . o
the profit-maximising level of (|| @ Increase in equilibrium price 4
output. i decrease in equilibrium quam'tlty ol
c) average fixed cost equals price at ||| b) decrease in equilibrium price @
the profit-maximising level of (ncrease in equilibrium quanttty p
output. ' ¢) no change in equilibrium pricé
d) marginal qos}:_equa(s price at the thcrease in equilibrium quantltydno
profit-maximising level of output. d) increase in equilibrium price an

change in equilibrium q:iﬂ'ﬁfy/
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MTP Oct 18 Extra MCQ—\
A drought in India leads to In market, price being
unusual.ly lov\f level of wheat 21 | given, a firm decides only about
- production. This would lead to a the output.

18 | rise in price of wheat and fall in
the quantity of wheat demanded ||| @) Monopoly .
due to: b) Monopolistic competition

c) Oligopoly

1) excess demand at the original price. d) Perfect competition

) excess supply at the original price.

) the supply curve shifting to the SEQ

right. vy -

{) the demand curve shifting to the 22 A perfectly competitive firm has

left control over
a) price
MTP Aug 18 b) production as well as price
c) production, price and consumers
Suppose consumer tastes shift ) hone o M dove
toward the consumption of apples.

19 Which of the following statements MIB Octi21MTREMAR2ZASER
is an accurate description of the 53 | Full capacity is utilized only when
impact of this event on the market there is
for apples?

a) Monopoly
b) Perfect competition
) There is an increase in the quantity Z% grlgce dlfCY(H’llhat(Oh
demanded of apples and in the (GOROMY:
supply for apples
b) There is an increase in the demand MTP Aug 18, SEQ
and supply of apples. 54 | If a competitive firm doubles its
€) There is an increase in the demand output, its total revenue:
for apples and a decrease in the
supply of apples. a) doubles.
d) There is an increase in the demand b) more than doubles.
for apples and an increase in the c) less than doubles.
quantity supplied. d) cannot be determined because the
price of the good may rise or fall
i , e T MTP Oct 18, SEQ
In the short run if a perfectly
| In perfectly competitive firm, MC 25 | competitive firm finds itself
-0 | curve bove AVC is Curve of operating at a loss, it will:
a) Reduce the size of its plant to lower
fixed costs.
; [ b) Raise the price of its product.
b) Marginal revenue c) Shutdown? 2
c) Demand d) Continue to operate as long as it

covers its variable cost

hotocopies, xerox, sharing or selling MVSIR’s books is not allowed. It will lead
to sirict legal action with monetary penalties
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A.Q.
26 For a competitive firm, long period
normal price will
a) Equal AC and McC of production

F;competitive firm sells as my,
product it chooses at a m‘"’laeth

. . pri o i
Rk. 100 per unit. Its fixed cost i ';ce of
s

ahd its variable costs (in rupees) * 30
different levels of production gy, .
in the following table. Use Tab!eet

(v}

S

hOWn

b) Equal MC of production only .
¢) Equal TC of production only ahswer questions 27 — 29
d) None of these ‘J e |
. Fixed Total Cost AVC ATC oy
- Variable
Quantity oot Cost Mc
0 0 2 i 7 : :
5 270
10 490
15 720
20 1000
25 1370 R |
30 1870 .
35 2540
40 3420
45 4550
50 5970
When production is 35 units, the If the market price drops from Rs.
22 average variable cost is s 30 | 100 to Rs. 74, the firm short run
response should be: :
a) Rs. 7.25 e
b) Rs.72.25 a) Continue to produce the same
c) Rs.72.57 number of units as before the drop
d) Rs. 85.50 in price
b) Produce 10 units
In the table marginal cost per unit c) Produce 20 units
28 | that corresponds to 23 Ynits of ||| 4) Produce25units =0 ——
production is l‘__.,/a
AQ:
a) Rs. 3.50 D
b) Rs. 74 ot
c) Rs. 450 3y | A firm reaches a break-even P°
d) Rs. 370 (normal profit position) wher®
MTP Oct 21, MTP Mar 22, SEQ the
ey . cuts
— a) Marginal revenue curve
To maximize output, the firm horizpntal axis. : octs e
29 | chould produce _ 7 “[I| b) Marginal cost curve inters
L — average variable cost curve ¢otd
) 30 4 ¢) Total  revenue  equals
g) 35 vartable cost. ost art
Q) 45 ! ' d) Total revenue and total ¢
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Extra MCQ

Here, PC firm is

v

3]

£

41
P
o Q OUTPUT x

The dilemma faced by q

45 Monopolistic is setting
.

a) Price

b) Output

c) Bothaandb
d) Eitheraorb

Monopolistic Competition the

46 architect was :

a) Incurring Losses

b) Earning super-normal profit
¢) Earning normal profit

d) Any of the above

a) Roden

b) Marx

c) J R Hicks
d) Chamberlin

Extra MCQ

In case of Monopolistic
42 Competition, the less differentiated
the product is from its competitors,
the ______ demand curve will be

Which is not the characteristics

v.ls monopolistic competition:

a) Less elastic

b) More elastic

c) More steeper

d) None of the above

a) Large number of sellers
b) homogeneous Product

c) freedom of entry and exit
d) non price discrimination

MTP Mar 2

MTP Nov 22, A.Q.

The monopolistically competitive
43 seller’'s demand curve will become
more elastic, the

Average revenue curve is mo
48 | elastic under monopolisti
competition than monopoly due to

a) more significant the barriers to
entering the industry.

b) Greater the degree
differentiation.

¢) larger the number of competitors.

d) smaller the number of competitors

of product

a) low degree of governmental control
b) lack of close substitute
c) availability of close substitute

d) none of these
MTP Oct2$

49 | A Monopolistic Competitive fi

advertises :
L e

‘ MTP Apr 21
shampdz.manufactures is an
it exqm& of :

a) Perfect Competition

b) Monopolistic Competition
¢) Monopoly

d) None of these

a) Because it has no control over pricé
of its product.

b) To lower its cost of production

c) To increase its sales and profits

d) Because it cannot raise price ©
product

£ its

Making pdfs. photocopies, xerox, sharing or selling MVSIR's books is not allowed.
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ca !:lwf ‘t’h tt}‘u essential
. o e firm in the
Mm oft

| mn

‘ Mvnwmly
Perfect competition
Monopolistic competition

Which of the following statements
55 about price and marginal cost in

competitive  and Txﬁ
-

MTP Aug 18

he sale of branded articles is
. imon in a situation of

@) Excess capacity
) Moenopolistic competition

Monopoly

 Pure competition

MTP Dec 22
- When the (ndustry is in long-run
equilibrium,  the  monopolistic

“competitor will produce at the
lowest point on its LAC curve,

markets is true?

a) In competitive markets, price equals
marginal cost; in monopolized
markets, price equals marginal cost.

b) In competitive markets, price
exceeds marginal cost; in
monopolized markets, price exceeds
marginal cost.

¢) In competitive markets, price equals

marginal cost;’ in monopolized
markets,  price exceeds wmarginal
cost.
d) In competitive markets, price
exceeds marginal cost; in

monopolized markets, price equals
marginal cost.

AQ.

always

never

gometimes

cannot say.
e

With respect to the pure

- 56 | monopolist’s demand curve it can

be said that

PYQ Jun 22

| Non-price compttmon CLis
obsen in  which m& of
ollowing market?

a) The stronger the barrier to entry,
the more elastic is the monopolist's
demand curve.

b) Price exceeds marginal revenue at
all outputs greater than 1.

¢) Demand is perfectly inelastic.

d) Marginal revenue equals price at all
outputs

@) Monopoly
B) mmnlitttc competition

AQ.

MTP Oct 18, SEQ

the relationship
rage and marginal
s (s as follows:

If a monopolist could perfectly
discriminate the which of the
following statements would be
true?

s§?

es above the MR curve
A goincides with the MR

(€8 Below the MR curve
rallel to the MR curve

Ml \\\\ \uh

a) Every increment of the goods would
be priced separately so as to capture
the entire consumer surplus.

b) Every increment of the goods would
be priced eveniy.

¢) Everymcremtofgoodsuouﬂbc .

priced higher than the one.
d) Every increment of goods would be
priced lower than the previous one.

CA Foundation - June 2024 MCQ Shastra - Volume |
MTP Mar 19 MTP Aug 18, SEQ
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MTP Jun 22

SEQ

Marginal Revenue of a monopoly
firm is less than the price because

a) Demand curve has a positive slope.
p) Demand curve has a negative slope.
¢) Monopolist incurs losses.

d) Monopolist is in equilibrium.

If oligopolists engage in collusion
71 | and successfully form a cartel, the
market outcome is ey

MTP Mar 22, Apr 23

, If the monopolist incur losses in
€7 the short run then in the long run:

a) The same as if it were served by a
monopoly

b) The same as if it were served by
competitive firms

¢) Efficient because
improves efficiency

d) Known as Nash equilibrium

cooperation

a) It will stay in the business
p) Go out of business
c¢) Will break even

MTP Oct 18

Which one of the following is the

) : 72 | best example of agreement
e oF the above is possible between oligopolists?
MTP Mar 22 a) GATT
; - 5 OPEC
8 A cartel which is market sharing ?i WTO
will reach the monopoly situation: d) UNIDO
a) Always when the productis
homogenous MTP Dec 22
& Q:rf’:r);ig:::dthe ct s 73 In the kinked demand curve
¢) Sometime models, the oligopolists

d) None of these

-

B MTP Mar 22

The price elasticity for demand for

I
& monopolist’s product is :

|

a) Recognize their interdependence
b) Do not collude

c) Tend to keep prices constant

d) All of the above

a) <1
b) >1
c) =0
d) None of these

MTP Nov 22

MTP Nov 22

a) Zero economic profit is earned by
the monopolist

b) Production takes place where price
__ Is equal to long run Mc and AC
€) Production takes place where long

run MC is equal to MR and price is
| hot below the long run average
_ cost.
d) All of the above are correct

A point of ‘Kink’ in the kinked
demand curve indicates

74 | I.  Price rigidity

Il.  Quantity rigidity
lll. Price flexibility
IV. Quantity flexibility

a) | &Il are correct
b) Il & lll are correct
c) Il &IV are correct
d) | &IV are correct

dfs, photocopies, xerox, sharing or selling MVSIR's books is not allowed. If will lead

to strict legal action wi

©A Mohnish Vora (MVSIR)

th monetary penalties




" MEG BRI » v W

) CA Foninddatt ek Tivie 2oty
W

r’ h. ) R 4k Min 4
" —— e ' Cingrma Halla, Telapiigg. Wil t 4
g | The elastigity of demand on i | are fallawing i
Upppar  wggment  of @ L) 0y Liffersntial Fricing
= demand surve will be ay Pull cask grieing
a) o fefnite i) """"””'." st Fete g
by Eepudal e ape r“ [elaapree ief EFigse
@) Lpreater thap ore — _
A) Lags than one .. i I ""W,
\ : Thae  Guusrnment affsr .
i,
Al 1 g | assured prige b e r"””r;l":rm:r

puarehaes Bhelr GULEUE 16 afigy

76 | Imparfaet campetition arleas whan
i) HILIH' [ % “H’MI)-"L'I'I i]!//‘h'yr”',-“,”,; “.I “,,“'U,/ '4'“,,
’ f1) st PRIEE

COvpae o s
o) equlliridrm Brice

by There Ayt muw,/hamnl/lw
ey fections (0 the kel i celling Frice

) Caympetition daes nal axl &l . .

i) Praguct Mty ey, L FEIF apie e ”' . y
CONEINEYS A AlsLaree e FYa Tiap 4
Cr i ey Lanl iy cosls letcirl [ i —
[y ey fee ey i Lhe  copppebitive
market whieh operates on certalh If the market demand aurve fgr g

#o | commadity has a nhsgalive "”l’“l

OSSP ELF S
Chign the market sEFUeture st f

A

al Perfect uun(/ulmup,

f1)  Mapiagaly

¢) lmperfect campetitian
SEFLcbure  cannol e

L Fey prt ey (g

Marginal cost |8 equal Lo mmarginal
revenue, average cosh is equal to
averdage Fevenie, average revenie
is equal to marginal revenue and d) The  arket
?zg{aau cost 16 equal  ta marginal detarmined as the
This s the condition of~ L
gy | B LONg periad equilibrivm for a
firm under aligapaly PR v

2. Shore perigd equllibrium for a s - -

firm under oligopeoly
3. Long period equilibrium
it ’ o “ b s ; . { i !
: r;’:ﬂmguga;‘rgzsrﬂ;zgéfg::rrl:;:mz%na The follawing Table provides cost and
5. Shert period equillbrivm for a gzﬂagllnf’mrmwlan far a fiym called Compy

T shlong
rim Wnder perfect cor ‘

firg “ Wer perfecs cemERUEEE (CE). The firm produces and sells ausmiatr‘l'l'

: af  cdpit

g2 uslng a  fixed  amount
y - ' aquipment but san change the (evel O

1) 1 G anly Inpidvs sueh a labour and maverials, 1

» & &# only Uhe Table and answer questions 1118

o8 K1 only

() 4 anly ‘ 7 y

) - ‘ ‘ g

aking pelfs, phefecopi 19 ABIGIA, shanng or seling M /8IN's boeks L; H' U“QWBU; I
2 "-M,,} lagdl achon With manelary pern ilfl@s "

A Mahnlgh Vora (MVSIR]




MCQ Shastra - Volume |
——__

Price ! Total
’:‘ Cost “""f‘ Margin Reven Marginal
on ® < ":" cost! al cost ue Revenue
(aTE) (mc) ) (per unit)
r 250 500
E 2 240 730
p—
2 230 §70
’—7
3 220 950
4 210 1010
L 1090
6 1230
7 180 1470
g 170 1850
9 160 2410
i MTP Mar 18 MTP Mar 18
| What is the value of fixed cost | What is the marginal cost when
* | incurred by cC? 84 | production increase from 3 to 4
- h, | units?
'a) Rs. 252
b) Rs. 730 a) 140
¢) Rs. 500 b) 80
d) cannot be determined c) 60
. d) 240
mTP ; ris
MTP Mar 18
What is the average tal cost
" | when 5 units are pmducﬁ:‘b To maximize its profit or
; = 85 minimize its loss, what level of
a) Rs.218 production should cC choose?
b) Rs. 1090 .
¢) Rs. 730 a) 7 units
d) Rs. 210 . b) 6 units
- : - €) 4 units
WFATP Mar 18 || L8 units
— MTP Mar 18
| What is the marginal revenue (per
unit) when production increase At the . ;
. profit maximizing level,
50 & units? ge what price should be charged?
a) Rs. 190
b) Rs. 200
c) Rs. 210
d) Rs. 220
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varaable that tends to

’ move glo
';lth the level of economic acf:tvn:yng
a_vanable that tends to move in

d?&f of aggregate economic

able that ‘tends to move
Nt ﬁ of aggregate

Durable goods and service sectors.

Non-durable goods and service

sectors.

c) Capital goods and non-durable goods
sectors.

d) Capital goods and durable goods
sectors.

ICAl SM

el decrease in government spending
f &,would cause

b
K

‘a) the aggregate demand curve to shift
~ to the right. _
'b) the aggregate demand curve to shift
to the left. _

' ¢) a movement down and to the right
 along the aggregate demand curve.

| d) a movement up and to the left along
. the aggregate demand curve.

chcnng or sellmq MVSIR's books is not allowed. It will lead
gal action WITh mone’rory penalties
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ICAl S |
| According to  _ Al o) ¥ |
21 ?rade cycles occur due o ons—et— of |
f Innovations. {
a) Hawtrey
b) Adam Smith
€) J M Keynes

d) Schumpeter

@‘gﬂvgth
ﬂ/s last more

d are difficult to

ICAI s

0 check the |

a) Leading indicator
b) Lagging indicator
¢) Coincident

d) All of the above

ICAI SM

Business cycle generally originates
24 | in free market economies, what is
| afree market economy?

. eq’uipment

a) The economy where government is
in possession of major assets

b) The economy where private firms
control major assets

c) The economy where decisions of
productions are taken by public ||
sector undertakings

d) The economy where price is
controlled by government.

erox, sharing or selling MVSIR’s books is not allowed. I will lead
11egal action with monetary penalties

N Vora (MVSIR)




selling MVSIR’s books is not cllowes
Y monetary pendlties .
(e, i







b) contracting
c) expanding ' '
d) atlowest point

») Depression ’ &1 ; ! ip
1) Contraction gl 7 o
{) Expansion
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economy
- Periodical regularity
It has same reasons always

PYQJun 22 |

!nlhich of the following statement
is correct ?

No economy follows
timed cycle

Economy follows a perfe
cycle

Most of the
perfectly timed cycle
Capitalist ~ economy
perfectly timed cycle

ctly timed

economy follows

follow

e A [t willleod
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he 20

économy  the
; ears while the
’ . te f

e period was just S%f'unng the
fons:e'quenées of
option from the

> nhvestment—

ployment— Loy
T Overall

N(C activities

| expenditure—

Durihg 1920s, UK saw rapid growth

in gross  domestic  Product,
- production levels and living
standards.

b) Due to bursting of Information
Technology bubble stock markets
crashed and countries began feeling
of down turn in their economies.

¢) The Sub-prime crisis led to chain
effect and it had worldwide impact.

d) The cycle business has seen a
slowdown in growth over a period of

time '

MTP May 20

f demand for goods and services is
“more than their supply, the
resultant inflation is:

a) Cost push inflation.
b) stagflation

¢) deflation.

d) demand pull inflation.
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to a citizen of lnd a

~ units solely situat

b) The unit having
economic interest in
territory of the cour
year or more irrespe
nationality or legal status
A citizen household which
living in India during the acco
year and one whose ecor
interests are solely in India
Households and business enter

living in iIndia during the account
year

goods and servi

as inputs by%

production,

lntermedmte % consumption

excludes r'_‘iﬁxed* assets whose
"'is recorded as |
1 of fixed capital.

they are meant
: and leisure time
Only | s true : 2
Both l'and Il are true those which result
Only Il is true self consumption @

‘ . included in
] r | nor il ts true .
Neithe calculation

Making pdfs, photocopies, xerox, sharing or selling MVSIR
fo strict !egol action with monetary




; hdnd' of previously produce
ods

) g:chﬂnﬂ of second hand goods

o) Exchange of stocks and bonds

4) All the above

R

—

ICAl SM

net factor income from a

net indirect taxes (i.e., .
- Subsidies)
net indirect taxes (i.ey, | ect taxes

“ [ which of the following enters into
'b:i the calculation of national income?

a) The value of the
accompany the sale

b) Additions to inventory stocks of
final goods and materials

¢) Stocks and bonds sold during eth
current year

d) (a) and (b) above

services that

ICAI SM

P Gross National Product at market
prices GNP MP s

a) GDP MP + Net Factor Income from
Abroad

b) GDP MP - Net Factor Ilhcome from
Abroad

¢) GDP MP - Depreciation
d) GDP MP + Net Indirect Taxes

ICAl SM

h—

Choose the correct statement

) GNP includes earnings of Indian
corporations overseas and Indian

residents working overseas; but GDP

does not include these

b) NNPFC = National lncome = FID
(factor income earned in domestic

territory) ~ NFIA.

) Capi ' goods  and inventory

invest t are excluded from
0 CoOmputation of GDP

NDPMP = GDPMP + Depreciation

hotocopies, xerox, sharing or seling MVSIR's books is not allowed

to strict legal action with monetary pet

nish Vora (MVS‘R)

c)
+ Subsidies) »ﬂ:\
d) depreciation ( consumption of fixed
. : L 'ﬁ
capital) w4
=B IcAl sM |
11 | If net ome from abroad is
positive =
a) nhational ind'dﬂi'ne will be greater than
domestic faetor incomes.
b) national income will be less than
domestie factor incomes.
¢) net exports will be negative
d) domestic factor incomes will be
greater than national income
ICAI SM
12 | The GDP per capita is
a) a measure of a country's economic
output per person
b) actual current income receipts of
persons
¢) hational income divided by
population
d) (a)and (c) above
ICAlI SM
13 Which of the following is an
example of transfer payment?
a) Old age pensions and family
pensions
b) Scholarships given to deserving
diligent students.
c) Compensation given for loss of
property due to floods
d) All the above
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MCQ Shastrq ~ Voliinie
S bttt . ‘
l’dgs dia Ql’ﬂin,ffhé
' Crosses the 4s.

Y tevel of full employment income.
Hiw less than full employment tevel of
Ll income. j
o) equilibrium level of inco
: may er may not be full e
! tevel of income
Ll ) autonomous level of inco
Il may not be full
level of income

me  which
mployment

me which
employment

i

ICAl SM
demand is the sum of

a) GéﬂSUNQF expenditure, demand for
t exports and government Spendgng_

!g B eonsumer  expenditure planned
|

!

|

o

nvestment spending and
| government spending.

1 &) consumer expenditure. actuals}
Il investment spending, government
_ spending and net exports. |
3 & consumer expenditure, planned
E investment spending, governmant
Il skending, and net ex ports.
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mmm ICAI SM
e Imrrere—

f’—— ICAI SM a) Fiscal

astra — Volume | :

policy involves the use of

S o changes in taxation and government
Redistiialcionipoliciesiare likely to spending; while monetary policy
1 | have efficiency costs because involves the use of price and profit
i o controls.
They will reduce the efficiency of ; ! ,
a) governments b) Fiscal policy involves ‘the use of

p) They may create disincentiyes o price and profit controls;

while
work and save

monetary policy involves the use of

c) Governments have to forego taxes taxation apd government spending. :

d) They are likely to make the poor c) Fiscal pqllcy m\_/olves the use o
people dependent on the rich changes in taxation and government

| e

spending; while monetary .policy
B involves the use of changes in the

ICAI SM supply of money and interest rates.
d) Fiscal policy. involves the use of
: Al changes in the supply of money and
5 Macrogconomtc stabilization may interest rates; while monetary
be achieved through policy involves the use of changes in
taxation and government spending.
a) Free madrket economy P ICAl SM
b) Fiscal policy — — -
¢) Monetary policy g | The justification for dovernment
d) (b) and (c) above SN intervention is best described by
a) The need to prevent recession and
inflation in the economy
o, b) The need to modi the outcomes of
ICAl SM ) iy

private market actions
c) The need to bring in justice
_ distribution of income and wealth
Which of the following policies of DRAEE above
3 | the government  fulfils  the
redistribution function

in

Read the following statements:
1. The market-generated

allocation of resources s
usually imperfect and leads to
inefficient allocation of
resources in the economy

6 | 2. Market failures can at all times
a) Parking the army on the northern be Corrected through
borders of the country government intervention
b) Supply of food grains at subsidized 3. Public

goods will not be
produced,, N sufficient

Updyantiticel 1 a market economy

Prices to the poor people
¢) Controlling the supply of money _
thro i A ) ( lements above: i
A WL Neta ol vu SLER kaldhove:ji s
o a) 1,2 and 3 are correct
b) 1 and 3 are ¢ CE

MQk"”Q Pdfs, photocopies, xerox, sharing or selling MVSIR's

to strict legal action with mone
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ICAlI SM

When a government offers
unemployment benefits and a.lso
resorts to progressive taxation
which function does it seem to
fulfill?

a)
b)
c)

d)

It (s trying to establish stability in
an economy

It is trying to redistribute income
and wealth

It is trying to allocate resources to
their most efficient use |

It is creating a source of market
failure

a) to the industries whi
losses due to the intro
to compensate for the
GST on essential items
to the states to comp
loss of revenues |
introduction of GST
to compensate for th
tax credit in manufact

b)
c)

d)

e “o#‘t&)éés

ICAI SM
Government of Emeline Land
g | decides to provide most modern
road infrastructure throughout
the nation. This can be classified as
a) Distribution function

b)
c)

Allocation function
Stabilization function

Commissions in India?
The distribution betwse
and the states of the

ll‘d’éqtion between t
‘the respective
| proceeds. i
‘Make, Recommencd
integrated GST on
movement of goods and
| To | recommend

| decentralization am
states

4

shares

d) None of the above
IcAl sM.
Which function does 'Ehe
9 | 9overnment perform  when it
provides transfer payments to offer
support to the underprivileged . ,
a) Allocation B .

a) | and Il are correct

b) 1l .and Ul are correct
c) I, 1l and Il are correct
d) All the dbove are correct

b) Efficiency J :
c) Distribution ’ !
d) None of the above A :
L
S CAl Sm

Which of the following is true in ||| 5 0 jederal ooy
10 | respect of | centre and| state ||| f? Lmation | functigy

government finances? o | E'Tectively performed by
a) The centre can tax agricultural '

income and mineral rights :

b) Finance .commission recommends

c)

d)

distribution of taxes
centre and states _
GST subsumes madjority of direct
taxes and a few indirect taxes
IGST is collected by  the
governments

between the

State

a) Respective state governm
b) Ministry of taxes

€) The government at the cent
d) None of the above

Making pdfs, photocopies, xerox. sharing or seljin T

fo strict legal actio
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i ICAl SM ICAl SM
’f#, ,QWi"Q is concerned Which of the following is hot a
jision of  economic 1g | criterion for determining
es between the distribution of central . taxes
state Government of among states for 2021-26 period

gg Demographic performance
: ‘ Forest and ecolo

I Aayo9d gy

Ne';,fral bank ¢) Infrastructure performance
;mance commission d) Tax and fiscal efforts

2) Paﬂfdment

ICAl SM

— il g 19 | AS per the supreme court verdict in
Federalism  refers  to May 2022 :
a) The union has greater powers than
implementing the states for enacting GST laws
b) The union and state legislatures
b) g of political power between have  “equal, simultaneous powers
s and states “to make laws on Goods and
D) anagement of fiscal policy by Services Tax

c) The union legislature’s enactments
will' prevail in case of a conflict
between those of union and states

d) The state legislatures can make
rules only with the permission of

ICAl SM central government

e of the following taxes is |
~ the state government ‘ ICAl SM ‘ 1

b i)

Providing social sector services

| Wealth tax ] 2040 < lich as health and educasioniis

Income tax {
Nonhe of the above

ICAl SM
hare of states in a) the responsibility of the central
he period 2021- government

é‘a by the Fifteenth b) the responsibility of the respective
Ry AT state governments

38 : c) the responsibility of local
41 g::g:ﬂﬁ administrative bodies
42 per l’?ﬁﬁ’ d) none of the above

%

mission has not submitted
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d) (b) and (¢) above

1) private goods

b) ';“\«'!‘th

<)

is a situation

‘Market failure’
which oceurs when ‘
’ are hot sufficiently

brovided by the market A
goods are hot sufficiently

provided by public sector
the market fail to form or they
allocate resources efficiently

|

|

s

which of the followin
argument for provisj
good by government?

b)
c)
d)

|

a) Governments have hugecliess

their disposal
public goods will neveps
type of externality “
Markets are ‘unlikely

sufficient quantity of p
Provision of public go
profitable for any gover

ICAl SM

Which of the following is an

example of market failure?

@) Prices of goods tend to rise because

of shortages

Merit goods are hot sufficiently
produced and supplied

Prices fall leading to fall in profits

and closure of firms e

None of the above

Adequate amount of g

b).

il
%Z’é) '

)

¢ | good will not be provide
.| private market because
a) the possibility of free ridi

governments

Wi

the existence of very low
low profits ‘
would
produce them, so there
overproduction

there are restrictions

taxes on production of p

Which of the foltowing@.i;};g‘%n

outcome of market power? = =

a) makes price equal to marginal cost
and produce a positive “exterhal
benefit on others <

1

The free rider problem

7? because of
a) ability of participants

goods at zero marginal cos

b) can cause markets: to be efficient b) mcllrgxln:ld Zeneﬁi ‘i
due to reduction in.costs . . S at > & to .
¢) makes the firms price makers and ) p;esen L
restrict output “s@"” as to make Sl dood or se‘r:wce s NOMES
allocation inefficient d) general poverty and unel
d) (b) and(c) above RhiESoPle
IcALsm |||
4 | Markets donotexist ||| | A chemical factory
- y ' - g | information regarding th
a) for QOlC"dé which have | positive " | a product, but continues
externalities po NP :
. R EThis i use
b) for pure public goods — gaiag=sible beca
¢) for goods which have negative a) asymmetric information
externalities ! \ I b) moral hazard
d) none of the above f c) free riding
d) (a) and (c) above

ik

. sharing or sellin

i eling MVSIR's books is not allowed
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ICAl sSM

i an individual tends to drive his
‘tcar in a dangerously high speed

Fecause he has a comprehensive

"'gnsur ance cover, it is a case of

13

Which one of the follow

you suggest for reducing
externality? o

e riding
f eom[ hazard

) 17
) " or upbringing
;) inefficiency

a)
b)
c)
d)

Production subsidies p ¥
Excise duty

Pigouvian taxes
All of the above

smoking in public is a case of

10
Negative consumption externality

[; Negative production externality

|

) internalising externality

14

A Pigouvian subsidy

) None of the above
) Mol

G ICAI SM

—

Read the following statements

I. The market-based approaches
to control externalities operate
through price mechanism

Il. When externalities are present,

the welfare loss would be

eliminated

The key is to internalizing an

externality is to ensure that

those who create the

externalities include them

while making decisions

61
.

a)

cannot be present
externalities are present

) Il and lll are correct
) lonly is correct
) llonly is correct
) Land lll are correct

2 | Which of the following statements
~ | is false? '

) Tradable permits provide incentive
to innovate and reduce hegative
externalities

) A subsidy on a good which has
Substantial

positive externalities
would * reduce its cost and
Consequently its price would be
lower
)Substantial hegative externalities

are involved in the consumption of
Merit goods.
) Merit goods are likely to be under-
Produced and under consumed
through the market mechanism

b) is a good solution for negatiy
externality as prices will increase

¢) is nhot measurable in terms of mone
and therefore not practical

d) may help production to be social
optimal when positive externalitie
are present

If governments make it com
15 | to avdil insurance protectic
because

a) Insurance companies heed to
running profitably ;

b) Insurance will generate :
hazard and adverse selection

¢) Insurance is a merit good a
government  wants  people
consume it b

d) None of the above

16 | The Competition Act, 2002 ai

a) protect monopoly positions of fi
that have developed unie
innovations 1

b) to promote and sustain competit
in markets

c) to determine pricing under natul
monopoly. kK

d) None of the above

Aking pafs, Photocopies, xerox, sharing or selling MVSIR's books is not allowed. It will lead
to strict legal action with monetary penalties
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Ctiop
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timal
steady and ptimg

farmgrs

to subjected tg
b) tloh by government

above

c)

d)

and
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to implement
pollution is n
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d that education IS
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a) Is a case of
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|

ng statements

ts are the total costs
y the society when g
onsumed or produced.
ernal costs are not

1CH1 S

24

Government ' :

ment failure ocurs when
a) Government fails
election promises

b) A government

to imlement iwe
on policies

(s

d in  firms’ income reelected undble to gek
el cohsumers: e) .Govemme”t intaryention [
ost hich :’:f)f;feecu\{e and be"ddurft;; fresh and
cost whic is serious problems
~for determining d) None of the aboye
‘would be only private
or direct cost of
yduction which does not
-external costs
duction and consumption
ohs are efficient only
‘private costs are
| of the above |
‘a) statements | and lll are correct
p) Statements L1l and Ill are correct
¢) Statement | only is correct
4) All the above are correct
(b) [l () 148 () |5 | © [N w
10 @ | 2
(a) ]_‘ 9. (b) 10. (a) 11 | (d)
(DR "15. © 16. (b) 17. | (o) | 18
t }
. | (b) 24.
(d) 217 (d) 22: (d) 23. (
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ICAI SM

5

Ih NITI Aayog, NIT| stands for

a)

National Initiative for Transforming

d)

India
The difference between the budqet b) National Institution for
deficit of a dovernment and its Transforming India
| debt service payments is ¢) National Instityte for Technology
e and Innovation
;) Fiscal deftc ol d) None of the above
udget ddef;cql i
: ci
primary dert
;; None of the above ICAl SM
4 ; : 6 | The Appropriation Bill is intended
~he following hypothetical figures relate to
o country A Rs. Crores a) reduce unhecessary expenditure on
the part of the government
i b) give authority” to government to
Revenue receipts 20,000 9 Ly g
(ncur expenditure from and out of
recovery of loans 1,500 the Consolidated Fund of India
Borrowing 15,000 ||| ©«give authority to government to
“Other Receipts 5,000 theur expenditure from the revenue
: receipts only
Expenditure on revenue 24,500t Cpdbe passed before the budget is taken
account for discussion
Expenditure on capital 26,000
account ICAI SM
Interest payments 2,000 7 | Public debt management aims at
ICAl SM a) An efficient budgetary policy to
. e 7 avail of domestic debt facilities
2 | The revenue deficit for comgELyAls b) Raising loans from international
a) 5,000 agencies at lower rates of interest
b) 24,000 ¢) Raising the required amount of
¢) 4,500 funding at the desired risk and cost
d) None of the above levels . .
= d) Management of public expenditure
: ICAl SM to reduce public debt
3 l Fiscal deficit of country A is ICAl SM
a) 14, ; )
) 24 ggg & | The railway budget is
©) 23,000 ‘ :
None of the rbove a) Part of the generg( oud.gef:,l but is
\ presented by the railway minister
g 2° b) Part of the general budget from the
bf Il budget for financial year 2017 -18.
Pl’mmry deficit of Country A is ¢) Part of the general budget from the
a) 26 000 budget for financial year 2021 -22.
b) 25'500 d) Part of the general budget but
9 22,000 presented on the next da

' I

general budget

ks is not allowed. If wi

— Iy UT >

y of the ||




d) None of the above

CA Foundation June 2024
o -
icAl sM || | The following tabt
—| | and ex enditure
9 | Outcome budgeting L econov:y '
a) shares information about the money ||| l
allocated for various purposes (h a - ™
budget (a) | Recovery of loans
b) establishes a direct link between ||| (b) | Salaries of govt
budgetary allocations and i -
performance targets measured il captod Ex.pend
through output and @ outcome (d) | Interest paymehts
indicators a
; e) | Payments tov
c) establishes a direct link between (e) z
budgetary performance targets and (f) | Other reqeepts
public account disbursals disinvestment)
d) shares information about public @ | Tax revenue (ne 7
policies and programmes under the share). '
budget i
‘ (h) | Nonh- —tax revenue
ICALSM |(| (i) | Borrowings and [
10 | Corporate tax liabilities
a) is collected by  the  union |G Etates’ share (nig
government and can be a capital W \ ‘
receipt or revenue receipt ! N L
b) may be collected by the respective ?@1}2 IRy capital .
states and fall under revenue"||pF—— —
receipts a) 23.5
c) may be collected either by fthe ||| b) 19.7
centre or states and fall under (o)l e
revenue receipts : d) None of the above
d) is collected by tie Wi u,mon -
government and is a revenue, _r,e‘ceipt i b
o P 13 | Revenue deficit is
Wy : ICAI SM T —
— || @) 23.6
,. b) 13.0
Government barrowmgs o from (1 &) 7.0
11 | foreign goverﬁments,‘ ~ and d) 2.6
institutions. . .
: : . | The non-debt capi
a) Capital receipt I 4 °F
b) Revenue receipt .| this country is
c) Accounts for fiscal deficit a) 45.1
d) Any of the above depending oh the b) 16.7
purpose of borrowing c) 15.8

Making pdfs, photocopies, XErox, sharing or selling MVSIR's books is not allov
to strict legal action with monetary penalties
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: ICAI SM ICAI SM
et is said to be unbalanced 19 | Government borrowing is treated
das capital receipt because
é overnment’s revenue exceeds ||| 4) It is mainly used for creating assets
) wh  rnment’s expenditure by government
"Ven government’s  expenditure b) It creates g liability for the
) Whgeds government’s revenue ~ government
ﬁ’ffher pudget surplus of budget ¢) Both a) and b) above are correct
o) Jeficit OCCUrs d) None of the above is correct
) All the above
| ICAI SM
ICAlI SM PP, -
/ 20 | ‘Retdil Direct ‘scheme is
i eficit refers to ey
16 Fiscal def a) Initiated by the Reserve Bank of
) the excess of government’s revenue India
f expenditure over revenue receipts b) facilitate investment in government
The excess of total expenditure over sgcurities by individual investors.
total receipts excluding borrowings ¢) Direct sale of goods and services by
;) primary deficit - interest payments goverhment departments
J) None of these d). Both (a) and (b) are correct
| i
=S
ICAlI SM ICAlI SM
- Budget of the government 21 | Non-debt capital receipts
4 impacts
B gacially. imp a) do not add to the assets of the
g) the resource allocation in the government and therefore hot
economy treated as capital receipts
b) redistribution of income and b) are those that do not create any
enhance equity future repayment burden for the
¢c) stability in the economy by government
measures to control price c) are those that create future
fluctuations liabilities for the government
d) all the above d) facilitate capital investments at low
cost
ICAl SM
ICAl SM
| Which of the following is a
18 statement‘ submitted along with 5 Which of the following is a capital
| the budget as a requirement of receipt?
FRBM Act
a) Anfiual R oo ot a) Licence fee received
Macro Lo B Ok b) Sale proceeds from disinvestment
) Statement c) Assistance from Japan for covid
edium-Term Fiscal Policy cum vaselie
Fi ; Y Divi Y blic sector
4 (scal Policy Strategy Statement 2 e:*/cledre?'?se fretigidipubl
and (c) above P
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of essential goods
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c) use of governn
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¢) Decrease taxes,, :

government spe
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“aggregate demand ‘
reasing taxes to ensyn

a) use  of governmenﬁ--«.i

La)catnon and borrowing sing government
exPe

’ creasing taxes
ne dfthe .above

b) government activities‘* i
of government spendi
~ of essential goods
c) use @ of governMe’
taxation and borrowing
the fiscal deficits iy
d) and (b) above

a) Increase taxes
government spendlhg
b) Decrease both tax,eé
spending Ui
¢) Decrease taxes
government spendin
d) Either (a) or (c)

ollcy can have very pow
in altering ac greg

9dn full employment levels 4
@ithere (s a need to off
ultis’ to demand fiscal policy

‘Which of wing are likely tc . of great use _
gy ‘ | ¢ ,r/ gsiilare’ flexible and thereio]

occur"w en an an | e and ther
N ihecanl i busihess  fluctuations  wWorr y

| natically adjusted

1 (b) above

ICAI'S

a)

b)

C) g : neuré
‘of the following M 61:}
) m

1se in aggregate °

fin government |
' decrease (n taxes . dindl
i government 7T
decrease in taxes

ar t", Q) . i * " 5 A
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UNIT 4

Laxation and borrow
the level of econo
bl government activit
of government ape
of essential goods
€) use of
taration and borrow

the fiscal deficite
d) and (b) above '

e ey e i

Increase caxu !
government spmd

2 o A o

government "

Decrease both tam ar
cpending | :
Decrease
government spenain
Either (a)or (¢)

taxe }

rZising unemp s % 11
Falling unempioy
Vl"mg mﬁat

TR

e .

o S e, i

ﬂg the tares
%@9&“ demand

: . A

e aggregai‘: d‘ maord
agovefnfﬂf’flf T//r/,/,
the above | 1S Corre f,,‘

rpO(lCV c€an have very poud

in altering  aggred
employment and «

s ",'/u

and

tically adjusted
i l?.) above
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* 1;?_'4".’ o «fhe following may
u_x//j'h, ln aggregato ae

/ in all types of
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in government
decrease in tarxc”
government




—

rices. g
O) Inemployment.

icing real income and rising prices
3
)

real income and rising

| %‘:: ICAI SM

which one of the following is an
egamp(e of fiscal policyg

A tax cut aimed at increa;ing the

disposable income qnd spending
reduction ih government

U enditure to contain inflation

) iﬁpincrease (n taxes and decrease in

- government expenditure to control

inflation
4) All the above

ICAI SM
WHICh | stabarr oo il

statement (s)
correct about crowdi

I. A decline in pri
may be partially
offset by the expansion of
demand resulting from an

increase in government
expenditure,

Crowding out effect
hedative effect fiscal
may generate when money
12 from the private sector s
‘crowded out’ to the public
sector. |
When spending by dovernment
in  an economy  incredases
government spending
would be crowded out.
IV. Private investments, especially
the ones which are interest -
sensitive, will be reduced if

is  (are)
ng out?

vate spending
or completely

. is the
policy

appropriate policy

b) The time required to identify to pass
a legislation

¢) The time required to identify the
need for a policy change

d) The time required to ‘establish the

outcomes of fiscal policy

interest rates rise due to
| increased spending by
o ICAl SM government
| which of the following would ([| @) | and 1l only
0 | ilustrate a recognition lag? b) I, 1, and 11l
: c) I, 1, and IV
a) The time required to identify the d) 1l only

ICAl SM

P

[ —— ) o

Ah :expgpsfg.ﬁd-ry ~ fiscal policy,

Which of the following policies i

likely to shift an econom
13 aggregate demand curve
to the right?

. i e
\f '.-'4 . . nt
Iking everything else constant,
‘ldrge increase in GDP and
increase in price

e short-run have the
py & Salle
Sl 2 Atve large increase in price, a
elatiy
both

ly smaller (hcrease in GDP _
. DP and price will be increasing
(h the

sa i
d) POth GDPme Proportion

1 and price will be ihcreasing
N d smaller Proportion

a) Increase in government spending

b) Decrease in taxes ‘

c) A tax cut along with increase
public expenditure

d) All the above

xerox, sharing or seling MVSIR's books is not allowed; If will lec
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[ - IcAl sM
14

Identify the incorrect statement

While resorting tg
fiscal policy
) a) the government may p?-
a) A progressive direct tax system budget . surplus |
ensures economic growth with expenditure will bring m
stability because | it distributes the and more tax revenue

burden of taxes unequally _ b) the government may |
b) A carefully planned policy of public budget deficits bec;luse |
expenditure helps in redistributing reduce government incops

16

income from the rich to the poorer government expenditures e
sections of the society. revenues in.a given year

c) There are possible conflicts between c) it is important to have a'gal
different objectives of fiscal policy pudget_;o avoid inflation B
such that a policy designed to in stability '
achieve one goal may adversely d) None of the above will happef

affect another .
d) An increase in the size of i |
government spending | during : ‘ . : : —
recessions mdy possibly ‘crowd-out’ 17@| ‘sghtractionary fiscal policyg
private spending in an economy. a) is, resorted to when goverl
expenditure s greater thaf
wprevenues of any particular veadl
S icAlsMm (['lLb) increase the aggregate
— — —AllY  sustain the economy

Read the fouowmg statements || ©) to ihcrea}ie thehdiSP‘QSc:Liu i
. Fiscal policy is said to be people through tax

contractionary when revenue gnabtg greater demar_:..'
sl | d) (s designed to restrain tf
DAl

ic in economic activity of the
L vduring an inflationary {

|

the gavernment budg
surplus:;| o L I i
Il. Other thmgs const“a ;t a flscal
expansion will rmse/ mterest
rates and ";:rng out’" some

|

e private mvest%gn M
Il. During mﬂaﬁon?"new taxes can | When  government .spending
be levied andg the rates of ||| 18 | deliberately reduced tc ]
existing taxe#” are raised ieo | o stability
reduce disposab!e incomes 1 AW e
IV. Classical economists advoca ‘
contractionary fiscal ‘policy -
solve the problem of mflatlo‘ 1y .
of the above statements 4 A zgitraggt\:/ii};}han:f :Z[ts[{ i
7 / i ‘ cal pcC
T T1|[ B) the government s
a) | and ll'are correct i ) i anany fiscal polic
b) I, Il and lll are correct i 7 try(ng liRiniE aggrega
c) Only lll is correct i it b d) sustainable levels

d) All are correct ‘ s i (d) and c) above
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\
ICAI sSm
T —

Wauces disposable incomes leading
q) re fall in consumption spending qpg
to regate dema.nd _ I
.agiesimble during inflation or whep
Lshere is excessive levels of aggregare
demand

ICAI SM
Which of the

following  figeqr
remedy would you adyice when an |
economy s facing |

21

recession L

a)

|

the government
Fates to €ncourag
(hvestment

the government

may cut interest
€ Consumption and
b)

may cut taxes +tg
thcrease aggregate demand

€s on public
works

b) The rates of personq|
and corporate taxes
¢) Government expenditures on goods

iIhcome taxes

and Services purchased by
government

d) The rate of interest prevailing in the
economy

is to compensate the deficiency in ¢) the doverhment may follow a policy
ffective demand by boosting of balanced the budget.
zggregate spending d) None of the aboye will work

4) both a) and b) are correct

e S ICAI sSM

[ ) ) While if governments compete wit}

While the government resorts to 22 | the private.sector to borrow money

20 | deliberate fiscal policy it may nhot for s.ecurmg. resources for
| attempt to manipulate expansionary fiseql policy

a) Government expenditur

a) it is likely that intere
up and fi
Invest

it is likely that inter f
Ub and the individuals too may be ||
reluctant to borrow and spend ‘
(t is likely that interest rates will go |f
UP and the desired increase in ||

aggregate  demand may not pedl
realized

st rates will go |
Yms may not be willing to

b) est rates will go |f

c)

d) All the above gre possible.

Answer Key —Chapter 7 (Unit - 4)

b ) 3 L) | 4. ) | s (c) 6
” (@) 8. € |io. d | 10 | &) | 11. (@ | 12.
- | | ‘.
S (o) | &y (@ 11158 ® | 16 | 17,0 () [SEE

\__\ : |
R () [ d | 21 (b), 2ol (o)
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c :

ICAI sm
The quantity thee
5 Tbe ty ry of money holds

ICAI SM

a) changes in the generql level of
e the incorrect statement commodity prices

are cause
changes in the quan 9, 2%

: tity of mone
) Anything ff;iiﬁan\;(emi[sdmgf:y a7 o @)TTEhere is soieng relationship bEtWée”
a) " qium O , ; money and price [eve| d
me eneralized purchasin - = dnd “the
BRI etally cccopiatls determy Of _money is the main
b) " wer and is g B o oo determinant of the price
spettlem.e”t of a “ra“ i OGV;S ] ¢) changes in the valye of money or
voney (s @ tOFahV eqans 3 set and purchasing power of money are
rovides dus e\xitcesm O access determined first and foremost by
oods and ser changes in the quantit of money in
currency which r_epresents. mgney circulation 4 i
Joes hot necessarily have intrinsic d) All the above
value.
e ICAI
L ICAl SM Aot
: The  Cambridge approach to
Money performs all of the three 2 quantity theory is also known as
functions mentioned below, namely
o : a) Cash balance approach
) medium of exchange, price control, b) Fisher’s theory of money
store of value ¢) Classical approach

p) unit of account, store of value , d) Keynesian Approach
provide yields

¢) medium of exchange, unit of

ICAlI SM

account, store of value

d) medium of exchange, unit of Fisher’s approach and the
account, income distribution 7

Cambridge approach to demand for
money consider

ICAISM a) money’s role in acting as a store of
3 | Demand for money is value and therefore, demand for
_ money  is  for storing value
a) Derived demand temporarily.
b) Direct demand b) money as a means of exchange and
¢) Real income demand therefore demand for money s
d) Ihverse demand

termed as for liquidity preference
¢) money as a means of transactions
: ICAI SM and therefore, demand for money is
: : only transaction demand for money.
Higher the , higher would d) NoXe B thebhoye ¥
4 | be of holding cash

and lower will be the

; ICAlI SM
@) demand for mone , Opportunit .
COst, interest rate 4 ° 4 g Regl moneyis
1 Price level | Opportunity  cost, || a) nominal money adjusted to the price
‘ Interest rate level
© real income | opportunity cost, ||| b) real national income
_demahd for money ¢) money demanded at given rate of
Nterest rate, opportunity cost, interest
%oney d) nominal GNP divided by price level

Photocopies, xerox, sharing or selling MVSIR's books is not allowed. It will lead
fo strict legal action with monetary penalfies
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-
lto demana o

for

a) as .
sensitive to rate of interest
b) as income inelastic a
sensitive to rate of interes
c) are determined primarily by tl
of transactions they expeq E t
in the future

‘ ive function of inc
cg’ level P

Ome

amve function of the
est rate i nomj

rates -
d) is determined by 913',"3, it

g ICAI SN
nal demand for mone

a) people W(“ demand
because the capital ¢
would be less than
b) people will expec
to rise and bond
future. ‘
c) people will expe‘@--,
to fall and bond pn
future. A

hity costs of mone
i.e. bonds and stoc
and rE , respectively
ce versa

uhity costs of money
i.e. bonds and stock
'and rE , respectively-

inity costs of money
i.e. bonds and stock
B and rE , respectivelf

betweﬂn & me
interest rate

be










a; pase money
) high powered money
% all the above

T ICAl SM
" | choose the correct statement from
2 | the following

a) Money s deemed as something held
by the public and therefore only
currency  held by the public g
included in money supply,

b) Money is deg:med as something held
by the public and therefore (nter-
bank deposits are included in money
supply.

¢) Since inter-bank deposits are not
held by the public, therefore inteps
bank deposits are excluded from the
measure of money supply.

d) Both (a) and (c) above.

1 1Al SM

'3 | Reserve Money is composed of

a) currency in circulation + demand
deposits of banks (Current and
Saving accounts) + Other deposits

with the RBI,
b) currency in circulation + Bankers’
deposits with the RBI + Other

deposits with the RBI.

¢) currency in circulation + demand
deposits of banks + Other deposits
with the RBI.

d) currency in circulation + demand
and time deposits of banks + Other
deposits with the RBI.

MCQ Shastra - Volume |

M1 s the sum of

e)

d)

currency and coins with the people +
demand deposits of banks (Current
and Saving accounts) . + other
deposits of the R8I,

currency and ecoins with the people +
demand and time deposits of banks
(Current  and, Saving accounts) +
other deposits of the RBI.

currency inceireulation + Bankers'
deposits with the RBI + Other
deposits with the RB|

none of the above

! %y )
&, ICAl SM
T e R ¢

Under the’ minimum reserve

a)

b)

¢)

d)

empowered to issue currency to any
extent by keeping an equivalent
reserve of gold and foreign
securities,

¢mpowered to issue currency to any
extent by keeping only a certain
minimum reserve of gold and
foreign securities.

empowered to issue currency in
proportion to the reserve money by
keeping only a minimum reserve of
gold and foreign securities.
empowered to issue currency to any
extent by Reeping a reserve of gold
and foreign securities to the extent
of * 350 crores

The primary source of r
supply in all countries is

FIESEEL
iy L et

d)

the Reserve Bank of India
the Central bank of the
the Bank of En
the Feder
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R Thunpﬂy ofmnmyin an «
| depends on i

a) the decision of the central

it.
b) the decision of the central bank and |

commercial banking system. :
¢) the decision of the central bank fn
respect of high powered money.

d) both a) and ¢) above.

bank ||
based on the authority conferred on ||

the supply responses of fh‘

g | to matmin 44 Q!“ th
central bank u‘r'j,»'" e

a) to provide the necessary reserves for

the functioning of the central bank.

b) to meet the demand for money by

the banking system

c) to meet the central bank prescmbed

reserve requirements and to meet

settlement obligations.

d) to meet the money needs for the

day to day workmg o; m@e

commercial banks

‘r‘

aJ

| thc fractlonal res

the MOhcy supply iz an g, .
functlon of reserve w,,_,,,,/' 5
powered  money) apg .,
multiplier.

OYVe

€2

L b) the money supply is .,
'\ function of rezarye Money (
; powered money) agr
. multiplier,
L ¢) the money supply i .,
g fuhction of reserve rno,,
- powered money) and , |
I functla” Of mo”)(‘\/ yyyufo,: ier.
d) none® ofs the 4boye 2
determinants of ronc, Supply
differen
~_\

Ya)ipositively related to the
|
111 b)

c)
)

i

% | money supply are

i exc
reserves ratio e.

hegatively related to the
reserves ratio e.

hot related to the €XCess resery
ratio e.
proportional to the excess recery
ratio e,

I ﬂw behaviour of thé®public and
| the c\ommercla! banks is constant, .

S ST N

3

g

a) the total supply -%}ommal money
in the economy will vary directly

with the _su W‘ of the nominal
high- powevﬁoney issued by the
central bank

' b) the total supply of nominal money

yvit rate of interest and
(nversely with reserve money

c) the tofal supply of nominal money
(n the

economy will vary inversely

with the suppfy, of high powered
money

d) all the above are p:ess,rble

ars ;{')f"nf.‘r’u(,‘.x}y"\ll'\’ XEIrox

b)

c)
d)

ICAI Sq

| The currency ratio represents

ik

- issue of currency.

the behaviour of central bank in th

the behaviour of central bank if
respect cash reserve ratio.

the behaviour of the public.
therbehaviour of commercial bank:
in the country.

e

ICAl SN

et

§1 The size of the money multiplier !
 determined by

a)
b)

c)

d)

the currency ratio (c) of the WDW{h«
the required reserve ratio (v) at
central bank, and :
the excess reserve ratio
commercial banks.

all the above

(e)

sharing or se Hva MVSIR's books is not allowed.

strict legal ac Hon with

) Monetary penalties
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ICAl SM A

_ tells us how much
money will be created by the

For a given level of the m‘

4 for higher currency ratio (c), lower
required reserve ratio (r) and lower
excess reserve ratio (e)

p) for constant currency ratio (c),
higher required reserve ratio (r) and
lower excess reserve ratio (e)

¢) for lower currency ratio (c), lower
required reserve ratio (r) and lower
excess reserve ratio (e)

4) None of the above

pas——

ICAl SM

' the money supply to a given
change in the monetary base is
| called the

16

The ratio that relates the change in

a) required reserve ratio.
b) money multiplier.

¢) deposit ratio.

d) discount rate.

; 17 | base, an increase |
king system for g given ,
| 8 che Y hightpowierc reserve ratio will A%n b
1 ney- a) a decrease in the money supply,
I - e : b) an inerease in the money. supply,
o) The currency ra;ClO e ¢) an increase in demand deposits,
DRI =5 2TV E ratio (e d) Nothing precise canbe said
The credit multiplier ,
g; The currency ratio (c) By
| ;ﬁ ICAI SM For a given level of thlrjf
S base, an increase in the
15 | The money multiplier will be large 18

ratio causes the money |
to _ and the money
g

.
e,

a) decrease; increase
b) increase; decrease
c) decrease; decrease
d). increase; incregse

==

5 o

If commercial banks r
holdings of excess resen

19

s

a) the monetary base increases
b) the monetary base falls.
c) the money supply increases
d) the money supply falls.

Tii d |2 (c) |3. (b) | 4. (@)
l@ & th i B
o\ o

e
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ety - T T——
e ICAI sm
’Wﬁich of the following

PR
IS the
functian of monetary policy?

, |
i ) regulate the exchange rqte and keep
a

it stable
regulate the movement of creqit -
2 ¢he corporate sector ,
regulate the level of production B
rices i
)regu(ate the availability, cost Aot
use of money and credit

— j\""i‘ﬂ’u‘l' T ——

MCQ shastrq - Vd{umel f'

ICAI sSm

A contractionary
4 policy-induced in
rates

monetary
crease in interest

a) increases the Cost of capital and the
real cost of borrowing for firms

b) increases the cost of capital and the
real cost of borrowing for firms and
households

¢) decreases the cost of capital and the
real cost of borrowing for firms

d) has no interest rate effect on firms
and households

ICAI sm

| e
r" ICAI SM

5 | During deflation

The main objective of monetary
2 | policy in India is : :

T)Teduce food shortages to achieve
stability

p) economic  growth with  price
stability
¢) overall monetary stability in the
banking system
d) reduction of poverty and
unemployment
ICAl SM

The monetary transmission

mechanism refers to

a) the RBI reduces the CRR in order to
enable the banks to expand credit
and  increase the supply of money
available in the economy

b) the RBI increases the CRR in order to
enhable the banks to expand credit
and increase the supply of money
available in the economy

¢) the RBI reduces the CRR in order to
enable the banks to contract credit
and increase the supply of money
available in the economy

d) the RBI reduces the CRR but increase
SLR in order to enable the banks to
contract credit and increase the
supply of money available in the

a how money gets circulated in
different sectors of the economy
POst monetary. policy

b) the ratio of nominal interest and
real interest rates consequent on a
Monetary policy

X thel process or channels through
which ‘the evolution of monetary
aggregates  affects the level of

Product and prices
None of the above

d)

\

economy
ICAI SM
6 Which of the following statements
is correct?
a) The governor of the RBlI in

consultation with the Ministry of
Finance decides the policy rate and
implements the same

b) While CRR has to be maintained by
banks as cash with the RBI, the SLR
requires holding of approved assets
by the bank itself

c) When repo rates increase, it means
that banks can now borrow money
through open market operationsl
(OMO) il

d) None of the above

MOking Pdfs, photocopies, xerox, sharing or selling MVSIR's

to strict legal action with monetary ¢

€A Mohnish Vora (MVSIR)
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RBI
accommodation to the commerq
banks through repos/reverse repo
under ¢ Rl

a) Market Stabilisation Scheme (MSS) |
b) The Marginal Standing Facility (MSF)
c) Liquidity Adjustment Facility (LAF).
d) Statutory Liquidity Ratio (SLR)

Ical s‘ "

instrument, which | enables
g | collateralised short = term
borrowing and lending through'
sale/purchase qperatlons m debt
instruments, s
a) OMO
b) CRR
¢) SLR
d) Repo
ICAl sml
9 In India, the term "Pdl'icy‘;ﬁ
re'fers”to‘ )

Reverse repo operation tahes
wheni

a) RBI borrows money from

LY banikl
giving them securities K
banks borrow money froy,
giving them securities

b) RB|

¢) banks borrow  money i |
overnight segment of +t, . |
market ey |
d) RBl borrows:money from the cent |
government tra |
11 Theu Monetary Policy Framenl
T Agreement is on i

a) the maximum repo rate that pp|
chqrge from government !
E‘ghe ‘maximum tolerable
ate that RB! should
'\qch(eve prlce stability.
Jthe maximum repo rate that rp can |
charge from the commercial banke
d) the maximum reverse repo rate t
RBI can charge from the commuc[
banks

b). (N flatiomm

target

a) The bank rate prescribed by the RBI
in its half yearly monetary policy
statement 0

b) The CRR and SER prescrtbed by RBI in
its monetary policy statement

c) the fixed "rép@ rate quoted for
sovereigh secu&rltles in the overnight
segment of Liquidity Adjustment

i Margmal Standmg

ICAl §

)

‘Ah open market operation is a
instrument of wmonetary polic
which involves buying or selling o
. from or to the public and
banks

y

o

a) bonds and bills of exchange
b) debentures and shares

c) government securities
d) none of these

AA

aking pdfs, p
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ICAl SM

ient (s) is (are) true .
tary Policy Committee? s
erve Bank of India (RBI)

934 was amended on
27, 2016, for giving a
tbry backing to the

eement and for setting up
onetary Policy Committee

; Monetary Policy
mmltt:ee shall determine the

icy rate through debate and

} Monetary Policy
f.ommttl:ee shall determine the

Monetary Policy
Committee shall determine the
policy rate through debate and ;
majority vote by a panel of
~ bankers chosen for eth purpose
a) lonly
b) land Il only
¢) lll and IV

d) lll only

Answer Key —Chapter 8 (Unit — 3)

(b) <y 3 © | 4 (b)

@ | o. (c) [ES1038 ()
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h of th

@ following does

3 hot
present  d  difference between
Internal trade and International

grade?

ransactions (n Multiple Currencies
S) homogenelty — of CUustomers gng
~eurrencles
o) differences (h legal systeps

) hone of t:hg g«bqvc

e ————————

ICAI $m
| The theory of absolute advantage

“ states that

a) hatlonal wealth and power are best
served by nereasing eXports and
decreasing (mports

) natlons ean inerease their economic
well=belhg by specializing in  the
production  of goods they produce
more efficlently than anyone else.

¢) that the value or price of 4
commodity depends exclusively onp,
the amount of labour going into its
production and therefore | factor
prices will be the same

d) differences (nh  absolute advantage
explains  differences _ins factor
endowments in different countries

e

" McQ shastra - Volume

7
l ]

| ICAI SM

Which of the following holds that a
4 | country can increase its wealth by
encouraging export and
discouraging imports % ,

a) Capitalism 4
Socialism R

¢) Mercantilism

d) Laissez faire &

———
e

IcAl sM

5 | Given the number of labour hours

to praq;.g“g’ga cloth and grain in two

coahtﬂ»'q_s,j which  country should

produce grain? |
"‘“-Dli?ﬂ

‘Labour cost (hours) for production

o e of one unit
W T country A Country B
Cloth 40 80
W Grain 80 40
a) Country A
b) Country B
¢) Neither A nor B
d) Both A and B
ICAl SM
r According to the theory of

comparative advantage

ICAl SM

,‘-, "“;!;Whlch of the following theories
| advocates that countries should
3 | produce those goods for which it
| has  the . greatest relative
| advantage? .

a) Moa%l?n "if;ﬁeory of international trade
?)) Tha factor endowment theory

The'Heekscher-ohlin Theory

d) None of the above
e ———

E—

a) trade, is a zero-sum game so that
the het change in wealth or benefits
among the participants is zero.

b) trade is not a4 Zero-sum game so
that the net change in wealth or
benefits among the participants is
positive

¢) nothing definite can be said about
the gains from trade

d) gaihs from trade depends upon
factor endowment and utilization
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a)
b)

c)
d)

good

an import tax that is common to cil

goods g weﬂ

period
a specified fraction of the econd
value of an imported good

a tax on

imported during a

\V'

good

a) nommal

tariff
_‘matertals which are gregte,

' tariffs on manufactured prodya
) nominal tariff rates &
manufactured products whijch
greater than (tariffs on
materials -
a tariff which s escalatey
prohibit imports of a particulgr g
‘to protectidomestic industriec
_none of the' ‘above

rates on f

imports defined as an
amount of currency per uHit of the.

A tariff on impc‘rés s
domestic producers o
good because i

a)
b)

c)
d)

they get a part of the tarn’-f revenu
it raises the price for whlch h
can sell their product
domestic market

it determines the quantity that
be imported to the country i
it reduces their producer
making them more efficient

A tax applied
the value of

kRnown ascw i 5%

a)
b)
c)
d)

preferentml tariffii
ad valonem tariffaliih
speaﬂe tariff
mixed or compounq

Wmporting country voluntgy
ning the dquantity of 44
hat can be  exported into o
, i"htry'.during a specified period §

n exporting country voluntari
restraining the quantit', of

_r;ttme
‘-_quahtltatlve restrictions imposz3 by
, the tmportmg country's governmanzl

._‘_:;fde'lm:ping duties are

i

4."7addlttonal import dum_, s
j,*offset the effects of exporzing =7s
: P‘hfﬂlr . charging of p»j_—

y (U 1

product(on costs.
| additional import dum, so a5 I
offset the effects of expor=" n
increased competitiven Jess due
subsidies by government
additional import duties s-
"Oﬁ’set the effects of exportins ™
charging of lower Prics
'-‘g;he forelgn market
oth (a) and (c) above

N

) B
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10 | Which of the following is not q
| it that aim zOboﬁ:set artificially hon-tariff barrier. omay
LA charged by exporters \who : :
| prices i a) Complex
I%%P exp?”t syb}f(dnes Al o requiprements documentation
goncessions in thoerltt:‘ihowl:eoﬁozntry b) Import quotas on specific goods
charged by “’Y’Pd w? o th rees to ||| ¢ Countervailing duties. charged by
)ensure fair Cmted rad et-orlented importing country
oricing of !mpororting Oc“c = d) Pre shipment product inspection and
narged by MPpOrting countries to certification requirements
0 € tect domestic industries and
ﬁfrms from unfair price advantage : e ICAI SM |
rising from subsidies : d
) 2“ +he above 11 | Under tariff rate quota
] _

TR A a) countries promise to impose tariffs
‘ on imports from members other
of the following is an than those who are part of a i
me of tariff? preferential trade agreement
— b) a country permits an import of
g create obstacles to - trade and limited quantities at low rates of
increase the volume of imports and duty but subjects an excess amount :
exports } to a much higher rate ik
b) domestic consumers enjoy consumer [||'¢)  lower tariff i charged from goods |
surplus because consumers must imported from a country which is "
now pay only a lower price for the given preferential treatment
good : d) none of the above
¢) discourage domestic  consumers
from consuming imported foreign
goods and encourage consumption : - -
of domestically produced ' import 1o | Non -tariff barriers (NTBs) incl
substitutes all of the following except:
d) increase government revenues of
the importing country by more than

a) import quotas

value of the total tariff it charges g Zi;‘gﬁ cubeidies
@ ; BRI d) technical standards of products

| ‘9@ LﬂSPS measures and TBTs are

a) permissible under: WTO to protect
the interests of countries

b) may result in loss of competitive
advantage of developing countries

) igcreasféjﬁ‘the costs of compliance to
the exporting countries

4 All the ab‘oveg

— -

Answer Key -Chapter 9 (Unit - 1)

(d) 2 (b) 3 (b) 4. | (b) 5. | (o

: y (b) | g
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: choose the correct statement

v

ICAI SM
4 | ‘Bound tariff refers to
a) clubbing‘ of tariffs “of “different
Which of the following culminateq measure - T 4 Ypmmon
ablishment an
in the g:;ani Sations | e Werld ||| b) the lower limit ofathBienrie below
Trade which a nation cannot be taxing its
“ o galnd tmports .
g The Tokyo Round ¢) the upper limit on the tariff that a
) he Uruguay Round country can levy on a particular
) Th vennedy Round good, according to its commitments
P The under the GATT and WTO.
d) the limit within which the country’s

export duty should fall so that there
are cheaper exports

The GATT wds meant to prevent

) exploitation of poor countries by

ICAI S

richer countries 5

The essence of “MFN principle’ is

The GATT dealt with trade in goods 4
only, while, the WTO covers services
as well as intellectual property.

members of the World Trade

equality of treatment of all member
countries of WTO in respect of
matters related to trade

All ; . y
4 organization are reduired to avoid b) ;ngz:: acl)lniil tﬁgusr;ty;yel r:c?nunenreed to
[iEgra | types c) every WTO member will treat all its?_q.‘u
Qe qeove trading partners equally without ||
l—— ' any prejudice and discrimination
ICAl SM d) all the above
The ‘National treatment’ principle
3 | stands for ‘
The World Trade Organi
® | wro) ‘
a) the procedures within the WTO for
resolving disagreements about trade
policy among countries
b) the principle that imported products
are to be treated no worse in the
domestic  market than the local
Ohes a) has now been replaced l?y the
c) exported products are to be treated b) hgs an inbuilt mechanism to set
ho worse in the domestic market disputes among members
than the local ones c) was estaiqltshed to ensure free
4 imported products should have the fair trade internationally.
same tariff, ho matter where they d) (b) and c) above

are imported from

—
|

aking pdfs, photocopies, xerox, sharing or sell

€A Mohnish Vora (MVSIR)

ng MVSIR's books is not allowed. IT will
to strict legal action with monetary penalties



Nice<

have compa
iral goods
Ping countr

htries equally
as they increa




CA Foundation - June 2024
Business Economics

Chapter 9
INTERNATIONAL TRADE

Unit 4 - EXCHANGE RATE AND
ITS ECONOMIC EFFECTS

MCQ Shastra — Volume |
(Micro Economics)
by MVSIR




ICAI SM

Based on the supply and demand

3 real exchange rate adjust:

i E=
The nominal exchange
expressed in units of one
per unit of the other cy
changes in vprice leve
statements are

_ by the central bank of the country

model of  determination  of :
1 exchange rate, which of the a) wholly correct
following ought to cause the b) partially correct
| domestic currency of Country X to ¢) wholly ihcorrect
appreciate against dollar? d) None of the above
a) The US decides not to import from : ‘ L
 Country X Match the following by chg
b) An increase in remittances from the the LE7 i which has the
employees who are employed abroad meantng
to their families in the home ¥ e
country i. floating exchange rate
¢) Increased imports by consumers of .| ii. fixed exchange rate
~ Country X 4:,_3‘ il pggged egcchange rate
d) Repayment of foreign debts by Fj;,:ﬂ;« “iv. devaluation
Country X : - | v. appreciation
iy )
a. depreciation
Lot b. revaluation
catiol el 'flexible exchange rate
A ;AT‘%]' :
All else equal, which of, the [[[ @ G c) (i d); (iii b); (iv a))
following is true if consume;é of b) (f b); (”..a)' (‘”fi_)i (W.C)
2 | India develop taste for imported ||| ¢ (fa);(iid 25 (iii b); (iv c)
commodities and decide to buy d) (& d); (i a); (iii b); (iv )
more from the US? 4 :
ICAI SM
5 | Choose the correct statement
a) The demand curve for dollars shifts a) An indirect quote is the number
to the right and Indian Rupee units of a local currency §
apprecigres _ exchangeable for one unit of 4
b) The supply of US dollars shrinks and, foreign currency
therefore, import prices decrease b) the fixed exchange rate regime
c) The demand curve for dollars shifts sdid to be efficient and highl
to the, right and Indian Rupee transparent
depreciates ‘ : y :
: , €) A direct quote is the number
d) The demand curve for dollars shifts units o? a local  currency |
to the left and leads to an increase exchangeable for one unit of 4|
in_exchande raie { foreign currency ,
||| & Exchange rates are generally filxe:

ed, It willledd

VSIR's books is not allowe



L, appreciation
} Eg'r',_currency depreciation tgpec
for® = when there is q decrease in
Pl?eﬁome currency price of foreign
g:rrency d —
e-currency eprecmf;lon takes
HOM ™ when there is an increase
tlﬁ’c home  CUrrency oprice of the

foreign currency

Home-currency depreciation s the

or

a) Hedging
b) Speculation
¢) Arbitrage

d) Currency futures

ICAI SM

10

‘Vehicle Curreney’ refers to

me G@s _foreigh-currency
sdprecziation and implies that the
ﬂgme currency  has become
relatively less valuable.
{5 Al the above
T ICAI SM
ncrease in the supply of foreign
ange

shifts the supply curve to the right
| and as a consequence, the exchange
rate declines _
shifts the supply curve to the right
and as a consequence, the exchange
rate increases

more uhits of domestic currency are
required to buy a unit of foreign
exchange '

the domestic currency deprec.lates
and the foreign currency appreciates

Il o

d)

a)

b)

d)

i

ICAlI SM

8 ’lhc rency devaluation

4 may increase the price of imported

commodities .and, therefore, reduce
the international competitiveness
of domestic industries

b) may reduce export prices and
increase the international
Competitiveness  of domestic

9 thdustries

May cause a fall in the volume of
€Xports and promote consumer
welfare through increased

dvailability of goods and services
) @ and (c) above

a currency that is widely used to
denominate ihternational contracts
Mmade by parties because it is the

hational currency of either of the
parties

a currency that is

internationally and, therefore
high demand

a type of currenc

traded
, 1S in

y used in euro area

for synchronization of exchange
rates
a currency that is widely used to

denominate international contracts
made by parties even when it is nhot

the national currency of either of
the parties

A
1y

i ' i - H W :
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is false in respect of FBL&

ot genrtion and distribution
Jhways and waterways
chit funds and Nidhi company

| Z; airports and air transport

Answer Key -Cha

a) portfolio capital in general, moves

b)

d)

to investment in finaneial stocks,
bonds and other  financial
instruments
is effected largely by individuals and
institutions through the mechanism
of capital market

is difficult to recover as it involves

purely long=term investments and
the investors have controlling
interest

ihvestors also do n
(ntention of exercising voting power

or controlling or managing the
affairs of the company,

ot have any

pter 9 (Unit - 5)

"!

ICAI SM ’
Which of the following statement
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ICAl SM

he Indian industry stagnated
I:der the colonial rule because

The Foreign Investment Promotion _
Board (FIPB) :

&

Jians were kReen on building huge
U lctures and monuments only
strt“eriomtion was caused by high
b) e'ces of inputs due to draught

;'e Indian manufactures could not
0T mpete with the imports of cheap
;,,oachine made goods
None of the above

a)

d)

p— ICAl SM

The first wave of
2 | gtarts in India

liberalization

a)

b)

c)

d)

T Ll
a government entity through which
ihward investment proposals were '
routed to obtain  required ||
government approvals

no more exists as the same is
replaced by a:'new. regime namely
Foreign Investment Facilitation
Portal
ho more exists as all inward |}
investments dare through automati el
route and need no approval 1
(s the body which connects different |
ministries _in respect of foreigrj‘:
portfolio investments

) In 1951
p) In 1980°s
C) In 1990
d) In 1966

FAME-India Scheme aims to

e

—

ICAl SM

B

The sequence of growth
3 | structural change in

economy is characterized by

and
Indian

a) The historical pattern of prominence
of sectors as agriculture, industry,
services

b) The historical pattern of prominence
of sectors as industry, services,
agriculture

¢) Unique experience of the sequence
as agriculture, services, industry

d) All the above are correct

a)

b)

c)
d)

Enhance  faster industria(izati_
through private participation
to  promote manufacturing i
electric and hybrid vehic
technology
to spread India’s fame among
trading partners
None of the above

In terms of Ease of Doi Bus
in 2020 India ranks

ICAl SM

63
17
45
None of the above

4 | Merchandise Exports from India
Scheme was replaced by -

—

a) Remission of Duties and Taxes on
EXport Products (RODTEP) in 2021

b) National Logistics Policy (NLP) in
2020

c) Remission of Duties and Taxes on
Export Products (RODTEP) in 2019

‘Q—M the above

E-NAM is -

Mab: _ .
AKIng pdfs, photocopies, xerox. sharng g

a)
b)

c)

d)

alel.yv

An electronic name e_
citizens of India

National Agriculture al
the objective of creati
national market for
commodities.
@ pan-india electronic tra
which networks the
mandis E
b) and ¢) above
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a)

b)
c)
d)

5
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ICAI SM |

T The strategy  of  agricultural
| development in India before green
revolution was -

High yielding varieties of seeds and
chemical fertilizers to
productivity

Institutional reforms such as (and
reforms

Technological
agriculture
All the above

boost

Uup  gradation of

e

ICAl SM
17 | The hew economic policy of 1991
manifest in -
a) State led

b)
c)
d)

: industrialization
IMport substitution

Rethinking the
versus the state
Emphasized the
governhance
Bringihg about reduction in poverty
and redistributive justice

and

role  of wmarkets

role of good

ICAl SM

ICAl SM

16

The Industrial

Policy Resolution
(1948) aimed at -

|

18

The post independence economic
policy was rooted in -

a)
b)

c)

d)

Market oriented economic reforms
and opehing up of economy

A shift from state led
industrialization to private sector
led industrialisation

an expanded role for the public
sector and licensing to the private
sector

an expanded role of private sector a
limited role of public sector

a)
b)

c)
d)

A capitalist mode of production with
heavy industrialization

social and economic redistribution
and industrialization directed by the
state

social and economic redistribution
through private sector initiatives
Industrialization led by private

entrepreneurs and redistribution by
state

|
il (c) 2 (b) 3. (c) 4. (a) 5¢ (b) & 6 (b)
7. (a) 8. (d) 5. (a) 10. (c) 138 (b) " 12. )
1398 (d) 14. (e) 15. (b) 16. (c) 128 (b) 18 (b)
15




